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1. Which is an example of thermo setting polymer

A. Polythene

B. PVC

C. Neoprene

D. Bakelite

Answer: A



https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_Km3VL39u8jyK
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2. Which of the following is a chain growth polymer

A. Nucleic acid

B. Polystrene

C. Protein

D. Styrene

Answer: B

o Watch Video Solution

3. Which of the following is incorrect

A. Polyethylene contains dboule bonds

B. The monomer used to make teflon is Cy Fy

C. Condensation polymers are also known as step growth polymers.


https://dl.doubtnut.com/l/_Km3VL39u8jyK
https://dl.doubtnut.com/l/_hXc9Mnew7OGK
https://dl.doubtnut.com/l/_7cmF3IYotNn1

D. A denatured protein could have the same primary structure as the

active protein

Answer: A

° Watch Video Solution

4. A co polymer is one in which

A. Two monomers undergo condensation

B. there is excessive cross linking

C. extensive hydrogen bonding

D. repeating unit contains two different monomers

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_7cmF3IYotNn1
https://dl.doubtnut.com/l/_C0yO2A0cMLhH

5. Natural polymer among the following is

A. Cellulose

B. PVC

C. Teflon

D. Polyethylene

Answer: A

° Watch Video Solution

6. Inorganic polymer among the following is

A. Rayon

B. Starch

C.Silicone rubber

D. Natural rubber


https://dl.doubtnut.com/l/_taWYdnZHKH9M
https://dl.doubtnut.com/l/_EQj4iBGnPm0t

Answer: C

° Watch Video Solution

7. Thermoplastic polymer among the following is

A. Bakellite

B. Urea formaldehyde resin

C. Polysiloxanes

D. PVC

Answer: D

° Watch Video Solution

8. Polymerization of iso butene is mostly initiated by

A. a cation


https://dl.doubtnut.com/l/_EQj4iBGnPm0t
https://dl.doubtnut.com/l/_XCzBxNdHA6re
https://dl.doubtnut.com/l/_bH0pGuJZtRxj

B. an anion

C. a free radical

D. Zwitter ion

Answer: A

° Watch Video Solution

9. In which one of the following type of polymerization generally no

initiator is required

A. Cationic polymerization

B. Anionic polymerization

C. Free radical polymerization

D. Condensation polymerization

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_bH0pGuJZtRxj
https://dl.doubtnut.com/l/_g6xS1DvjXLG8

10. Statement - | In cross linked polymer strong covalent bonds are

observed between various linear polymer chains.

CH3 CH3
| \
Statement Il : Cl — Si — Cl on hydrolysis gives OH — Si — OH and
|

|
CH3 CHj3

on slight heating it forms condensation polymer. (silicones)
Statement Il : All linear polymers are elastomers.
Statement IV : Neoprene on heating in the presence of very small
amounts of oxygen gives polymer of neoprene.
The correct statement is/are
A1 11, IV only
B. 1, 11, IV only

C.lonly

D. All

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_g6xS1DvjXLG8
https://dl.doubtnut.com/l/_M7shZn3pF07M

1. Terylene is

A. An addition polymer with a benzene ring in every repeating unit
B. A condensation polymer with benzene ring in every repeating unit
C. An addition polymer with two carbon atoms in every repeating unit

D.A condensation polymer with two nitrogen atoms in every

repeating unit

Answer: B

o Watch Video Solution

12. Monomers are converted to polymers by

A. Hydrolysis of monomers

B. Condensation reaction between monomers

C. Protonation of monomers


https://dl.doubtnut.com/l/_Gh0W6xrBPDXP
https://dl.doubtnut.com/l/_316ESzxFdWnS

D. None of these

Answer: B

° Watch Video Solution

13. Which of the following is an example of condensation polymer (or)

Which of the following is not an example of addition polymer

A. Polyethene

B. PVC

C.Orlon

D. Terylene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_316ESzxFdWnS
https://dl.doubtnut.com/l/_o4EoIorQoVWv

14. Which among the following is a semi synthetic polymer.

A. Cellulose rayon
B. Acrylonitrile
C. Cellulose nitrate

D. Both (1) & (3)

Answer: D

o Watch Video Solution

15. Linear polymer among the following is

A. Melamine
B. Starch
C. Bakelite

D. Polyvinylchloride


https://dl.doubtnut.com/l/_ZlKnm8aXddvP
https://dl.doubtnut.com/l/_th1XmkbRqeTo

Answer: D

° Watch Video Solution

16. Which among the following is a branched chain polymer.

A. LDPE

B. Phenol formaldehyde resin

C. Nylon

D. Terylene

Answer: A

° Watch Video Solution

17. Cross linked polymer among the following is

A. Polythene


https://dl.doubtnut.com/l/_th1XmkbRqeTo
https://dl.doubtnut.com/l/_SJG86mhs0PVC
https://dl.doubtnut.com/l/_AguvR6FWGsYO

B. LDPE

C. Melamine formaldehyde resin

D. Nylon 6,6

Answer: C

° Watch Video Solution

18. Elastomers among the following are

A. Buna-N
B.Buna -S

C. Neoprene

D. All

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_AguvR6FWGsYO
https://dl.doubtnut.com/l/_x8Fldrpwu3PS
https://dl.doubtnut.com/l/_WDV9Wut2hQ2C

19. Identify the one which does not belong to the same class as other

three

A. Terylene

B. Polythene

C. Teflon

D. PVC

Answer: A

o Watch Video Solution

20. Correct statement among the following is

A. All macromolecules are polymers

B. Physical and mechanical properties of a polymer are similar to its

monomer

C. Majority of bonds in polymer molecule are covalent


https://dl.doubtnut.com/l/_WDV9Wut2hQ2C
https://dl.doubtnut.com/l/_CgcJdoCOQ0S0

D. Vitamins are polymers

Answer: C

° Watch Video Solution

21. Which of the following is fully fluorinated polymer

A. Neoprene
B. Teflon
C. Thiokol

D. PVC

Answer: B

° Watch Video Solution

22.In the polymerization of acrylonitrile, most commonly used initiator is



https://dl.doubtnut.com/l/_CgcJdoCOQ0S0
https://dl.doubtnut.com/l/_lc4kiJCc6C4i
https://dl.doubtnut.com/l/_ApE53VHu8eqf

A. a cation

B. an anion

C. a free radical

D. Zwitter ion

Answer: B

o Watch Video Solution

23. Initiators that can be used in anionic polymerisation is/are

(a) Potassium amide (b) n-butyl lithium (c) AICI5 (d) H,SO4

The correct answer is

A.only a

B.onlyaand b

C.onlycandd

D. all


https://dl.doubtnut.com/l/_ApE53VHu8eqf
https://dl.doubtnut.com/l/_MXRSNk8xeU3F

Answer: B

° Watch Video Solution

24. Initiators that can be used in cationic polymerization is/are
(@) KNH; (b) H350,4
(c) BFj5 with little amount of H,O (d) t-butyl peroxide
The correct answer is
A. All are correct
B.onlya

C.onlybandc

D.onlyaandd

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_MXRSNk8xeU3F
https://dl.doubtnut.com/l/_145RlBQ64Psi

25. Which one of the following types of monomers, mostly undergo

cationic polymerization

A.Vinyl monomers with electron donating group

B. Vinyl monomers with electron with drawing group

C. Poly functional group monomers

D. Saturated hydrocarbons

Answer: A

o Watch Video Solution

26. Terylene and nylon -6,6 are

A. Random co-polymers

B. Alternating co-polymers

C. Block copolymers

D. Graft copolymers


https://dl.doubtnut.com/l/_7vrsgNG2aXAX
https://dl.doubtnut.com/l/_mwITtceM2C7X

Answer: B

° Watch Video Solution

27.In Elaster, intermolecular force are

A.Nil

B. Weak

C.Strong

D. Very strong

Answer: B

° Watch Video Solution

28. Polyethylene is

A. Random copolymers


https://dl.doubtnut.com/l/_mwITtceM2C7X
https://dl.doubtnut.com/l/_2W8LTdREffpd
https://dl.doubtnut.com/l/_4KTPBgZPHgUU

B. Homopolymer

C. Alternate copolymer

D. Cross linked copolymer

Answer: B

° Watch Video Solution

29. Natural rubber is which type of polymer

A. Condensation polymer

B. Addition polymer

C. Coordinate polymer

D. None of these

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_4KTPBgZPHgUU
https://dl.doubtnut.com/l/_4Il1EuT6Igvf
https://dl.doubtnut.com/l/_cZWnyw5Q2PqH

30. Heating rubber to high temperature in the absence of air or O, gives

A.CO,
B. CH,

C.CH, = |C — CH = CH,

CH3
D.CHy, — C —C =CH,
| |
CH;s Cl

Answer: C

o Watch Video Solution

31. The percentage of rubber in rubber latex is

A .20 %

B.25 %

C.35%

D. 65 %


https://dl.doubtnut.com/l/_cZWnyw5Q2PqH
https://dl.doubtnut.com/l/_Tv5q9AtMTf6B

Answer: C

° Watch Video Solution

32. Natural rubber is a

A. Polydiyne

B. Polyamide

C. Polyester

D. Polyene

Answer: D

° Watch Video Solution

33.Rubber latex is

A. Emulsion of polyhydrocarbon droplets in an aqueous solution


https://dl.doubtnut.com/l/_Tv5q9AtMTf6B
https://dl.doubtnut.com/l/_RZnquupzjvCc
https://dl.doubtnut.com/l/_yT6z9picTHn9

B. Milk white suspension of crude rubber in CCl,

C. True solution of crude rubber in water

D. True solution of crude rubber in alcohol

Answer: A

° Watch Video Solution

34.Hutta percha is

A. Cis-1,4-polyisoprene

B. Trans - 1,2-polyisoprene

C. Cis-1,2-polyisoprene

D. Trans-1,4-polyisoprene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_yT6z9picTHn9
https://dl.doubtnut.com/l/_ftkodRYbZu7M
https://dl.doubtnut.com/l/_SE8yEuNn24Jz

35. A non-elastic, hard material knownas ebonite is formed when crude

rubber is heated with

A. 5% of sulphur

B. 20% of sulphur

C. 30% of sulphur

D. 40-50% of sulphur

Answer: D

o Watch Video Solution

36. The process involving heating of rubber with sulphur is called

A. Galvanisation

B. Vulcanisation

C. Bessenmerisation

D. Sulphonation


https://dl.doubtnut.com/l/_SE8yEuNn24Jz
https://dl.doubtnut.com/l/_VBC5TWEs5eB7

Answer: B

° Watch Video Solution

37.Ebonite is

A. Natural rubber

B. Synthetic rubber

C. Highly vulcanised rubber

D. Poly propene

Answer: C

° Watch Video Solution

38. Natural rubber is a polymer of (or) the monomer of natural polymer

rubber is


https://dl.doubtnut.com/l/_VBC5TWEs5eB7
https://dl.doubtnut.com/l/_yysscjSyijcB
https://dl.doubtnut.com/l/_Uxhw8tp2rsDl

A. Butadiene

B. Ethylene

C.Isoprene

D. Styrene

Answer: C

o Watch Video Solution

39. The role of zinc stearate in the process of vulcanisation is

A. to accelerate the process

B. to slow down the process

C. to stop the process

D. to initiate the process

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Uxhw8tp2rsDl
https://dl.doubtnut.com/l/_EyMzDttjDYc3

40. The vulcanized rubber has

A. high water absorbing tendency

B. low elasticity

C. high sensitivity to heat treatment

D. high resistance to chemical oxidation

Answer: D

o Watch Video Solution

41. Natural rubber is

A. Trains isomer

B. cis isomer

C. contains equal amounts of cis and trans isomers


https://dl.doubtnut.com/l/_EyMzDttjDYc3
https://dl.doubtnut.com/l/_tAsHyZU5ekf7
https://dl.doubtnut.com/l/_8dOP5kTEoMuJ

D. racemic mixture

Answer: C

° Watch Video Solution

42. Empirical formula and molecular formula of monomer of natural
rubber are respectively

B. CsHs, (C5Hs),,

C.Cy4Hg, CyHg

D. C5H12, C5H8

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_8dOP5kTEoMuJ
https://dl.doubtnut.com/l/_nuP9MeB5Rs70

43. Final products, when natural rubber heated in air are

A.CO, H,O

B. CO,, H,O

C.lIsoprene, 1, 3-butadiene

D. Propene and ethene

Answer: B

o Watch Video Solution

44. Number average molecular weight (]\7”) of polymers is determined
by
(a) Osmatic pressure method (b) End group analysis method

(c) Light scattering method (d) Ultra centrifuge method

A.only a

B.onlyaand b



https://dl.doubtnut.com/l/_H4tihEjduNGY
https://dl.doubtnut.com/l/_TVfBToSz0N2M

C.onlycandd

D. all

Answer: B

o Watch Video Solution

45. For a class of proteins the correct relation among the following is

AM, > M,
B.M, > M,
CM, =M,
D.M, = 2M,
Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_TVfBToSz0N2M
https://dl.doubtnut.com/l/_g3YwqVyX3DgX

46. For most of the synthetic polymers

AM, > M,
B.M, > M,
CM,=M,
D.M, = 2M,
Answer: A

o Watch Video Solution

47. Generally for natural polymers PDI is

A.O

B.1

C.10

D. 100


https://dl.doubtnut.com/l/_KQ6RgrdeelFE
https://dl.doubtnut.com/l/_fCfBDxVoXOOn

Answer: B

° Watch Video Solution

48.If M, is the weight -average molecular weight and M, is the number
-average molecular weight of polymer, the poly dispersity index (PDI) of

the polymer is given by

A ]\z"
M,
B. AZ“’
n
C. Mw X _n
1
D. —
M, x M,
Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_fCfBDxVoXOOn
https://dl.doubtnut.com/l/_iR2aE3YrSW4B

49. M, of a polymer containing 30% molecules with molecular mass

20,000, 40% have the rest have 60,000 is

A. 36 x 10°

B. 36 x 10°

C.18 x 10°

D.18 x 10°

Answer: B

o Watch Video Solution

50. The correct formula to calculate the weight average molecular weight

of polymers is

SN,
S N;

> NiM?

S A

c > N; M;

> N M


https://dl.doubtnut.com/l/_bBGa9E8trTJZ
https://dl.doubtnut.com/l/_tghrTrUwnLXx

Answer: D

° Watch Video Solution

51.In the determination of number average molecular weight of polymers
by osmotic pressure experiment, (7 /C) along Y-axis 'c' along X-axis

graph, Y intercept i.e. (7 /c), is equal to

A. RtMn

Mn
B. ——
RT

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_tghrTrUwnLXx
https://dl.doubtnut.com/l/_poDJnYKmM8oC
https://dl.doubtnut.com/l/_yo4mnRlsjCm7

52. 1 kg of ethylene undergo polymerization completely, then the weight

of polyethylene obtained is

A.1000 gm

B. < 1000gm

C. > 1000gm

D. 500 gm

Answer: A

o Watch Video Solution

53. The mass average molecular mass and number average molecular
mass of a polymer are respectively 40,000 and 30,000. The poly dispersity

index of polymer will be

A <1


https://dl.doubtnut.com/l/_yo4mnRlsjCm7
https://dl.doubtnut.com/l/_nvYQ8aeoQ2tp

C.1

D.O

Answer: B

o Watch Video Solution

54. Proteins are polyamides of

A. B-amino acids

B. a-amino acids

C. a-hydroxy acids

D. B-keto acids

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_nvYQ8aeoQ2tp
https://dl.doubtnut.com/l/_Sgd9qxvg5e1i

55. Glucose is stored in our body as

A. Fats

B. Glycogen

C. Lipids

D. Sucrose

Answer: B

° Watch Video Solution

56. Which one of the following is not a bipolymer

A. Cellulose

B. Proteins

C.DNA

D. Nylon-6,6


https://dl.doubtnut.com/l/_dLAPmEJqH9KF
https://dl.doubtnut.com/l/_9hhvp6iYTYXw

Answer: D

° Watch Video Solution

57.Keratin is present in

A. Blood

B. Hair

C. Milk

D. Muscles

Answer: B

° Watch Video Solution

58.1n which one of polysaccharide, D glucose units are joined same as in

starch


https://dl.doubtnut.com/l/_9hhvp6iYTYXw
https://dl.doubtnut.com/l/_uxEj0eomBro6
https://dl.doubtnut.com/l/_kTR7XEZ2BXC5

A. Dextron

B. Dextrin

C. Cellulose

D. Lactose

Answer: B

° Watch Video Solution

59. Which one of the following is not a natural polymer

A. Cellulose

B. Protein

C.PVC

D. Nucleic acid

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_kTR7XEZ2BXC5
https://dl.doubtnut.com/l/_X3KMvUpTZn0I

60. Which of the following is not a polymer

A. Silk

B. DNA

C.DDT

D. Dextrin

Answer: C

o Watch Video Solution

61. Fibrous and globular proteins are formed due to —- structure of

protein

A. Primary

B. Secondary

C. Tertiary


https://dl.doubtnut.com/l/_X3KMvUpTZn0I
https://dl.doubtnut.com/l/_nrAf4C79Mlar
https://dl.doubtnut.com/l/_E9MGk5aiRlCe

D. Quaternary

Answer: C

° Watch Video Solution

62. Natural starch is a mixture of

A.10-20% amylopectin and 80-90% amylose

B. 10-20% amylose and 80-90% amylopectin

C. 50% amylose and 50% amylopectin

D. 75% amylose and 25% amylopectin

Answer: B

o Watch Video Solution

63. Partial hydrolysis of starch gives


https://dl.doubtnut.com/l/_E9MGk5aiRlCe
https://dl.doubtnut.com/l/_9nQnod5i4xGo
https://dl.doubtnut.com/l/_ODAqqvFwHdCo

A. Dextrose

B. Dextrin

C. Sucrose

D. Raffinose

Answer: B

° Watch Video Solution

Level | Exercise li

1. The polymer used for post-operative stitches

A. PHBV
B. Nylon-2-Nylon-6
C. Polylactic acid

D. Buna-S


https://dl.doubtnut.com/l/_ODAqqvFwHdCo
https://dl.doubtnut.com/l/_dNdExWu8yw6U

Answer: C

° Watch Video Solution

2. Which of the following monomer in axcess makes PHBV more flexbile

A. B-hydroxy butanoic acid

B. a-hydroxy butanoic acid

C. B-hydroxy pentanoic acid

D. a-hydroxy pentanoic acid

Answer: C

° Watch Video Solution

3. The first polymer used as biodegradable material is

A. Dextrose


https://dl.doubtnut.com/l/_dNdExWu8yw6U
https://dl.doubtnut.com/l/_LaEOJotiLFgx
https://dl.doubtnut.com/l/_f6LvLIiYABPm

B. Dextrin

C. Dextron

D. Decron

Answer: C

° Watch Video Solution

4. Which of the following is a biodegradable polymer

A. Cellulose

B. Polythene

C.PVC

D. Nylon 6

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_f6LvLIiYABPm
https://dl.doubtnut.com/l/_FnQKvJe0Kfdj
https://dl.doubtnut.com/l/_neUqW9jQcWAs

5. Polymer used in making capsules

A. Poly glycolic acid

B. Poly lactic acid

C. Nylon-2-Nylon-6

D. PHBV

Answer: D

o Watch Video Solution

6. Monomers of which one of the following biodegradable polymer are

amino acids

A. polyglycolic acids

B. PHBV

C. Nylon-6

D. Nylon-2-Nylon-6


https://dl.doubtnut.com/l/_neUqW9jQcWAs
https://dl.doubtnut.com/l/_WWh38sWqsQ3S

Answer: D

° Watch Video Solution

7. Incorrect statement about PHBV is

A. it is co-polymer of 3-hydroxybutanoic acid and 3-hydroxypentanoic

acid

B. it has ester linkage

C. excess of hydroxy pentanoic acid makes the polymer more together

D. it undergo degradation by bacteria

Answer: C

o Watch Video Solution

8. By which one of the following enzymatic chemical reaction biopolymers

undergo degradation


https://dl.doubtnut.com/l/_WWh38sWqsQ3S
https://dl.doubtnut.com/l/_OLa3n9Kw5a8d
https://dl.doubtnut.com/l/_6WOZtTZE0H5F

A. Hydrolysis only

B. Oxidation only

C. Dehydration only

D. Oxidation (or) hydrolysis

Answer: D

o Watch Video Solution

A. polyglycolic acid

B. polylactic acid

C. PHBV


https://dl.doubtnut.com/l/_6WOZtTZE0H5F
https://dl.doubtnut.com/l/_wAnNw7IxpxM8

D. Nylon-2-Nylon-6

Answer: A

° Watch Video Solution

10. Which of the following is a nio degradable polymer

A. Polythene

B. Bakelite

C. PHBV

D. PVC

Answer: C

o Watch Video Solution

11. The raw materials used in Nylon-6 is


https://dl.doubtnut.com/l/_wAnNw7IxpxM8
https://dl.doubtnut.com/l/_07DapfmRZV8e
https://dl.doubtnut.com/l/_W73BLqEAJ88O

A. Adipic acid

B. Phthalic acid

C. Ethylene glycol

D. Caprolactam

Answer: D

o Watch Video Solution

12. A polymer commonly used for making non-stick cookware is

A.SBR

B. Teflon

C.PVC

D. Poly ethyl acrylate

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_W73BLqEAJ88O
https://dl.doubtnut.com/l/_WEPd8jnk57WO

13. Nylon threads are made of

A. Polyethylene polymer

B. Polyvinyl polymer

C. Polyester polymer

D. Polyamide polymer

Answer: D

o Watch Video Solution

14. Polymers used in unbreackable glass is

A. PMMA

B. Poly vinyl cyanide

C.PVC


https://dl.doubtnut.com/l/_WEPd8jnk57WO
https://dl.doubtnut.com/l/_z3lGfjB8YjfU
https://dl.doubtnut.com/l/_9dc67aRRHenA

D. PVP

Answer: A

° Watch Video Solution

15. The polymer used in the manufacture of electrical goods such as

switches, plugs etc is

A. Polythene

B. Bakelite

C. Neoprene

D. PHBV

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9dc67aRRHenA
https://dl.doubtnut.com/l/_2LFY6JpdAJZT

16. Which of the following is used in life saving substance as blood

plasma

A. Cellulose

B. Teflon

C. Bakelite

D. Poly viyl pyrrolidone

Answer: D

o Watch Video Solution

17. Rayon is

A. synthetic plastic

B. Artificial silk

C. Natural silk

D. Natural rubber


https://dl.doubtnut.com/l/_wmgTadqJMZRL
https://dl.doubtnut.com/l/_AnntC1KRYgI4

Answer: B

o Watch Video Solution

18.In the name Nylon-6,6, the numbers 6,6 represents

A. the number of monomer molecules from which the polymer formed

B. types of monomer from which the polymer formed

C. number of carbon atoms present in the types of monomers from
which the polymer formed

D. number of xygen atoms present in the two types of monomers from

which the polymer formed

Answer: C

° Watch Video Solution

19. Pyroxylin is



https://dl.doubtnut.com/l/_AnntC1KRYgI4
https://dl.doubtnut.com/l/_aNXqlACgV4a6
https://dl.doubtnut.com/l/_vcAhoL7dZWpe

A. low density polyethylene

B. a type of rayon

C. a silicon polymer

D. a polyamide

Answer: B

o Watch Video Solution

20. Orlon is a polymer is

A. Styrene

B. Acrylonitrile

C.Vinyl chloride

D. C,F,

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vcAhoL7dZWpe
https://dl.doubtnut.com/l/_5PdgjbceCW2w

21. Catalyst used in the polymerisation of ethylene is

A Ag
B. O
C.Ni

D. Pd + BaSOy

Answer: B

° Watch Video Solution

22.The catalyst used in the manufacture of SBR is

A. Pt
B. Ni

C. coke


https://dl.doubtnut.com/l/_5PdgjbceCW2w
https://dl.doubtnut.com/l/_rThHuMqQSi8T
https://dl.doubtnut.com/l/_NAzbgUc3vFlr

D. Na

Answer: D

° Watch Video Solution

23. Characteristic property of teflon is

A. 2000 poise viscosity

B. high surface tension

C. non-inflammable and resistant to heat

D. high reactive

Answer: C

o Watch Video Solution

24.The monomers used in the production of nylon-6,6 are


https://dl.doubtnut.com/l/_NAzbgUc3vFlr
https://dl.doubtnut.com/l/_LfHCWS83jmNp
https://dl.doubtnut.com/l/_5BECfwrpgaoR

A. hexamethylene diamine and ethylene glycol

B. adipic acid and ethylene glycol

C. adipic acid and hexamethylene diamine

D. dimethyl terepthalate and ethylene glycol

Answer: C

o Watch Video Solution

25.Terylene is the polymer of

A. Ethylene glycol and terepthalic acid

B. Melamine and formaldehyde

C.Vinyl chloride and formaldehyde

D. hexamethylene diamine and adipic acid

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_5BECfwrpgaoR
https://dl.doubtnut.com/l/_5gYEvvUseZYm

26. Which of the following has ester linkage

A. Nylon-6,6

B. PVC

C.Terylene

D.SBR

Answer: C

o Watch Video Solution

27.The synthetic polymer which resembles natural rubber is

A. Neoprene

B. PMMA

C. Glyptal


https://dl.doubtnut.com/l/_5gYEvvUseZYm
https://dl.doubtnut.com/l/_M0gEtq5sGXZ3
https://dl.doubtnut.com/l/_yTmYTkfJCIfq

D. Nylon

Answer: A

° Watch Video Solution

28. Bakelite is obtained fro phenol by reacting with

A CH;CHO
B. CH;COCH,
C. HCHO

D. (CH,OH),

Answer: C

o Watch Video Solution

29. Which of the following is a polymer containing nitrogen


https://dl.doubtnut.com/l/_yTmYTkfJCIfq
https://dl.doubtnut.com/l/_05IPpYwS4Wb6
https://dl.doubtnut.com/l/_qMmceyv99vEo

A. Terylene

B. Polyethene

C.PVC

D. Nylon

Answer: D

o Watch Video Solution

30. Which of the following monomers gives the polymer neoprene on

polymerisation ?

A CH, = CHCI
B. CLyC = CClys

C.CH, = C — CH = CH,
|
Cl

D.CFy; = CFy

Answer: C


https://dl.doubtnut.com/l/_qMmceyv99vEo
https://dl.doubtnut.com/l/_mrBvm3SuBMa3

° Watch Video Solution

CH,
|
31. Monomerof | — C — CHy — is
|

CHj;

n

A. 2-methyl propene
B. Styrene
C. Propylene

D. Ethene

Answer: A

o Watch Video Solution

32. Acrylon is hard, horny and a high melting material. Which of the

following represents its structure.



https://dl.doubtnut.com/l/_mrBvm3SuBMa3
https://dl.doubtnut.com/l/_0V8CiOiWUTum
https://dl.doubtnut.com/l/_kxjxPXIyjb94

A ( — CH, — CH —
\ o/,
[

B.| —CH,— C -
\ CO(l)CHs
(

c| —-CH,— CH -
\ C’OO|C2H5 n
(

D. — CHy, — CH —
\ a ),

Answer: A

o Watch Video Solution

33. Polymer used in bullet proof is or plexi glass is

A. Polyestyrene

B. Poly acrylonitrile

C. Poly ethyl acrylate

D. Polymethyl methacrylate


https://dl.doubtnut.com/l/_kxjxPXIyjb94
https://dl.doubtnut.com/l/_AcEsadcadZVc

Answer: D

° Watch Video Solution

34.Buna-N is a polymer of

A. Butadiene

B. Butadiene and sodium acetanilide

C. Butadiene and styrene

D. Butadiene and vinyl cyanide

Answer: D

° Watch Video Solution

35. Structure of Silicone polymer is


https://dl.doubtnut.com/l/_AcEsadcadZVc
https://dl.doubtnut.com/l/_WXMapHKQSSa7
https://dl.doubtnut.com/l/_a5uKGlV3Fh3l

A —O—%—O
.,
( Si

B. —O—S|’i—0—
\ = :
( R

¢|-o-si-
e,

o(-5-)

Answer: C

o Watch Video Solution

36. Which of the following can not be grouped as polylefin

A. polyethene

B. polypropene

C. polystyrene

D. Bakelite


https://dl.doubtnut.com/l/_a5uKGlV3Fh3l
https://dl.doubtnut.com/l/_YhuQIrGmaPNK

Answer: D

° Watch Video Solution

37. Which one of the following is not a vinyl polymer

A.PVC

B. polystrene

C. polyacrylonitrile

D. PTFE

Answer: D

° Watch Video Solution

38. The catalyst used for the polymerisation of olefins is

A. Ziegler Natta catalyst


https://dl.doubtnut.com/l/_YhuQIrGmaPNK
https://dl.doubtnut.com/l/_QDm1Tc73gIVC
https://dl.doubtnut.com/l/_SH7SlfW7R6y1

B. Wilkinson's catalyst

C. Pd- catalyst

D. Zeise's salt catalyst

Answer: A

° Watch Video Solution

39. The monomer of the
CHj CHj
— CH, — C|J — CH, — |C — CH, —
o on

A. HyC = C(CH3)2
B.(CH3),C = C(CHj3),
C.CH3CH = CH.(CHj;

D.CHs;. CH = CH;

Answer: A

polymer

[ -


https://dl.doubtnut.com/l/_SH7SlfW7R6y1
https://dl.doubtnut.com/l/_y6ZYM0JkrYBq

| @J Watch Video Solution

40. Which of the following polymer is an example of fibre

A. Silk

B. Dacron

C. Nylon 66

D. All of these

Answer: D

° Watch Video Solution

41.[NH — (CH;); — NH — CO — (CHs), — CO|

-
A. Homo polymer
B. Co-polymer & Nylon - 6,6

C. Addition polymer


https://dl.doubtnut.com/l/_y6ZYM0JkrYBq
https://dl.doubtnut.com/l/_1BpVn9CkWbmg
https://dl.doubtnut.com/l/_XOcpcvbfN9vj

D. Thermosetting polymer

Answer: B

° Watch Video Solution

42. Which of the following is not correct regarding terylene

A. Step growth polymer

B. Synthetic fibre

C. Condensation polymers are also known as step growth polymers.

D. Thermosetting plastic

Answer: D

° Watch Video Solution

Level | Exercise li Assertion A Reason R Type Questions


https://dl.doubtnut.com/l/_XOcpcvbfN9vj
https://dl.doubtnut.com/l/_sczWuVjAHjIE
https://dl.doubtnut.com/l/_1UpuGBVHJiLl

1. (A) : Teflon has high thermal stability and chemical inertness

(R) : Teflon is a thermoplastic

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: B

o Watch Video Solution

2.(A) : The gross mobility of elastomer chain is its special characteristics

(R) : It contains a network of cross link

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C. (A) is true but (R) is false


https://dl.doubtnut.com/l/_1UpuGBVHJiLl
https://dl.doubtnut.com/l/_vQ8S3O4dhuE4

D. (A) is false but (R) is true

Answer: D

° Watch Video Solution

3. (A) : Natural rubber is an addition polymer.

(R) : Natural rubber has cir structure

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_vQ8S3O4dhuE4
https://dl.doubtnut.com/l/_UMHF06Oc7xDB

4. (A) : Natural rubber is elastic and non-cryslalline.

(R) : Weak vander Waal's forces are present.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: B

o Watch Video Solution

5. (A) Polypropylene is an addition polymer

(R) : Polypropylene is polythen

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false


https://dl.doubtnut.com/l/_WqfApM00Y9cd
https://dl.doubtnut.com/l/_h3nB1HBLO5OU

D. (A) is false but (R) is true

Answer: C

° Watch Video Solution

6. (A) : Polybutadiene is an example of chain growth polymer
(R) : In chain growth polymer the reactive particles may be free radicals or
ions (cations or anions) to which monomers get added by a chain
reaction

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_h3nB1HBLO5OU
https://dl.doubtnut.com/l/_i6vPddpwzfFB

7.(A) The polymerization of propylene is carried out in presence of SnCly
and Aluminium triethyl chloride
(R) : SnCly and Aluminium triethyl chloride acts as the catalyst in the
polymerization reaction

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: C

o Watch Video Solution

8. (A) : Most of the polymeric materials are non biodegradable
(R) : But they have increasing use due to low cost and variable

applications


https://dl.doubtnut.com/l/_zTbFzRe3w3gd
https://dl.doubtnut.com/l/_SGc1ALxJWhYv

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: D

o Watch Video Solution

9. (A) : Cellulose acetate and cellulose nitrate are used in textiles because

(R) : Cellulose acetate and cellulose nitrate are fibres

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: D



https://dl.doubtnut.com/l/_SGc1ALxJWhYv
https://dl.doubtnut.com/l/_F1P8fNqO1uJ8

| o Watch Video Solution

10. (A) : Styrene is more reactive than propene towards cationic

polymerization
(R) : The carbocation formed from styrene is less stable than that formed
from propene.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: C

o Watch Video Solution

11. (A) : Bakelite is copolymer

(R) : Bakelite is a thermosetting material


https://dl.doubtnut.com/l/_F1P8fNqO1uJ8
https://dl.doubtnut.com/l/_S2NURAcWgKbQ
https://dl.doubtnut.com/l/_qo0cfEYObbJS

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: B

o Watch Video Solution

12. (A) : Glyptal is obtained by the condensation polymerization of
ethylene glycol and phthalic acid
(R) : Glyptal is used in the manufacture of paints and lacquers.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true


https://dl.doubtnut.com/l/_qo0cfEYObbJS
https://dl.doubtnut.com/l/_G0keK4fsozR3

Answer: A

o Watch Video Solution

13. (A) : Novac is heated in presence of hexamethyl tetramine to form

hard Bakelite

(R) : This heating forms a straight-linked three dimensional polymeric
arrangement

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_G0keK4fsozR3
https://dl.doubtnut.com/l/_6qcDMVoGSccN

14.(A) : Nylon 6,6 is a fibre. Because

(R) : It is an addition polymer

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: C

o Watch Video Solution

15. (A) Nylon - 6,6 is classified as a condensation heteropolymer.

(R) : Nylon is polyamide having —CO — NH — linkage.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false


https://dl.doubtnut.com/l/_JXlCUePkRalR
https://dl.doubtnut.com/l/_rOqx4yRyqmIy

D. (A) is false but (R) is true

Answer: B

o Watch Video Solution

16. (A) : Bakelite is thermosetting polymer.

(R) : Bakelite has three dimensional network structure.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rOqx4yRyqmIy
https://dl.doubtnut.com/l/_W9CyRHXhZqcV

17. (A) : Natural rubber is a polymer of cis-isoprene

(R) : Poly trans isoprene is called Gutta-percha

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: B

o Watch Video Solution

18. (A) : The vulcanised rubber has greater elasticity and tensile strength
than crude rubber
(R) : Sulphur cross-links are developed

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)


https://dl.doubtnut.com/l/_eudmWRfkD4Lc
https://dl.doubtnut.com/l/_MwchDOOxDFRC

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

o Watch Video Solution

19. (A) : Addition of CH3COOH and HCOOH electrolytes causes
coagulation by neutralising the charge of the colloid (latex)
(R) : Rubber particles are negatively charged

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_MwchDOOxDFRC
https://dl.doubtnut.com/l/_xoQYjdidVTEl

20. (A) : Osmotic pressure method is the most suitable method to
determine the number average molecular masses of polymers.
(R) : Osmotic pressure can be accurately determined for polymer of high
molecular mass as it is a colligative property.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C.(A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

° Watch Video Solution

21. (A) : Molecular mass of polymers is always expressed as an average

(R) : Generally, a polymer sample contains chains of verying lengths

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_xoQYjdidVTEl
https://dl.doubtnut.com/l/_DGGSsSAMLLgQ
https://dl.doubtnut.com/l/_2EVAHh2r3IpS

B. Both (A) and (R) are true (R) is not the correct explanation of (A)

C. (A) is true but (R) is false

D. (A) is false but (R) is true

Answer: A

° Watch Video Solution

Level li Lecture Sheet Exercise |

1. Which one of the following statement is/are correct

A. PVC stands for poly vinyl chloride
B. PTFE stands for teflon
C. PMMA stands for polymethyl meta acrylate

D. Buna-S stands for natural rubber

Answer: A::B::C



https://dl.doubtnut.com/l/_2EVAHh2r3IpS
https://dl.doubtnut.com/l/_6sPxNx7czuSE

| ° Watch Video Solution

2. Which of the following is/are example of natural polymer

A. Wool

B. Silk

C. Leather

D. Nylon

Answer: A::B::C

o Watch Video Solution

3. Which of the following statements about terylene are correct

A. lt is poly ester

B.It is obtained by the reaction between ethylene glycol and

terephthalic acid


https://dl.doubtnut.com/l/_6sPxNx7czuSE
https://dl.doubtnut.com/l/_T96fxhGwrU8O
https://dl.doubtnut.com/l/_2zeVpltujmPr

C. It is a condensation polymer

D. It is a natural polymer

Answer: A::B::C

° Watch Video Solution

4. Which of the following polymers involves cross-linkages

A. Rayon

B. Bakelite

C. Melamine

D. Valucanized rubber

Answer: B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_2zeVpltujmPr
https://dl.doubtnut.com/l/_AePdsmsH2DuV

5. Synthetic fibres manufactured from cellulose are termed as

A. Rayon

B. Nylon

C. Dacron

D. Artificial silk

Answer: A::D

o Watch Video Solution

6. Which of the following are copolymers

A. Polyvinyl chloride

B. Polyacrylonitrile

C.Buna rubber

D. Nylon-6,6


https://dl.doubtnut.com/l/_2WU8tPvoRe51
https://dl.doubtnut.com/l/_22V0YlvxCSW3

Answer: A::B

° Watch Video Solution

7. Which of the following are copolymers

A. Bakellite

B. Melamine

C.Buna-S

D. Nylon-6,6

Answer: A::B::C::D

° Watch Video Solution

8. Polymers can be classified on the basis of

A. Origin


https://dl.doubtnut.com/l/_22V0YlvxCSW3
https://dl.doubtnut.com/l/_otOum2BIcm6A
https://dl.doubtnut.com/l/_4KIm0HH1yg7a

B. Structure

C. Mechanism

D. Synthesis

Answer: A::B::C::D

° Watch Video Solution

9. Natural polymers are

A. Bakellite

B. Polyisoprene

C. Proteins

D. Polyethylene

Answer: B::C

o Watch Video Solution



https://dl.doubtnut.com/l/_4KIm0HH1yg7a
https://dl.doubtnut.com/l/_Tg8ce5DoCuOu
https://dl.doubtnut.com/l/_igurFfWlMTen

10. Synthetic polymers are

A. Bakellite

B. Polyvinyl chloride

C. polystyrene

D. Natural rubber

Answer: A::B::C

° Watch Video Solution

11. Which of the following is are not an elastomer ?

A. Bakellite

B. Polyethylene

C. Nylon-6

D. natural rubber


https://dl.doubtnut.com/l/_igurFfWlMTen
https://dl.doubtnut.com/l/_O0cwjobT5Jx9

Answer: A::B::C

° Watch Video Solution

12. Which of the following is/are not a fibre ?

A. Bakellite

B. Polyethylene

C. Nylon-6

D. Natural rubber

Answer: A::B::D

° Watch Video Solution

13. Which of the following is/are not a thermoplastic ?

A. Bakellite


https://dl.doubtnut.com/l/_O0cwjobT5Jx9
https://dl.doubtnut.com/l/_ufrUjQPLCaG7
https://dl.doubtnut.com/l/_Kw3p5HL9OOtn

B. Polethylene

C. Nylon-6

D. Natural rubber

Answer: A::C::D

° Watch Video Solution

14. Which of the following is/are not natural polymer ?

A. Terylene

B. Orlon

C. Starch

D. Dacron

Answer: A::B::D

° Watch Video Solution



https://dl.doubtnut.com/l/_Kw3p5HL9OOtn
https://dl.doubtnut.com/l/_AL3CPqU28Usb
https://dl.doubtnut.com/l/_Z89THLGGrG1I

15. Which of the following is/are a homopolymer ?

A. Natural rubber

B. Synthetic rubber

C. Gutta-percha

D. Saran

Answer: A::C::D

° Watch Video Solution

16. The example of a homopolymer is

A. Bakellite

B. Nylon-6,6

C.Terylene

D. Neoprene


https://dl.doubtnut.com/l/_Z89THLGGrG1I
https://dl.doubtnut.com/l/_Oj04IaNyQcOX

Answer: D

° Watch Video Solution

17. Which of the following is a biodegradable polymer

A. PHBV

B. Polyglycolic acid

C. PMMA

D. Nylon-2-Nylon-6

Answer: A::B::D

° Watch Video Solution

18. Correct statement about Buna-N is

A. it is copolymer


https://dl.doubtnut.com/l/_Oj04IaNyQcOX
https://dl.doubtnut.com/l/_O3QhcKl5DelP
https://dl.doubtnut.com/l/_2GT8DRzSLTaq

B. N' stands for propenenitrile

C.its structure is

—C’H2—C'H:C’H—CH:C’H—C"H—
CN

D. it is an addition polymer

Answer: A::B::D

o Watch Video Solution

19. Correct statement about silicone polymer is

A. they are organic polymers

B. they are available in liquid, solid and gas phases

C.they are used as surface cabinets for missles

D. they are thermally stable

Answer: B::C::D

[ o |


https://dl.doubtnut.com/l/_2GT8DRzSLTaq
https://dl.doubtnut.com/l/_2efBgQ0iNVMr

[ W Watch Video Solution

20. Which of the following are linear polymer

A. Polypeptide

B. Poly ethylene terphthalate

C. Starch

D. Phenol - formaldehyde resin

Answer: A::B

° Watch Video Solution

21. Which one of the following is branch chain polymer

A. Glycogen
B. Terylene

C. Cellulose


https://dl.doubtnut.com/l/_2efBgQ0iNVMr
https://dl.doubtnut.com/l/_DW6J54CDDczs
https://dl.doubtnut.com/l/_YuB5ZbFTVUcX

D. Silicones

Answer: A::C::D

° Watch Video Solution

22.The man made polymers that are esters include

A. Terylene

B. Dacron

C. Glyptal

D. Nylon

Answer: A::B::C

o Watch Video Solution

23. From ozonolysis experiment on natural rubber we found that


https://dl.doubtnut.com/l/_YuB5ZbFTVUcX
https://dl.doubtnut.com/l/_ObzRDdudgJDg
https://dl.doubtnut.com/l/_FwQ3BUWhAw5n

A. Natural rubber is a linear polymer

B. Natural rubber is formed by 1,4- linkage of isoprene units

C. Natural rubber is cis - 1,4-polyisoprene

D. natural rubber is formed by 1,2-linkage of isoprene units

Answer: A::B::C

o Watch Video Solution

24.Buna-S is a polymer of

A. Butadiene

B. Acrylonitrile

C. Styrene

D. Chloroprene

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_FwQ3BUWhAw5n
https://dl.doubtnut.com/l/_jsxHrUH9O6Mc

25. Example of addition polymer is

A. buna-S

B. PVC

C. nylon-6

D. Neoprene

Answer: A::B::D

o Watch Video Solution

26. Chain initiation and chain propagation steps are involved in

A. Cationic polymerization

B. Anionic polymerization

C. Free radical polymerization


https://dl.doubtnut.com/l/_jsxHrUH9O6Mc
https://dl.doubtnut.com/l/_koX3UP6AfrcM
https://dl.doubtnut.com/l/_PMokkJmw4M09

D. Condensation polymerization

Answer: A::B::C

° Watch Video Solution

27. Cationic polymerisation is initiated by

A BF,

B. NaNH,

C. Bul:

Answer: A::D

o Watch Video Solution

28. Which of the following set(s) contains only addition polymers ?


https://dl.doubtnut.com/l/_PMokkJmw4M09
https://dl.doubtnut.com/l/_F84TG8U4fzK0
https://dl.doubtnut.com/l/_QDn6J5gPap91

A. Polyethylene, polypropylene, terylene

B. Polyethylene, PVC, acrolin

C. Buna-S, nylon, polybutadine

D. Neoprene, orlon, teflon

Answer: B::D

o Watch Video Solution

29. Which of the following is chain growth polymer

A. Polypropylene

B. Neoprene

C. Nylon-6,6

D. Nylon-6

Answer: A::B

° Watch Video Solution



https://dl.doubtnut.com/l/_QDn6J5gPap91
https://dl.doubtnut.com/l/_SlmMVIrX3hjs

30. Polyethylene is

A. Random copolymers
B. Homopolymer
C. Alternate copolymer

D. Chain growth polymer

Answer: B::D

o Watch Video Solution

31. Teflon, polystyrene and neoprene are all

A. copolymers
B. condensation polymers

C. homopolymers


https://dl.doubtnut.com/l/_SlmMVIrX3hjs
https://dl.doubtnut.com/l/_OIAfikRoRFIr
https://dl.doubtnut.com/l/_9m7fsGDaaDYC

D. addition polymers

Answer: C::D

° Watch Video Solution

32. Which of the following is/are not a chain growth polymer ?

A. Orlon

B. Terylene

C. Nylon-6

D. Glyptal

Answer: B::C::D

o Watch Video Solution

33. Which of the following is/are not a step growth polymer ?


https://dl.doubtnut.com/l/_9m7fsGDaaDYC
https://dl.doubtnut.com/l/_zXYY88TtkzvB
https://dl.doubtnut.com/l/_hhgpqlOVnf3e

A. Orlon

B. Terylene

C. Teflon

D. Styrene

Answer: A::C::D

° Watch Video Solution

34.Dacron is an example of

A. Polamide

B. Polypropylene

C. Polyurethane

D. Polyester

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_hhgpqlOVnf3e
https://dl.doubtnut.com/l/_xuJq6zP6jnbD

35. Which one of the following is/are not a thermosetting polymer

A. Nylon-6

B. Nylon-6,6

C. Bakelite

D.SBR

Answer: A::B::D

o Watch Video Solution

36. Polymer obtained by condensation polymerization is

A. Polyethene

B. Bakelite

C.PVC


https://dl.doubtnut.com/l/_xuJq6zP6jnbD
https://dl.doubtnut.com/l/_EvgSWTBnE8mm
https://dl.doubtnut.com/l/_wIB9MX5vHAuk

D. Phenol-formaldehyde resin

Answer: B::D

° Watch Video Solution

37. Glyptal polymer is obtained from phthalic acid by treating it with

A. Malonic acid

B. Glycerol

C. Maleic acid

D. Ethylene glycol

Answer: D

o Watch Video Solution

38. Melamine plastic crockery is a coplymer of :


https://dl.doubtnut.com/l/_wIB9MX5vHAuk
https://dl.doubtnut.com/l/_EeoAhfV0heOp
https://dl.doubtnut.com/l/_9MMSqZtQs9VS

A. HCHO

B. Ethylene

C. Melamine

D. Malonic acid

Answer: A::C

° Watch Video Solution

39. Polyamide linkage is present in

A. Nylon

B. Terylene

C. Protein

D. Teflon

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_9MMSqZtQs9VS
https://dl.doubtnut.com/l/_zdv46OwdbZ0N

40. The most suitable method for determination of the molecular mass of

polymer is/are

A. Osmotic pressure

B. End group analysis

C. Elevation in boiling point

D. Depression in freezing point

Answer: A::B

° Watch Video Solution

CH, 1,4 - cis addition 5
|
CH, = C = CH = CH, £ .
41, I suprenc 1.4 - trans addition

XandY are:


https://dl.doubtnut.com/l/_zdv46OwdbZ0N
https://dl.doubtnut.com/l/_SbkRXZoKL59D
https://dl.doubtnut.com/l/_DlUzpAjMAFlo

A. X is Natural rubber

B.Y is Gutta percha

C.X & Y Natural rubber

D.X &Y are Gutta percha

Answer: A::B

° Watch Video Solution

Level li Lecture Sheet Exercise lii Linked Comprehension Type Questions

1. Polymerization involves various mechanisms depending upon the
initiator. If initiator generates free radical, addition polymerization takes
place through free radical mechanisms. If H ' is initiator and electron
releasing group is present, cationic polymerization takes place. IF
electron withdrawing group is present and KNHj is initiator, anionic
polymerization takes place.

Which of the following will induce anionic polymerization


https://dl.doubtnut.com/l/_DlUzpAjMAFlo
https://dl.doubtnut.com/l/_o9Msb2wJqoks

A KNH,

B. n-Butyllithium

C. KOH

D. All of these

Answer: D

o Watch Video Solution

2. Polymerization involves various mechanisms depending upon the
initiator. If initiator generates free radical, addition polymerization takes
place through free radical mechanisms. If H * is initiator and electron
releasing group is present, cationic polymerization takes place. IF
electron withdrawing group is present and KNHj is initiator, anionic
polymerization takes place.

Which of the following will undergo cationic polymerization in presence

of H"


https://dl.doubtnut.com/l/_o9Msb2wJqoks
https://dl.doubtnut.com/l/_xywpEBhH5bpI

A.CH, = CH

Cl
B.CH, = CH

o
C.CH; = CH,
D.CH; = CH

on

Answer: D

o Watch Video Solution

3. Polymerization involves various mechanisms depending upon the
initiator. If initiator generates free radical, addition polymerization takes
place through free radical mechanisms. If H " is initiator and electron
releasing group is present, cationic polymerization takes place. IF
electron withdrawing group is present and KNHj3 is initiator, anionic
polymerization takes place.

Which of the following will undergo anionic polymerization in presence of

KNH,


https://dl.doubtnut.com/l/_xywpEBhH5bpI
https://dl.doubtnut.com/l/_KX14Zne7hSvr

A.CH, = CH

CsHs

B.CHy = CH

CN
CH;

CCHy,=C
CHs

D.CHy; = CH>

Answer: A::B

o Watch Video Solution

4. The utility of the polymers in various fields is due to their mechanical
properties like tensile strength elasticity, toughness etc. These properties
mainly depend upon intermolecular force like van der Waal's forces and
hydrogen bonding operating in polymer molecules. POlymers have been
classified on this basis, e.g.,

The molecular forces of attraction are weakest in

A. Elastomers


https://dl.doubtnut.com/l/_KX14Zne7hSvr
https://dl.doubtnut.com/l/_8KJmbB7dcPv2

B. Fibres

C. Thermoplastics

D. Thermosetting polymers

Answer: A

o Watch Video Solution

5. The utility of the polymers in various fields is due to their mechanical
properties like tensile strength elasticity, toughness etc. These properties
mainly depend upon intermolecular force like van der Waal's forces and
hydrogen bonding operating in polymer molecules. POlymers have been
classified on this basis, e.g.,

Which of the following is hard

A. Elastomers
B. Fibres

C. Thermoplastics


https://dl.doubtnut.com/l/_8KJmbB7dcPv2
https://dl.doubtnut.com/l/_AOETIGYHKbNu

D. Thermosetting polymers

Answer: D

o Watch Video Solution

6. Mostly all polymeric materials are non-bio degradable and as such the
discarded plastic materials made out of these polymers reate
environmental pollution. The chief among the polluting plastic material is
polythene. The use of polythene bags, popularly called carry bags and
their discardance in the environment is a singular nuisance for municipal
cleaning department

Which of the following is a bio degradable polymer ?

A. PHBV

B. Polythene

C.Nylon - 6,6

D. Nylon-6


https://dl.doubtnut.com/l/_AOETIGYHKbNu
https://dl.doubtnut.com/l/_GPgmM0ueFoTt

Answer: A

o Watch Video Solution

7. Mostly all polymeric materials are non-bio degradable and as such the
discarded plastic materials made out of these polymers reate
environmental pollution. The chief among the polluting plastic material is
polythene. The use of polythene bags, popularly called carry bags and
their discardance in the environment is a singular nuisance for municipal
cleaning department

Non-biodegradable polymer is/are

A. Polyaniline

B. Starch based polyethylene

C.PVC

D. All the above

Answer: C

(e~ |


https://dl.doubtnut.com/l/_GPgmM0ueFoTt
https://dl.doubtnut.com/l/_VzFWNhBDDM86

[ @ Watch Video Solution J

8. Mostly all polymeric materials are non-bio degradable and as such the
discarded plastic materials made out of these polymers reate
environmental pollution. The chief among the polluting plastic material is
polythene. The use of polythene bags, popularly called carry bags and
their discardance in the environment is a singular nuisance for municipal
cleaning department

Most economic and useful substance for the manufacture of carry bags is

A. Jute

B. Polythene

C. Paper

D. Cloth

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_VzFWNhBDDM86
https://dl.doubtnut.com/l/_pey4RLMxTYK9
https://dl.doubtnut.com/l/_4olt6h1EdzdZ

9. The polymer which can conduct electricity is called conducting
polymers. The conducting polymers may be conductive element filled
polymers or conjugated m-electrons conducting polymer or it can also be
doped conducting polymer or bledded conducting polymers. Conducting
polymers find great importance in electronics, micro electronics and
biomedical fields.

Which of the following is a conducting polymer

A. Poly caprolactam

B. Polyacrylic acid

C. Polyacetylene

D. Poly ethylene

Answer: C

o Watch Video Solution

10. The polymer which can conduct electricity is called conducting

polymers. The conducting polymers may be conductive element filled


https://dl.doubtnut.com/l/_4olt6h1EdzdZ
https://dl.doubtnut.com/l/_860E1D0vcK8C

polymers or conjugated m-electrons conducting polymer or it can also be
doped conducting polymer or bledded conducting polymers. Conducting
polymers find great importance in electronics, micro electronics and
biomedical fields.
Which polymer is used in batteries

A.PVC

B. Polypyrrole

C. Polymethylacrylate

D. None

Answer: B

o Watch Video Solution

1. The polymer which can conduct electricity is called conducting
polymers. The conducting polymers may be conductive element filled
polymers or conjugated m-electrons conducting polymer or it can also be

doped conducting polymer or bledded conducting polymers. Conducting


https://dl.doubtnut.com/l/_860E1D0vcK8C
https://dl.doubtnut.com/l/_ReVjEnVNFutI

polymers find great importance in electronics, micro electronics and
biomedical fields.
Presence of conjugated - electrons in a polymer

A. Increases its conductivity

B. Decreases it conductivity

C. May increase or decrease its conductivity

D. None

Answer: A

o Watch Video Solution

12. The combination of several monomers under suitable experimental
condition to form a giant, three dimensional polymer is known as
polymerisation. Natural polymers are classified on the basis of their
chemical composition. Synthetic polymers are classified on the basis of
the physical properties, into elastomers, plastics and fibres.

Identify the incorrect statement regarding thermosetting polymers


https://dl.doubtnut.com/l/_ReVjEnVNFutI
https://dl.doubtnut.com/l/_ZNwKXdU1Y9bo

A. They soften on heating

B. They are formed by condensation reaction

C. They have cross-linked structure

D. They are hard rigid are brittle

Answer: A

o Watch Video Solution

13. The combination of several monomers under suitable experimental
condition to form a giant, three dimensional polymer is known as
polymerisation. Natural polymers are classified on the basis of their
chemical composition. Synthetic polymers are classified on the basis of
the physical properties, into elastomers, plastics and fibres.

Which pair corresponds to fibre polymer

A. Polythene, PMMA

B. Polythene, Nylon 66


https://dl.doubtnut.com/l/_ZNwKXdU1Y9bo
https://dl.doubtnut.com/l/_09OSq06Qr2Bk

C. Urea - formaldehyde, PMMA

D. Polyester, PAN

Answer: D

o Watch Video Solution

14. The combination of several monomers under suitable experimental
condition to form a giant, three dimensional polymer is known as
polymerisation. Natural polymers are classified on the basis of their
chemical composition. Synthetic polymers are classified on the basis of
the physical properties, into elastomers, plastics and fibres.

Saran is

A. An addition homopolymer

B. A co-polymer of vinyl chloride and vinylidene chloride

C. A condensation homopolymer

D. A condensation co-polymer


https://dl.doubtnut.com/l/_09OSq06Qr2Bk
https://dl.doubtnut.com/l/_3S7kVN0IhH2L

Answer: B

° Watch Video Solution

Level li Lecture Sheet Exercise lii Match The Following Questions

1. Match the following columns
List - 1 List - 11
A) Styrene p) Step - growth polymer
B) Dacron q) Chain- growih copolymer
) Nylon-6, 6 1) Amide linkages
D) Proteins s) Bster linkages
o Watch Video Solution
2. Match the following columns
List - 1 List - 11
{Polymer) (Monomer)
A) Natural rubber p) Lincar polymer of fi- glucose
B) Cellulose q) Cis - lsoprene
C) Nylon - 6 r} Tetrafluoroethene
D} Teflon 5) Caprolactum

o Watch Video Solution



https://dl.doubtnut.com/l/_3S7kVN0IhH2L
https://dl.doubtnut.com/l/_e5kVppVTssZX
https://dl.doubtnut.com/l/_tepj030kS8ap

Match the following columns
List - I Lt -1
A) PAN p) Orlon
B) PMMA q) Plexiglass
)y PVC r) Thermoplastics
D} PTFE ) Teflon
° Watch Video Solution
Match the following columns
List -1 List -1
A) Melamine p) Non-breakable plastic tormaldehvde cockery
B) Giypial g} Nonstick utnesil  coating
C) Polyietraftuoro ethylene r) Waoler proot shoes
D) Buna.S ’ +) Paints and lacquers
° Watch Video Solution
Match the following columns
List -1 Lim-1
A) Cellulose p) Natural polymer
B) Nylon-6,6 ) Synthetic polymer
C) Protein 1) Amide linkages
D) Sucrose &} Glycosde linkages

o Watch Video Solution



https://dl.doubtnut.com/l/_ephal2rgjL9S
https://dl.doubtnut.com/l/_7hN1pO9YDqf7
https://dl.doubtnut.com/l/_gDpEzNYdWSvm

D) nylom 2 - nylon &

6. Match the following columns
. List -1 List =11

A) Starch p) Natural polymers

B) Rubber 4} synthetic polymers

C) Neoprene r) addnion polymer

) Nylon - 6 s) condensation polymer

1} homo polymer

o Watch Video Solution

7. Match the following columns
List-1 List = 1

A) Swrch Pl eondensatin puig.n;ir:

B PHRY yb el ik

Yy Bakeling vl nhape

) -l'lllll\" i Sy

[ 1 CO Y T Y [

o Watch Video Solution



https://dl.doubtnut.com/l/_gDpEzNYdWSvm
https://dl.doubtnut.com/l/_5srSDKxsYsUR
https://dl.doubtnut.com/l/_5oaz6qtABUIV

8. Match the following columns

List - 1 List - 11
A) Gyplal Pl aadiene
B} Buna - N g oSty ene
C) Buna - § rh Acey lodsdinbe
D) Terylene u) Eshybenc giveol
10 Phithad acnd

° Watch Video Solution

Level li Lecture Sheet Exercise Iv Integer Answer Type Questions

1.1 kg of ethylene undergo polymerization completely, then the weight of

polyethylene obtained is 10° gm. What is x ?

° Watch Video Solution

2. How many of the following are biodegradable polymer, Nylon-6, Nylon-
6,6, Nylon -2-Nylon-6, starch, PHBV, polyglycolic acid, polylactic acid,

polyacrylonitrile .

| oo |


https://dl.doubtnut.com/l/_KSjyk0Rqxrcc
https://dl.doubtnut.com/l/_LY9RMKFQvDhU
https://dl.doubtnut.com/l/_c5iadFEljo6D

l & Watch Video Solution J

3. Total number of "7 ’-bonds present in styrene is

o Watch Video Solution

4. Co-polymers in the following are bakelite, malemine, buna-S, Nylon - 6,6,

PMMA, teflon, HDPE. Terylene, Polysiloxane, Polyvenyl Pyrrolidene.

o Watch Video Solution

5. Number of polymers containing ester likages in the following are.

Nylon, giyptal, Dacron, PVC.

o Watch Video Solution

6. The number of carbon items present in the monomer of Teflon is



https://dl.doubtnut.com/l/_c5iadFEljo6D
https://dl.doubtnut.com/l/_l8InUkyci4gw
https://dl.doubtnut.com/l/_bGr30djkSwRh
https://dl.doubtnut.com/l/_0USJedFFyASU
https://dl.doubtnut.com/l/_gFfW1LuczZjD

| ¥ vvatcn Viaeo oolution )|

7. The number of chain growth polymers among polypropylene, neoprene,

Nylon-6,6, PAN, bakelite, terylene.

o Watch Video Solution

8. Sum of nitrogen atom in the monomers of nylon-6, and nylon-6,6 is x

and sum of carbon atoms in them is 'y'. Then y is
x

o Watch Video Solution

9. Polymers containing -CONH- linkage among , nylon, bakelite, urea

formaldehyde resin, buna-s, neoprene, natural rubber, proteins.

o Watch Video Solution



https://dl.doubtnut.com/l/_gFfW1LuczZjD
https://dl.doubtnut.com/l/_RTrRjqS5KMiz
https://dl.doubtnut.com/l/_MXPbuQ66pAYf
https://dl.doubtnut.com/l/_jQWG3NgVSfml

10. A polymer contains 30% molecules with molecular mass 20,000, 40%

have 30,000 and rest have 60,000. Its Mn is 36 x 10%. What is x.

° Watch Video Solution

Practice Sheet 1 Single Correct Questions

1. Which is not true about polymers?

A. Polymer do not carry any charge

B. Polymers have high viscosity

C. Polymers scatter light

D. Polymers have low molecular weight

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_CWu8puKdnn7a
https://dl.doubtnut.com/l/_axEZXaREKBA4
https://dl.doubtnut.com/l/_sB6zPL2ATZn1

2. Which one of the following polymers has molecular mass an integral

multiple of molecular mass of monomer ?

A. Buna rubber

B. Glyptal

C. Terelyene

D. Nylon-6,6

Answer: A

o Watch Video Solution

3. Which one of the following is obtained by step growth polymerization ?

A. Nylon-6,6

B. Neoprene

C. polyvinylchloride

D. polyvinylpyrrolidene


https://dl.doubtnut.com/l/_sB6zPL2ATZn1
https://dl.doubtnut.com/l/_ul6H3ZZNKMbj

Answer: A

° Watch Video Solution

4. Which of the following setss contain only addition polymers

A. Polyethene, terylene, PVC

B. Teflon, PVC, PAN

C. Buna-S, PVC, Bakelite

D. Buna-N, PVC, Bakelite

Answer: B

° Watch Video Solution

5. Which of the following statements is wrong

A. Polyethene is addition polymer


https://dl.doubtnut.com/l/_ul6H3ZZNKMbj
https://dl.doubtnut.com/l/_yZmEAzoCiXVk
https://dl.doubtnut.com/l/_9XUWaw5Lzel5

B. Polyethene is a Homopolymer

C. Polyethene is a condensation polymer

D. All the above

Answer: C

o Watch Video Solution

6. Bakellite is made from phenol and formaldehyde. The initial reaction

between two compounds is an example of

A. Aromatic nucleophilic substitution

B. Aromatic electrophilic substitution

C. Free radical substitution reaction

D. Free radical addition reaction

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_9XUWaw5Lzel5
https://dl.doubtnut.com/l/_bknHyQnamRRt

7. Which of the following sets contain only addition homopolymer

A. polyethene, naturalrubber, cellulose

B. Starch, nylon, polyester

C. Teflon, Bakelite, Orlon

D. Neoprene, PVC, Polyethene

Answer: D

o Watch Video Solution

8. Which are for elastomers ?

A. They posses elasticity

B. These possess weakest intermolecular forces of attraction between

polymer chains


https://dl.doubtnut.com/l/_bknHyQnamRRt
https://dl.doubtnut.com/l/_pBzchLXQw8hA
https://dl.doubtnut.com/l/_1GQMzdquOPuv

C.These possess strongest inter molecular forces of attraction

between polymer chains

D. Buna rubber is an example of elastomer

Answer: A::B::D

o Watch Video Solution

9. Which of the following statements about addition polymerisation are

correct ?

A. Monomers containing C=C bond can undergo this polymerisation

B. Polymer molecules many contain C=C bond

C. Addition polymers are formed by chain reactions

D. Molecular weight of addition polymer molecule is integral multiples

of molecular weight of its monomers

Answer: A::B::C::D



https://dl.doubtnut.com/l/_1GQMzdquOPuv
https://dl.doubtnut.com/l/_uaXv5oxF3NPI

| o Watch Video Solution

10. Which of the following statements about condensation polymers are

correct ?

A. Condensation polymer molecule does not contain same number of

atoms as the number of atoms present in all monomers

B. Monomers of condensation polymers have polyfunctional groups

C. Majority of condensation polymers are co-polymers

D. Molecular weight of condensation polymer molecule is integral

multiples of molecular weight of its monomers

Answer: A::B::C

o Watch Video Solution

11. Which of the following statements are correct for Linear polymers ?


https://dl.doubtnut.com/l/_uaXv5oxF3NPI
https://dl.doubtnut.com/l/_wLOs2rSNI9Aa
https://dl.doubtnut.com/l/_CCkyBGyvNcsQ

A. Linear polymers may be condensation as well as addition polymers

B. Structure is well packed in nature

C.Linear polymers have higher density, higher melting point and

higher tensile strength

D. Linear polymers have lower density, higher melting point and low

tensile strength

Answer: A::B::C

° Watch Video Solution

12. Chain-growth polymerization may proceed by the following

mechanism

A. Free radical polymerization

B. Cantionic polymerization

C. Anionic polymerization


https://dl.doubtnut.com/l/_CCkyBGyvNcsQ
https://dl.doubtnut.com/l/_opcaZ3s9yeUf

D. None of the above

Answer: A::B::C

° Watch Video Solution

13. Which of the following are plasticisers ?

A.DOP

B. DBP

C. Cresyl phosphates

D. Sodium adipate

Answer: A::B::C

° Watch Video Solution



https://dl.doubtnut.com/l/_opcaZ3s9yeUf
https://dl.doubtnut.com/l/_xMoFSS9wLRQw

14. Which of the following polymers made by cationic addition

polymerisation.

A. PVC
B. PIB
C. HDPE

D. LDPE

Answer: B

o Watch Video Solution

Practice Sheet 1 Linked Comprehension Type Questions

1. Based on the behaviour of polymer it can be classified int two forms i.e.

thermo plastic polymers and thermosetting polymers. The thermo
plastics canbe softened (or) plasticized repeated by on application of

thermal energy. The thermo setting polymers can be obtained in soluble


https://dl.doubtnut.com/l/_7zzpGP8x0y3R
https://dl.doubtnut.com/l/_fWoC41bBGjI7

and fusible forms in early (or) intermediate stages of their synthesis but
they get secured and become insoluble and infusible when further
heated (or) thermally heated.
Thermo plastic polymers are formed by

A. Either addition (or) condensation method

B. Both addition and condensation method

C. Only addition method

D. Only condensation method

Answer: A

° Watch Video Solution

2.Based on the behaviour of polymer it can be classified int two forms i.e.
thermo plastic polymers and thermosetting polymers. The thermo
plastics canbe softened (or) plasticized repeated by on application of
thermal energy. The thermo setting polymers can be obtained in soluble

and fusible forms in early (or) intermediate stages of their synthesis but


https://dl.doubtnut.com/l/_fWoC41bBGjI7
https://dl.doubtnut.com/l/_YKUQO0S3Wdy2

they get secured and become insoluble and infusible when further
heated (or) thermally heated.
Thermosets can have

A. Branch structure

B. Linear structure

C. Three dimensional cross linked network

D. All the above

Answer: C

o Watch Video Solution

3. Based on the behaviour of polymer it can be classified int two forms i.e.
thermo plastic polymers and thermosetting polymers. The thermo
plastics canbe softened (or) plasticized repeated by on application of
thermal energy. The thermo setting polymers can be obtained in soluble
and fusible forms in early (or) intermediate stages of their synthesis but

they get secured and become insoluble and infusible when further


https://dl.doubtnut.com/l/_YKUQO0S3Wdy2
https://dl.doubtnut.com/l/_Iwjn2p9N121W

heated (or) thermally heated.

(1) Thermosets donot soften on heating

(2) Thermo plastic soften on heating and stiffen on cooling
A.is true (2) in false
B. (1) is false (2) is true
C. both (1) & (2) are false

D. both (1) & (2) are true

Answer: D

o Watch Video Solution

4.

Compound (D) is


https://dl.doubtnut.com/l/_Iwjn2p9N121W
https://dl.doubtnut.com/l/_XeRRTRvmhNu6

A. H,N(CH,),NH,
B. HyN(CH,),NH,
C.OHC(CH,),CHO

D.OHC(CH;)sNH,

Answer: B

o Watch Video Solution

5.

Compound (E) is
A.OHC(CH;),CHO
B.OHC(CH;),COOH

C. OHC(CH,),COOH


https://dl.doubtnut.com/l/_XeRRTRvmhNu6
https://dl.doubtnut.com/l/_RNX62kooSzFu

D. HOOC( — CH, — ),COOH

Answer: D

° Watch Video Solution

Polymer (F) is

A. Nylon-6

B. Dacron

C. Nylon-6,6

D. Nylon-6,10

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_RNX62kooSzFu
https://dl.doubtnut.com/l/_KFpTGNCzsmL6

Practice Sheet 1 Match The Following Questions

Molecular mass of
Polymer and PDI

CIGICRE

Number avg molecular mass (]\7 n)
Weight avg molecular mass (]\7 w)

PDI of natural polymer
PDI of synthetic polymer

Mehtod of determination

molecular mass of polymz
p) Light scattering and ultr:
) osmotic pressure method
r) PDI=1
) PDI>1

° Watch Video Solution

List-I
(4) HDPE  (p)
2. (B) Polypropene (q)
(C) PVC (r)
(D) Dacron (s)

List-II

cationic addition polymerisation
Condensation polymerisation

Free radical addition polymerisation

Anionic addition polymerisation

° Watch Video Solution



https://dl.doubtnut.com/l/_KFpTGNCzsmL6
https://dl.doubtnut.com/l/_53jWw4ZGJTDD
https://dl.doubtnut.com/l/_MtSPWerTIlpa

List-I List-II
Terylene (p) Elastomer
Bakelite (q) fibre

neoprene (r) thermo setting

w
CISICIE

Polystyrene (s) condensation polymer

° Watch Video Solution

List-I List-II
Nylon-6 (p) homo polymer

G

nylon-6,6 (q) co-polymers
Teflon (r) step growth polymer

S8 %

Buna-S  (s) chain growth polymer

° Watch Video Solution

Practice Sheet 1 Integer Answer Types Questions

1. How many of the following are natural polymers ?
Cellulose, Cellulose acetate, Cellulose nitrate, starch, proteins, plastic,

bakelite, melamine, teflon

. l


https://dl.doubtnut.com/l/_Ym3JUWUuHF7P
https://dl.doubtnut.com/l/_ULa2MxvToyDG
https://dl.doubtnut.com/l/_x8ozJfCjsMUa

| ¥ vvatch video sSolution J

2. How many of the following are synthetic polymers?
Cellulose, cellulose nitrate, rayon, nylon, teflon, PV.C. polyacrylonitrile,

terylene

° Watch Video Solution

3. How many of the following are addition polymers ?
Terylene, Teflon, nylon, polyesters, polystrene, Bakelite, PVC, PAN, Buna-N,

Buna-S, Neoprene isoprene

° Watch Video Solution

4. How many of the following are condensation polymers ?
Terylene, Teflon, nylon, cellulose, starch, proteins, bakelite, melamine, PVC,

PAN

° Watch Video Solution



https://dl.doubtnut.com/l/_x8ozJfCjsMUa
https://dl.doubtnut.com/l/_eyKEYHuirwVm
https://dl.doubtnut.com/l/_S7UXozZFMdsv
https://dl.doubtnut.com/l/_UUgdhTW46Xt8

5. How many of the following are homopolymers ?

Polystyrene, Dacron, nylon-66, Bakelite, PVC, PAN, Teflon, Rayon

° Watch Video Solution

6. How many of the following are co polymers ?
Polystyrene, Polyester, Bakelite, Buna-N-Rubber, Buna-S-Rubber, glyptal,

Teflon, Terylene, Polythene

° Watch Video Solution

Practice Sheet 2 Single Answer Questions

1. Which of the following used to coagulate the rubber latex ?

A. HCOOH

B. H,O


https://dl.doubtnut.com/l/_UUgdhTW46Xt8
https://dl.doubtnut.com/l/_Je2KlrD0towt
https://dl.doubtnut.com/l/_DsoluNH9fTjG
https://dl.doubtnut.com/l/_wsq4Uii9vGT9

C.CH;COOH

Answer: A::C

° Watch Video Solution

2. IUPAC name of chloroprene is

A. 1-chloro-1,3-butadiene

B. 2-chloro-1,3-butadiene

C. 1-chloro-butadiene

D. 2-chloro-1,2-butadiene

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wsq4Uii9vGT9
https://dl.doubtnut.com/l/_P4XDr9BdwIsn

3. GR-S rubber is a copolymer is

A. Butadiene & Acrylonitrile

B. Butadiene & Styrene

C. Ethylene & styrene

D. Ethylene & Vinyl cyanide

Answer: B

o Watch Video Solution

4. Which of the following is called nitrile rubber

A. Butyl rubber

B. Buna-N

C.Buna-S

D. All the above


https://dl.doubtnut.com/l/_DCQ1Sz75TmMW
https://dl.doubtnut.com/l/_Yb2hWCk0wHed

Answer: B

° Watch Video Solution

5.1UPAC name of isoprene is

A. 1-Methyl-1,3-butadiene

B. 2-Methyl-1,2-butadiene

C. 2-Methyl-1,3-butadiene

D. 1-Methyl-1,2-butadiene

Answer: C

° Watch Video Solution

6. Orlon is a polymer made by using the monomer/monomers

A. Adipic acid & glycol


https://dl.doubtnut.com/l/_Yb2hWCk0wHed
https://dl.doubtnut.com/l/_TitTpSZkO7hg
https://dl.doubtnut.com/l/_kElRl4KtwT3j

B. Acrylic acid & glycol

C. Acrylonitrile

D. Acrylonitrile & Butadiene

Answer: C

° Watch Video Solution

Raney nickel CrO3/H2SO;y HsNOH H»SOs and heat H>Oheat
7. Phenol > > > > > Polymer.

The polymer is

A. Dacron

B. Nylon-6

C. Nylon-6,6

D. None of them

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kElRl4KtwT3j
https://dl.doubtnut.com/l/_VLROIhuSMVCw

8. A sample of a polymer contains 200 molecules of molecular mass 10°
each, 300 molecules of molecular mass 10* each and 500 molecules each
having 10° as a molecular mass. Mn is

A. 94553

B. 53200

C. 25200

D. 26000

Answer: B

° Watch Video Solution

Practice Sheet 2 One Or More Than One Answer

1. Which of the following polymer contain 1,3-butadiene as one of the

monomers ?


https://dl.doubtnut.com/l/_VLROIhuSMVCw
https://dl.doubtnut.com/l/_A0twoH4jrSTi
https://dl.doubtnut.com/l/_Ztir12n67IJg

A.SBR

B. nitrile rubber

C. butyl rubber

D. ABS plastic

Answer: A::B::C::D

o Watch Video Solution

2. Average molecular weight of a polymer can be determined by

A. Colligative property osmotic pressure

B. End group analysis

C. Viscosity measurements

D. Scattering of light

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_Ztir12n67IJg
https://dl.doubtnut.com/l/_UG6Dkih9fnjD

3. Which of the following is correct ?

A.M,,of a polymer is greater than M,
B. M, of a polymer is greater than M,
C. For synthetic polymers PDI is greater than |

D. During vulcanization rubber becomes cross linked with zinc oxide

Answer: A::C

o Watch Video Solution

4. Which of the following are polyamide poylmers.

A.Nylon - 6,10

B. Nylon-6,6

C. Nylon-5


https://dl.doubtnut.com/l/_UG6Dkih9fnjD
https://dl.doubtnut.com/l/_BBBdDXMMVYS3
https://dl.doubtnut.com/l/_CiXBrH04Q6If

D. Perlon-U

Answer: A::B::C

° Watch Video Solution

5. Which of the following are polycarbamate ester polymers

A. Polyurethane

B. Perlon-U

C. Melmac

D. Saran

Answer: A::B

o Watch Video Solution

6. Which of the following are used as free radical cahin initiators.


https://dl.doubtnut.com/l/_CiXBrH04Q6If
https://dl.doubtnut.com/l/_bkXZJGjajG1J
https://dl.doubtnut.com/l/_1X77GEI7FRAE

A. Benzoyl peroxide

B. t-butyl peroxide

c.CCl,

D. benzoquinone

Answer: A::B

o Watch Video Solution

7.Nylon-6,10 can be prepared by

A.HyN(CH;)sNH, + Decanoic acid (Sebacic acid)
B. HOOC(CH,),COOH + (NH,)(CH,),)NH,
C. NHy(CH,),NH, + HOOC(CH,);COOH

D. HyN(CH,),,NH, + HOOC(CH,),COOH

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1X77GEI7FRAE
https://dl.doubtnut.com/l/_SpTmAs74mBBQ

8. Polymerisation may occur throughintermediate formation of

A. Carbocations

B. Carbanions

C. Free radical

D. Carbenes

Answer: A::B::C

° Watch Video Solution

Practice Sheet 2 Linked Comprehension Type Questions

1. Natural rubber or raw rubber consists of basic material latex which is a
dispersion of isoprene. Natural rubber can treatment this isoprene

polymers to form a high molecular weight polymer of isoprene. Natural


https://dl.doubtnut.com/l/_SpTmAs74mBBQ
https://dl.doubtnut.com/l/_2F9ieadPJcYE
https://dl.doubtnut.com/l/_8cO9qhl2JttH

rubber can be obtained from five hundred different species of plants.

In the isoprene polymer all the isoprenes have

A. Trans 1,4 condiguration

B. Cis 1,4 configuration

C. Both cis & trans 1,4 configuration

D. Cis 1,2 configuration

Answer: B

o Watch Video Solution

2. Natural rubber or raw rubber consists of basic material latex which is a
dispersion of isoprene. Natural rubber can treatment this isoprene
polymers to form a high molecular weight polymer of isoprene. Natural
rubber can be obtained from five hundred different species of plants.

(i) Tensile strength of vulcanized rubber is almost ten times more than
raw rubber.

(ii) Elasticity of raw rubber is very high.


https://dl.doubtnut.com/l/_8cO9qhl2JttH
https://dl.doubtnut.com/l/_M3ErRNZ1Irz1

A. (i) is true (ii) is false

B. (i) is false (ii) is true

C. Both (i) & (ii) are true

D. both (i) & (ii) are false

Answer: C

o Watch Video Solution

3. Natural rubber or raw rubber consists of basic material latex which is a
dispersion of isoprene. Natural rubber can treatment this isoprene
polymers to form a high molecular weight polymer of isoprene. Natural
rubber can be obtained from five hundred different species of plants.

The molecular weight of the raw rubber is about

A.1,00,000 - 1,50,000
B. 5,000-10,000

C. 2,00,000 - 5,00,000


https://dl.doubtnut.com/l/_M3ErRNZ1Irz1
https://dl.doubtnut.com/l/_ensYtIQ16is8

D. 50,000 - 1,00,000

Answer: A

° Watch Video Solution

M KON " AN ’ L 3
Br (B) () (D)

4.

The compound (D) is

AO=C = N(CHy){N=C=0

(=) (£) (£) (=)

+ —
B.C = N —(CH2)6N = C
C.O=C=N(CHy),N=C=0

(=) (+)
D.C = N —(CHy))y—N=C=0

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_ensYtIQ16is8
https://dl.doubtnut.com/l/_CB1bN4waGZx2

Br .
Mﬂr KON FIBI LAN [Ci JOOCL #{Dj

Jm,a_ NaOH

(B) — i Potymer (F)
5.

Compound (E) is

A

B.Me = — Me

A.

iy Ty
o - TN

I~

D.

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_fjNmK7fVEVQR

e N . KON gy AW ey MG D)

Ag. NaOH

. wild =
(E) —gmmerimics Potymer (F)

The polymer (F) is

A. Polyurethane
B. Perlon-U
C.Botha &b

D. Nylon -6

Answer: C

o Watch Video Solution

Practice Sheet 2 Match The Following Questions


https://dl.doubtnut.com/l/_HW3fpzQgzlEb

Llst-I List-II

(A) PerlonL (p) chaingrowth polymer
] (B) PET (q9) Step growth polymer

"(C) PMMA (r) homopolymer

(

(

(D) PTFE s) Co-polymer

t) fibres

° Watch Video Solution

LIst-I List-II
(A) PVC  (p) adhesives
5 (B) Teflon (gq) cooking ware
"(C) nylon-6 (r) textiles
(D) PET (s) ropes

(t) homo polymer

° Watch Video Solution

Practice Sheet 2 Integer Answer Types Questions

1. Polydispersity index of polymers of uniform length is equal/nearly equa



https://dl.doubtnut.com/l/_VFurOH37DhCN
https://dl.doubtnut.com/l/_XNn9Tr4Vyrfo
https://dl.doubtnut.com/l/_f34xAPjicJgW

| @J Watch Video Solution J

2.1n a sample of a polymer, 100 molecules have molecular mass 10° each
and 200 molecules have molecular mass 10* each, the Number average

molecular weight of polymer is z x 10° then 'x' is

° Watch Video Solution

3. If a natural rubber has a molecular weight of 20,400 then the no. of

repeating units in the polymeris z x 10Y. (z + y) is equal to

° Watch Video Solution

4. How many of the following are bidegradable polymers ?
PVC, polythene, PTFE, PMMA, PHBV, polylactic acid, polyglycolic acid,

polyacrylonitrile, nylon 2-nylon-6, nylon 66.

° Watch Video Solution



https://dl.doubtnut.com/l/_f34xAPjicJgW
https://dl.doubtnut.com/l/_5nthdO3v28Ao
https://dl.doubtnut.com/l/_sQlDuCUQnOr2
https://dl.doubtnut.com/l/_NFz0dTdArGBq

5. How many of the following polymers with ester linkage ?
Dacron, Teflon, Gyptal, PHBV, PMMA poly lactic acid, polyglycolic acid,

nylon-6,6, nylon-6

° Watch Video Solution

6. Osmotic pressure measurement of a polymer solution at 27°C' gave a
value for (m/c), as 2.463 x 10 “Latm g~ '. The M, of the polymer

10%, x is

° Watch Video Solution

Practice Sheet 3 Single Answer Questions

1. All terpenses have carbon skeletons made up of

A. Isoprene units

B. Vinyl units


https://dl.doubtnut.com/l/_1uTwPh89MR1c
https://dl.doubtnut.com/l/_11odveACmYBD
https://dl.doubtnut.com/l/_nAYPnBCaubay

C. Alkenes

D. Ethylene units

Answer: D

° Watch Video Solution

2. One would come across the terms isotactic, sydiotatctic and atactic in

connection with the chemistry of

A. Polymers

B. Dyes

C. Crystals

D. Textiles

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_nAYPnBCaubay
https://dl.doubtnut.com/l/_NLl6goSqUdrD
https://dl.doubtnut.com/l/_AC0C6VdjDz9R

3. The commerical name of polymethyl methacrylate is

A. Lucite

B. Plexiglass

C. Perspex

D. all of the above

Answer: D

o Watch Video Solution

4. The mono unit of silicon, a water repellant, acid resistant and heat

resistant, polymer is

A.Si

B. 570,

C. Ry, S0

D. None of these


https://dl.doubtnut.com/l/_AC0C6VdjDz9R
https://dl.doubtnut.com/l/_cfzFAlbCxCTH

Answer: C

° Watch Video Solution

5. The turbidity of a polymer solution measures

A. light absorbed by the solution

B. light transmitted by a solution

C. light scattered by the solution

D. none of the above

Answer: C

° Watch Video Solution

6. Drink and baby feeding bottles are generally made of

A. poly-urea


https://dl.doubtnut.com/l/_cfzFAlbCxCTH
https://dl.doubtnut.com/l/_GDju3pXDFcZV
https://dl.doubtnut.com/l/_Z7Cx40kDeVqR

B. polyurethane

C. polyester

D. polyamide

Answer: C

° Watch Video Solution

7.Synthetic human hair wigs are made form a copolymer of vinyl chloride
and acrylonitrile, which is called

A.PVC

B. polyacrylonitrile

C. callulose

D. Dynel

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_Z7Cx40kDeVqR
https://dl.doubtnut.com/l/_rH5WIIVLfsuY

8. The momomer of the polymer

CH
I ) E;’EH’
A~~~ CHy = CH-CH,— C .
2 | 2 ""-.EH!“

CH,

A (CH3),C = C(CH3),
B.CH; — CH — CH,
C.CH3CH = CHCH;

D.CH,; = C(CH3)2

Answer: D

° Watch Video Solution

Practice Sheet 3 One Or More Than One Answer

1. Which is not a macromolecule



https://dl.doubtnut.com/l/_rH5WIIVLfsuY
https://dl.doubtnut.com/l/_Ba6JXMpekwPg
https://dl.doubtnut.com/l/_aQSxyezxZnMF

A. DNA

B. Insulin

C. Palmitate

D. Starch

Answer: C

o Watch Video Solution

2. Which of the following polymers can be used for lubrication and as an

insulator.

A.SBR

B. PA,

C. PTFE

D. PVC

Answer: C



https://dl.doubtnut.com/l/_aQSxyezxZnMF
https://dl.doubtnut.com/l/_NOoMVqTkLvt0

| o Watch Video Solution

3. Which of the following sets contains thermopastics.

A. Glyptal, melmac, PAN

B. Polythene, Bakelite, Nylon-6

C. PVC, PMMA, polystyrene

D. Polypropylene, urea-formaldehyde, Teflon

Answer: C

° Watch Video Solution

4.Vulcanised rubber resists

A. wear and tear due to friction

B. cryogenic temperature

C. high temperature


https://dl.doubtnut.com/l/_NOoMVqTkLvt0
https://dl.doubtnut.com/l/_XX6ks4NxPbfE
https://dl.doubtnut.com/l/_1Ikddcrik4IL

D. action of acids

Answer: A

° Watch Video Solution

5. Polymerisation buta -1,3-diene by the free radica mechanism gives

A. trans-1,4, polybutadiene

B. cis-1,4, polybutadiene

C. polyvinyl polythene

D. polyallyl polythene

Answer: A::B::C

o Watch Video Solution

6.I1soprene, CHy = C — CH = (C'H,, is the repeating unit in
|
CH3


https://dl.doubtnut.com/l/_1Ikddcrik4IL
https://dl.doubtnut.com/l/_9KHB5408Zs18
https://dl.doubtnut.com/l/_4YeiXh0Q6Kwd

A. Vitamin-A

B. Terpenes

C. Rubber (natural)

D. Buna-S

Answer: A::B::C

o Watch Video Solution

7.Which of the following are not used as chain transfer agents ?

A . CCly

B. CBT4

C. Benzoquinone

D. Benzoyl peroxide

Answer: C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_4YeiXh0Q6Kwd
https://dl.doubtnut.com/l/_BEgROpiUynzE

8. Which of the following fibers are made of polyamides

A. cellulose acetate

B. Rayon

C. Natural silk

D. Nylon

Answer: C::D

o Watch Video Solution

Practice Sheet 3 Linked Comprehension Type Questions



https://dl.doubtnut.com/l/_BEgROpiUynzE
https://dl.doubtnut.com/l/_BqFfqdkVYT5n
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The compound (C) and (D) are

OH


https://dl.doubtnut.com/l/_39XcGOnQxopx

CHO

Answer: B

o Watch Video Solution

)]
@ $OH, =0 =24y + i UL R e pelymier
| | ik}
poly merisation
cnmsed link polymer
2. ¥y

The linear polymer (E) is

A. Resol

B. Novolac

C.Bothaandb


https://dl.doubtnut.com/l/_39XcGOnQxopx
https://dl.doubtnut.com/l/_XE39Ojp88fmB

D. Decron

Answer: C

° Watch Video Solution

OH

{14 Tds mnt | saimm

FOH, s 0 ——={Ct + D) -—— " Linw pulymer
| | ik}
poly merisation

corscd link polyimer
3. ity

The cross-linked polymer (F) is

A. Resol

B. Novolac

C. Bakelite

D. Decron

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_XE39Ojp88fmB
https://dl.doubtnut.com/l/_FAcb5C6onjL8

"OOEL . Al HILEND
(A

H™/H,0'

Polymier (F) T, (B}

4,
The conversion (A) to (B) is called
A. Claisen ester condensation
B. Dieckmann reaction
C. Intermolecular claisun ester condensation

D. Claisen - schmidt reaction

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_FAcb5C6onjL8
https://dl.doubtnut.com/l/_BpUsfbdDhrbL
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The compound (C) is
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Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4nVYUlElJVmc
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Product (E) is
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0
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_NH,
éﬂ


https://dl.doubtnut.com/l/_e0ofRBif68oo

Answer: B

o Watch Video Solution

Practice Sheet 3 Match The Following Questions


https://dl.doubtnut.com/l/_e0ofRBif68oo

1. Match the

List - 1
A) DOP
B} O - cresyl phosphate
C} Bakelite
D} Cellulose

following

List - 11
p) Natural
q) Plasticiser
r) Synthetic polymer
%) Thermosetling

columns

° Watch Video Solution

List-1
(A) Benzoquinone (p)
2.(B) CCly and CBry (q)
(C) Benzoyl peroxide (r)
(D) t-butyl peroxide (s)

List-II

Free radical initiator
Free radical intribitor
Chain transfer agents

Biopolymerer

° Watch Video Solution

Practice Sheet 3 Integer Answer Types Questions

1. The sum of fluorine atoms in monomers of PTFE and PCTFE is

° Watch Video Solution



https://dl.doubtnut.com/l/_PEXD91To8Ztg
https://dl.doubtnut.com/l/_4gzpmc9p1Wki
https://dl.doubtnut.com/l/_DwrxG6aLSbjC

2. The number of alternating Co-polymers in the following are , Nylon-6,

Nylon-6,6, PET, Neoprene, Buna-S, polyisoprene, PTFE, PVC, Bakelite.

° Watch Video Solution

3. The number of types of Co-polymers depend on the nature of

distribution of two different monomers are

° Watch Video Solution

4. The ratio of '’ bond between monomer units of Buna - N is 0.3 x.

What is x?

o Watch Video Solution

5. A polymer has weight average molecular weight is 40% more than is

number average moelcular weight. Its PDI is equal to 0.7 x. What is x?


https://dl.doubtnut.com/l/_DwrxG6aLSbjC
https://dl.doubtnut.com/l/_tLoKXxGJPRs5
https://dl.doubtnut.com/l/_BxMhEmPjaCEI
https://dl.doubtnut.com/l/_HZViB9qtOzd6
https://dl.doubtnut.com/l/_4PiBHAUcZvk8

° Watch Video Solution

6. The ratio between homopolymers and Co-polymers of the following
compounds will be PVC, polystyrene, nylon-6, PCTFE, PTFE, Dynel, Vinylon,

Saran, chloroprene, Polysioprene, PMMA, HDPE.

° Watch Video Solution

Practice Sheet 4 Single Correct Questions

1. Monomers of nylon-2,6 are ?

A. alanine, 6 amino hexanoic acid

B. Glycine, 5 amino hexanoic acid

C. Glycine, 6 amino hexanoic acid

D. Phenylalanine, 4 amino hexanoic acid

Answer: C


https://dl.doubtnut.com/l/_4PiBHAUcZvk8
https://dl.doubtnut.com/l/_VCc4jSGJtZB5
https://dl.doubtnut.com/l/_ZvdzpSxqW27e

° Watch Video Solution

2.Monomer of (— CHy — CHy — O — CHy — CHy — O —)

A.HO — CH, — CH, — OH
B. HOOC — COOH

C.CH; — CH, — OH

CH.

Answer: D

° Watch Video Solution

3. Arrange the following alkenes toward order of increasing reactivity in

cataionic poly merisation


https://dl.doubtnut.com/l/_ZvdzpSxqW27e
https://dl.doubtnut.com/l/_lXCA15lit9lF
https://dl.doubtnut.com/l/_dYS7jBFQSWag

CH — CH,

(i) CsHs — CH = CH (iv) |
COOCH,
Adii >0 > i > iv
B.ii > i > iii > v
C.idi >4 > v > ii

D.iv > 1 > 11 > 1

Answer: A

o Watch Video Solution

4. Arrange the following alkenes towards order of increasing reactivity
towards an ionic polymerization
(i) CHy=CH, (2) CHy=CHCN () CHy,=CH —-CH; (4)

CH, = CH — C;

A2>3>1>4


https://dl.doubtnut.com/l/_dYS7jBFQSWag
https://dl.doubtnut.com/l/_aBN6j9ulhuFN

B.2>1>4>3

C2>1>3>14

D.1>3>2>4

Answer: A

° Watch Video Solution

5. Which of the following is used to make paints and lacquers ?

A. Polystyrene

B. Polyvinyl chloride

C. Glyptal

D. Nylon

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_aBN6j9ulhuFN
https://dl.doubtnut.com/l/_iLXgmjNF7q1b
https://dl.doubtnut.com/l/_QXYj6hADgArH

6. What are the monomers in Kevlar ?

A. terephthalic acid and P-phenylenediamine

B. phthalic acid & phenylene diamine

C. phthalic acid & m-diamino benzene

D. terephthalic acid & n-diamino benzene

Answer: A

o Watch Video Solution

7. What are the monomers in Nomex ?

A. terephthalic acid and P-phenylenediamine

B. phthalic acid & phenylene diamine

C. phthalic acid & m-diamino benzene

D. terephthalic acid & n-diamino benzene


https://dl.doubtnut.com/l/_QXYj6hADgArH
https://dl.doubtnut.com/l/_QzrBFeB9CnA4

Answer: C

° Watch Video Solution

8. Which of the following used for preparation of bullet proof windows

and safty (or) crash helments

A. Kevlar

B. Nomex

C. Lexan

D. None

Answer: C

° Watch Video Solution

9. Which one of the following polymer contain -1,3 buta diene as one of

the monomers ?


https://dl.doubtnut.com/l/_QzrBFeB9CnA4
https://dl.doubtnut.com/l/_Y5XDE3pMUb4V
https://dl.doubtnut.com/l/_q1gHv1MVEo6D

A. ABS plastic

B. SBR

C.Saran

D. Nitrile rubber

Answer: A

o Watch Video Solution

10. Indicate the correct statement for chain growth polymers.

A. Chain growth polymers are made by the addition of monomers to

the end of the growing chain.

B. The end of the chain is reactive because it is radical, a cation or an

anion.

C. Polystyrene is the example of this class

D. None of the above


https://dl.doubtnut.com/l/_q1gHv1MVEo6D
https://dl.doubtnut.com/l/_RQVifLw7CjXM

Answer: A::B::C

° Watch Video Solution

11. Chain-growth polymerization may proceed by the following mechanism

A. condensation polymerization

B. cationic polymerization

C. Anionic polymerization

D. all of these

Answer: D

° Watch Video Solution

12. Examples of chain-growth polymer is/are

A. Polystyrene


https://dl.doubtnut.com/l/_RQVifLw7CjXM
https://dl.doubtnut.com/l/_kB1lygQuZAc5
https://dl.doubtnut.com/l/_rFMoHlYDdgx8

B. nylon 6

C.Teflon

D. all of these

Answer: A::B::C::D

° Watch Video Solution

13. Epoxy resin is

A.prepared by the reaction of bisphenol A and epichlorohydrin
followed by a hardener

B. a cross linked polymer

C. an epoxy adhesive

D. all of these

Answer: A::B::C::D

° Watch Video Solution



https://dl.doubtnut.com/l/_rFMoHlYDdgx8
https://dl.doubtnut.com/l/_E0Ep9LXKus7A

14. Which of the following polyamide polymers ?

A. Kevlar

B. Nomex

C. Lexan

D.Nylon -6

Answer: A::B::D

o Watch Video Solution

15. Which of the following can be used as plasticiziers ?

A. Cresyl phthalate

B. Diethyl phthalate

C. Polystyrene


https://dl.doubtnut.com/l/_E0Ep9LXKus7A
https://dl.doubtnut.com/l/_DDX2Lq0MIc0c
https://dl.doubtnut.com/l/_x853QYmsrFHg

D. Trimethyl phosphate

Answer: A::B::D

° Watch Video Solution

CH>

\
16. Monomeris | — CHs — (|J’ — is
COOCH,

A. Methyl methyl acrylate

B. Styrene

C. Propylene

D. Ethene

Answer: A

° Watch Video Solution

Practice Sheet 4 Linked Comprehension Type Questions



https://dl.doubtnut.com/l/_x853QYmsrFHg
https://dl.doubtnut.com/l/_152QLjfVSF2v

HF 800°C polymerisation
1.CHCl3 s X Y

/4

SbF3
What is the Y ?

AHC =CH

B.CFy = CCly

C.CFy, = CF;,

D.CHs, = CH>
Answer: C

\

> plastic polymer is z

o Watch Video Solution

HF 800°C polymerisation
2.CHCl; — X —5Y

N
4

SbF, ’
What is X ?

A. CHCIF,
B.CF,

c.CCl,

plastic polymer is z



https://dl.doubtnut.com/l/_CBs1kGCAZrzJ
https://dl.doubtnut.com/l/_Mix5xMJ0Ghqc

D. CF,H,

Answer: A

° Watch Video Solution

800° C’ polymerisation . .
3. CHCl3 \ X > Y > plastic polymer is z
SbF3

WhatisZ2?

A. Teflon

B. Polyethene

C.PVC

D. Decron

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Mix5xMJ0Ghqc
https://dl.doubtnut.com/l/_5rBMKSTYiq6e

4. An ion catalysed polymerization occurs in case of vinyl monomers with
electron with drawing groups greater the stability of the carbane ion
intermediate more facile is the an ionic polymerization
What is the an ionic initiator in the following ?

A. butyl lithium

B. KNH,

C. AlCl,

D.A&B

Answer: D

o Watch Video Solution

5. An ion catalysed polymerization occurs in case of vinyl monomers with
electron with drawing groups greater the stability of the carbane ion
intermediate more facile is the an ionic polymerization

Which of the following more reactive in an ionic polymerization ?


https://dl.doubtnut.com/l/_Qmfpsp2oijeB
https://dl.doubtnut.com/l/_4TrASUlNHCNf

A.CH, = CH — CN

B.CHy, = CH — COOCHj

C.CH, = CH — CHj

D.CHy, = CH — Cl

Answer: A

o Watch Video Solution

6. An ion catalysed polymerization occurs in case of vinyl monomers with
electron with drawing groups greater the stability of the carbane ion
intermediate more facile is the an ionic polymerization

Which of the following vinyl substituted group more stabilizes the

carbaneion ?

A.—NO,
B. —CHj,
(0]

||
c¢.-C-—-H


https://dl.doubtnut.com/l/_4TrASUlNHCNf
https://dl.doubtnut.com/l/_fxB5mPrNcnwN

D. CQH5 —

Answer: C

° Watch Video Solution

Practice Sheet 4 Match The Following Questions

1. Match the following columns
List - 1 List - 11
{Catalyst) {Industrial product)
A) V.0, i) High density polyethylein
B) Zieglar-Nata il) Polyacrylonitrile
C) Peroxide iii) NH,
D) Finely divided Fe iv) H,50,

A. A-iv, B-i, C-ii, D-iii

B. A-iv, B-iii, C-ii, D-i

C. A-iii, B-i, C-ii, D-iv

D. A-iv, B-ii, C-i, D-iii

Answer: A



https://dl.doubtnut.com/l/_fxB5mPrNcnwN
https://dl.doubtnut.com/l/_TnHOfBcVngQn

° Watch Video Solution

2. Match the following columns
Ldst - 1 - List - 11
( Polymer) iMonomers)
A) Kevlar 1) Phthalic acid and m-diamine bentene
B Nomex i) terephthalic acid and p-phenylene diamine
) Lexan iit) diethyl carbonate and sphenol- A
D) Mylon-6 v} Caprolagtum

A. A-iv, B-iii, C-ii, D-i

B. A-ii, B-i, C-iii, D-iv

C. Aiii, B-i, C-ii, D-iv

D. A-iv, B-ii, C-i, D-ii

Answer: B

o Watch Video Solution

Practice Sheet 4 Integer Answer Types Questions



https://dl.doubtnut.com/l/_TnHOfBcVngQn
https://dl.doubtnut.com/l/_ZX8w82nrpDrc

1. The total number of lone pairs of electrons in melamine

° Watch Video Solution

2. How many of the following are biodegradable co-polymers ?

Nylon-2, Nylon-6, PHBV, PGA, PLA, melamine

° Watch Video Solution

3. How many of the following are biodegradable homopolymers ?

PCL PHBV, Nylon-6, 6, PHB, Teflon, Bakelite

° Watch Video Solution

4. In the following polymer of monomer having how many -OH and -COOH
groups ?

PHB, PLA, PCL

| e |



https://dl.doubtnut.com/l/_vnLXYpHmodwS
https://dl.doubtnut.com/l/_MPYSJcbqNNvZ
https://dl.doubtnut.com/l/_At0vveMadz1p
https://dl.doubtnut.com/l/_RubLhZnR5r24

| & Watch Video Solution

5. What are the oxidation states Al and Ti in the Zeigler - Natta catalyst ?

o Watch Video Solution

6. In the polymer of Buna-S monomers are having how many m-bonds ?

o Watch Video Solution

Practice Sheet 5 Single Answer Questions

1. Polystyrene is a

A. addition polymer

B. thermoplastic polymer

C.bothaandb


https://dl.doubtnut.com/l/_RubLhZnR5r24
https://dl.doubtnut.com/l/_vdzaV5NKU7WM
https://dl.doubtnut.com/l/_VGu0VAx7XbZZ
https://dl.doubtnut.com/l/_zlEahFwAIZoL

D.none

Answer: C

° Watch Video Solution

2.Buna-sis a'

A. addition polymer

B. condensation polymers

C.botha &b

D. none of these

Answer: A

° Watch Video Solution

3. Caprolactum polymerises to give


https://dl.doubtnut.com/l/_zlEahFwAIZoL
https://dl.doubtnut.com/l/_de493Z1hOV01
https://dl.doubtnut.com/l/_tnghTY7PGrob

A. Nylon 6

B. Buna-s

C. Glyptal

D. Teflon

Answer: A

o Watch Video Solution

4. Butyl rubber monomer units

A. Isobutyl+lsoprene

B. Isobutylene+Butadiene

C. butadiene + Isoprene

D. Isobutylene+Sodium polysulphide

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_tnghTY7PGrob
https://dl.doubtnut.com/l/_qfk49k4CiqtN

CH; CH;

| |
5. The monomer of the polymer —-CHy; — C — CHy — C' — is

| |
CHs CHs

SCH,

~
CH,

H.C=C

B.CH; — CH = CH — CHj

C.CH, — CH = CH,

CH,
-
b1
CH, CH'E
D.
Answer: A

° Watch Video Solution

6. Plexiglass is a commerical name of

A. glyptal


https://dl.doubtnut.com/l/_qfk49k4CiqtN
https://dl.doubtnut.com/l/_hzLfMUxWj1DK
https://dl.doubtnut.com/l/_RKpW2pqAIA1k

B. poly acrylnitrile

C. polymethyl methaacrylate

D. polyethyl crylate

Answer: C

o Watch Video Solution

7. Which of the following statement is not true ?

A. natural rubber has the trans-configuration at every double bond

B. Buna-s is a copolymer of butadiene and styrene

C. Natural rubber is a, 1, 4 polymer of isoprene

D.In vulcanization the formation of sulphur bridges b/w different

chaires make rubber harder and stronger

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_RKpW2pqAIA1k
https://dl.doubtnut.com/l/_A4oTUpirWQ08

8.n Buna-s, Buna stands for

A. 1-butene

B. n-butene

C. 2-butene

D. butadiene

Answer: D

° Watch Video Solution

9. Di n-butyl phthalate is a

A. plasticizer

B. antibiotic

C. natural rubber


https://dl.doubtnut.com/l/_A4oTUpirWQ08
https://dl.doubtnut.com/l/_vDhEVowsG2V2
https://dl.doubtnut.com/l/_uOmsIIvLxTwh

D. bio-degradable polymer

Answer: A

° Watch Video Solution

10. In which of the following polymers ethylene glycol is one of the

monomer units ?

<—ocﬁ,—c3, ~ooc2 ;0‘)
A. ’

B.(—CHy,—-CH;, —),
¢(-O-CH,-CH, -0 -)

n

D.(—CHy— CH, -0 —),

Answer: A::C

° Watch Video Solution



https://dl.doubtnut.com/l/_uOmsIIvLxTwh
https://dl.doubtnut.com/l/_WIsQFo2A0lII

11. Terylene is prepared by condensing ethylene glycol with

A. phthalic acid
B. Isophthalic acid
C. Terephthalic acid

D. dimethyl terephthalate

Answer: C::D

o Watch Video Solution

12. The correct functional group x and the reagent reaction conditions 'y’

(i)Y
in the following scheme are X — (CH,), — C >
(ii) HOOC — (CHy) , — COOH

condensation polymer

AX = COOCHg, Y = Hz/Nl/heat
B.X = CONHz, Y = H2/N|/heat

C.X = CONH,,Y = Bry/NaOH


https://dl.doubtnut.com/l/_ko4KEer7OfVC
https://dl.doubtnut.com/l/_yZpU1SneRyWi

D.X = CN,Y = H,/Ni/heat

Answer: A::B::C::D

° Watch Video Solution

13. Hexamethelene diamine is monomer unit in

A. nylon 6,6

B. nylon 6,10

C.nylon 6

D. nylon 2,6

Answer: A::B

o Watch Video Solution

14. Phenol gives polymers on condensation with formadehyde


https://dl.doubtnut.com/l/_yZpU1SneRyWi
https://dl.doubtnut.com/l/_mVo1NoYlPX2M
https://dl.doubtnut.com/l/_DSMT4cNAj2FX

A. bekelite

B. Novolac

C. melamine

D. nylon 6

Answer: A::B

o Watch Video Solution

15. Glyptal polymer is obtained from phthalic acid by treating it with

A. malanic acid

B. glycerol

C. Maleic acid

D. ethylene glycol

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_DSMT4cNAj2FX
https://dl.doubtnut.com/l/_5ADSGuedgeRo

16. PCL polymer is a

A. copolymers polymer

B. Homo polymer

C. condensation polymer

D. addition polymers

Answer: B::C

° Watch Video Solution

Practice Sheet 5 Linked Comprehension Type Questions

1. These electron donating groups will be able to stabilize the chain
carrying carbocation intermediate. Greater the stability of the
carbocation intermediate, more facile is the cationic polymer

What is the following readily undergoes cataionic polymerization ?


https://dl.doubtnut.com/l/_5ADSGuedgeRo
https://dl.doubtnut.com/l/_jRq6PB7jw5cM
https://dl.doubtnut.com/l/_tGFAmYMmv10h

A. H,S50,

B. HF

C. BF;

D. All

Answer: D

o Watch Video Solution

2. These electron donating groups will be able to stabilize the chain
carrying carbocation intermediate. Greater the stability of the
carbocation intermediate, more facile is the cationic polymer
Which of the following readily undergoes cataionic polymerization ?
A.CHy, =CH - CN
B.CHy, = CH — CH;
C.CHy, = CH — Cy4H;

D. None


https://dl.doubtnut.com/l/_tGFAmYMmv10h
https://dl.doubtnut.com/l/_jyolkzIKLHK2

Answer: C

° Watch Video Solution

3. These electron donating groups will be able to stabilize the chain
carrying carbocation intermediate. Greater the stability of the
carbocation intermediate, more facile is the cationic polymer

In presence which group readily undergo vinylic cationic polymerization ?

A.—NO,
B.—CF3
C.—CCls
D.—CH,
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jyolkzIKLHK2
https://dl.doubtnut.com/l/_VDzWzujKAbJY

4. In this polymerization reaction, growing polystyrene radical which
normally would add on a polymer reacts with te chain transfer agent to
end the original chain

What is the initator in the vinylic free radical polymerization ?

A CeH; —CO -0 — 0O — 0OC — CgH;

B. H,S0,

C. Butyllithium

D. BF;

Answer: A

o Watch Video Solution

5. In this polymerization reaction, growing polystyrene radical which
normally would add on a polymer reacts with te chain transfer agent to
end the original chain

Which of the following are inhibitors?


https://dl.doubtnut.com/l/_8b9iSTXnDqAi
https://dl.doubtnut.com/l/_GwL68Fty8jes

A.phenols

B. quinones

C.amines

D. all

Answer: D

o Watch Video Solution

6. In this polymerization reaction, growing polystyrene radical which
normally would add on a polymer reacts with te chain transfer agent to
end the original chain

In presence of which group vinylic free radical polymerization readily

takes
A —NO,
B.—-CN

C.— CF;


https://dl.doubtnut.com/l/_GwL68Fty8jes
https://dl.doubtnut.com/l/_jR5sP1flljdd

D. — 06H5

Answer: D

° Watch Video Solution

Practice Sheet 5 Match The Following Questions

1. Match

List - 1

A) Cellulose
B) Nylon-b, &
C) Protem

Dy Sucrose

A. A-iv, B-iil, iv, C-ii, D-i

B. A-ii, B-i, iv, C-iii, D-iv

Answer: C

the

following columns

List - 1

i) Matural polymer

it} Synthetic polymer
it} Amide hnkage

iv) Glycoside hnkage



https://dl.doubtnut.com/l/_jR5sP1flljdd
https://dl.doubtnut.com/l/_JGmiIDOwOz8F

| o Watch Video Solution

2. Match the following columns
List - 1 - List - 11
(Polymer) {Monomers |
A) PGA 1) Lactic acid
B) PLA 1) b-Hyroxy Hexanoic acwd
)y PCL i) Olycolic scid
D) Nylon-2-Nylon-6 iv) Glycine and Amino Caprowe acid

A. A-iv, B-iii, C_ii, D-i

B. A-ii, B-i, C-iii, D-iv

C. A-iii, B-i, C-ii, D-iv

D. A-iii, B-l, C-ii, D-iv

Answer: C

° Watch Video Solution

Practice Sheet 5 Integer Answer Types Questions



https://dl.doubtnut.com/l/_JGmiIDOwOz8F
https://dl.doubtnut.com/l/_V6kgRsJtjkdw

1. How many of them are bio-degradable Ester linkage polymer

PHB, PHBV, PGA, Nylon-2,6, PCL

° Watch Video Solution

2. How many number carbon atoms in perlon L monomer ?

° Watch Video Solution

3. How many of them are more reactive than CHy; = C'H, in the cationic

polymerization ?

CH,=CH CH,=CH ,=CH CH, =CH
|
N © (cE ©
CH,

o Watch Video Solution



https://dl.doubtnut.com/l/_xHjFYDUGRfJw
https://dl.doubtnut.com/l/_RXcRhNHZYCOx
https://dl.doubtnut.com/l/_DsIzHGJnWzLZ

4. How many of them are more reactive than CHy; = C'H, in the anionic
polymerization

CH,=CH CH,=CH CHy,=CH CH,=CH
| | | \
NO: CH3 C2Hs CN

CH, =CH

Wi,

C 8

° Watch Video Solution



https://dl.doubtnut.com/l/_WjHOKPqCd49v

5. How many of the following polymeric structures are correctly matched

(Polymer) (Structure)
b Neoprene |l ~CH =CH -CH,-CH -~ CN =CH, -,

11) Gutta Percha ——[—CH, -CCl=CH -CH, -],

1) Buna-§ ——» _ >=<
H\C Me

CH.-CH,
fl

1V) Buna-N —a[—CH, ~-CH=CH-CH,-CH-CH, —].

-

° Watch Video Solution

6. The number of polymers havng stronger intermolecular forces of
attraction than Bakelite among the following is
(i) PTFE (ii) HDPE (iii) LDPE (iv) PVC (v) Dacron (vi) Rayon (vii) Vulcanized

rubber (viii) Nylon -66

° Watch Video Solution



https://dl.doubtnut.com/l/_vOKAEinJbPO2
https://dl.doubtnut.com/l/_J1uZut7CSP76
https://dl.doubtnut.com/l/_V0mPcSlt2trJ

1. How are the polymers classified based on heat treatment?

° Watch Video Solution

2. What is crosslinking in polymers ?

° Watch Video Solution

3.5i(CHj3),Cls is hydrolysed. What type of polymer is formed ?

° Watch Video Solution

4. A polymer is formed between ethylene dichloride and sodium

disulphide. Discuss.

° Watch Video Solution



https://dl.doubtnut.com/l/_V0mPcSlt2trJ
https://dl.doubtnut.com/l/_RQIX94pZLuKC
https://dl.doubtnut.com/l/_Kne4xMShvrOm
https://dl.doubtnut.com/l/_Sg15ouqJuh2Q

5. Alternating copolymers are commonest copolymers. Comment

o Watch Video Solution

6. What are plastics and plasticisers ?

o Watch Video Solution

7.What is the ozonolysis derivative of natural rubber ?

o Watch Video Solution

8. What are the differences between buna - Sand buna - N rubbers ?

o Watch Video Solution

9. Write the order of intermolecular forces in neoprene, nylon 6 and PVC.


https://dl.doubtnut.com/l/_BB28uItGbPmR
https://dl.doubtnut.com/l/_ylubagvOhrgy
https://dl.doubtnut.com/l/_CxQCsHpwBcTZ
https://dl.doubtnut.com/l/_zUHZyQp67gzC
https://dl.doubtnut.com/l/_F885wLwPT4Wv

° Watch Video Solution

10. Why the natural rubber is elastic ?

° Watch Video Solution

H;O+
1.CH;CHO + HCN — X —

Which type of polymer is formed from the organic compound Y?

o Watch Video Solution

12. Suggest the structure of nylon 2-nylon 6.

o Watch Video Solution

13. Write the main differences between the structures of starch and

cellulose.



https://dl.doubtnut.com/l/_F885wLwPT4Wv
https://dl.doubtnut.com/l/_zdJHqOze4bFJ
https://dl.doubtnut.com/l/_naTuyrbuLKiN
https://dl.doubtnut.com/l/_GYuL0MuM8sCR
https://dl.doubtnut.com/l/_sML8NPZ3UDk2

_ o Watch Video Solution

14. How is PTFE familiar commercially?

o Watch Video Solution

15. A vinyl polymer is a life saving substance as blood plasma. Write the

empirical and structural formula of its monomer.

o Watch Video Solution

16. How are the polymers classified based on heat treatment?

o Watch Video Solution

17.What is crosslinking in polymers ?

o Watch Video Solution



https://dl.doubtnut.com/l/_sML8NPZ3UDk2
https://dl.doubtnut.com/l/_PllzdrfUCLlG
https://dl.doubtnut.com/l/_VPrmMRym6JeW
https://dl.doubtnut.com/l/_f0ejJrcaKNCN
https://dl.doubtnut.com/l/_oRsWYsuChXqF

18. A polymer is formed between ethylene dichloride and sodium

disulphide. Discuss.

° Watch Video Solution

19. Si(CH3),Cly is hydrolysed. What type of polymer is formed ?

° Watch Video Solution

20. Alternating copolymers are commonest copolymers. Comment

° Watch Video Solution

21. What are plastics and plasticisers ?

° Watch Video Solution



https://dl.doubtnut.com/l/_oRsWYsuChXqF
https://dl.doubtnut.com/l/_1pZ5ugUWa7JM
https://dl.doubtnut.com/l/_Qbf7BDMR22hy
https://dl.doubtnut.com/l/_Dgbml05GOgIu
https://dl.doubtnut.com/l/_K2USREEDnHvM
https://dl.doubtnut.com/l/_rvWAvgtpHEZO

22. Classify the following polymers is to various types based on their
intermolecular forces.

a) Neoprene

b)Nylon-6, 6

c) polystyrene

d) Bakelite

° Watch Video Solution

23. Write the order of intermolecular forces in neoprene, nylon 6 and

PVC.

° Watch Video Solution

24.Why the natural rubber is elastic ?

° Watch Video Solution



https://dl.doubtnut.com/l/_rvWAvgtpHEZO
https://dl.doubtnut.com/l/_0Sl6GHhRBHIz
https://dl.doubtnut.com/l/_wuYtxLOlvXIw

25. Explain the difference between Buna -N and Buna-S..

o Watch Video Solution

26. What is the ozonolysis derivative of natural rubber ?

o Watch Video Solution

27.Suggest the structure of nylon 2-nylon 6.

o Watch Video Solution

28. Write the main differences between the structures of starch and

cellulose.

o Watch Video Solution



https://dl.doubtnut.com/l/_e6CspT70sDFb
https://dl.doubtnut.com/l/_GF366pyKvFe5
https://dl.doubtnut.com/l/_CGWuU2FT5cFX
https://dl.doubtnut.com/l/_S9nZoZYHGs8m

H,O0t
29.CH3;CHO + HCN — X ——

Which type of polymer is formed from the organic compound Y?

° Watch Video Solution

30. A vinyl polymer is a life saving substance as blood plasma. Write the

empirical and structural formula of its monomer.

° Watch Video Solution

31. How is PTFE familiar commercially?

° Watch Video Solution



https://dl.doubtnut.com/l/_3HODilVVN8xj
https://dl.doubtnut.com/l/_9zeJxW6dnTQC
https://dl.doubtnut.com/l/_0YB6SYNYxjm1

(1) KMnO, - KOH
(2) H,0*

KMHG.; {OH™
— e e

173K Y

CH; - (‘H:

32.

What is the main use of the polymer formed by X and Y?

- X

° Watch Video Solution

Subjective Exercise 1 Short Answer Questions

1. What are polymers? How are they formed?

o Watch Video Solution

2. How are polymers classified on the basis of structure ?

o Watch Video Solution



https://dl.doubtnut.com/l/_6Xm2hymzz4wB
https://dl.doubtnut.com/l/_cAKgUkAfNK0k
https://dl.doubtnut.com/l/_LaAq3K53GBc6

3. What are the classes of the polymer based on molecular forces ?

° Watch Video Solution

4. What are addition polymers, condensation polymers, homopolymers

and copolymers? Give examples.

° Watch Video Solution

5. What are polymers? How are they formed?

° Watch Video Solution

6. How are polymers classified on the basis of structure ?

° Watch Video Solution



https://dl.doubtnut.com/l/_LaAq3K53GBc6
https://dl.doubtnut.com/l/_lmXZjzj3qXdI
https://dl.doubtnut.com/l/_GGAIGXIw7aT0
https://dl.doubtnut.com/l/_vGwc51r0IqnI
https://dl.doubtnut.com/l/_SKQDWxANO5gl

7.What are the classes of the polymer based on molecular forces ?

° Watch Video Solution

8. What are addition polymers, condensation polymers, homopolymers

and copolymers? Give examples.

° Watch Video Solution

9. Discuss the mechanism and catalysts used in Cationic polymerisation

and anionic polymerisaiton.

° Watch Video Solution

Subjective Exercise 1 Very Short Answer Questions

1.1s —[CH; — CH(CsHs) — ],,-homopolymer or a copolymer ?



https://dl.doubtnut.com/l/_lN14ZLyW5hUQ
https://dl.doubtnut.com/l/_3mt5PLAHhx8v
https://dl.doubtnut.com/l/_9VQmNhVd9MUR
https://dl.doubtnut.com/l/_LRsNKNqHDQYu

| ° Watch Video Solution

2. Which of the following polumer is copolymer ?
a) Polythene b) Buna-S

c) Nylon 6, 6 d) Polyvinyl chloride

° Watch Video Solution

3. Give any two examples for semi-syntheticpolymers.

° Watch Video Solution

4. From what type if monomers are cross-linked polymers formed ?

° Watch Video Solution

5. Give an example of an addition polymer.



https://dl.doubtnut.com/l/_LRsNKNqHDQYu
https://dl.doubtnut.com/l/_PK94MBXjAre9
https://dl.doubtnut.com/l/_E2Art6lTw6vC
https://dl.doubtnut.com/l/_T95mf6Qor8m4
https://dl.doubtnut.com/l/_XsM8Ro3Z4kzh

I & Watch Video Solution I

6. Give an example of monomer in a condensation polymerization

reaction.

° Watch Video Solution

7.1s —[CHy; — CH(C¢Hs) — |,-homopolymer or a copolymer ?

° Watch Video Solution

8. Which of the following polumer is copolymer ?
a) Polythene

b) Buna-S

c) Nylon 6,6

d) Polyvinyl chloride

° Watch Video Solution



https://dl.doubtnut.com/l/_XsM8Ro3Z4kzh
https://dl.doubtnut.com/l/_kny1LDLby33m
https://dl.doubtnut.com/l/_v2ycKK4M4jkr
https://dl.doubtnut.com/l/_rXdlJ19BCqM8

9. Give any two examples for semi-syntheticpolymers.

o Watch Video Solution

10. From what type if monomers are cross-linked polymers formed ?

o Watch Video Solution

11. Give an example of an addition polymer.

o Watch Video Solution

12. Give an example of monomer in a condensation polymerization

reaction.

o Watch Video Solution



https://dl.doubtnut.com/l/_DCn5e6qlBIUe
https://dl.doubtnut.com/l/_KYbiMMfCQEJd
https://dl.doubtnut.com/l/_kDJ4fKQFurkt
https://dl.doubtnut.com/l/_gGUxwf6SWxCm

Subjective Exercise 2 Short Answer Questions

1. How is natural rubber isolated from vines and shaubs?

° Watch Video Solution

2. Write on the structural clucidation of natural rubber.

° Watch Video Solution

3. How are the physical properties of rubber improved by vulcanisation

process?

° Watch Video Solution

4. What are synthetic rubber ? Explain the preparation and uses of the
following

i) Neoprene ii) Buna -N iii) Buna -S


https://dl.doubtnut.com/l/_Ew8GAYwEJm5H
https://dl.doubtnut.com/l/_VyYLirUagtoS
https://dl.doubtnut.com/l/_GkQJjjY76tUv
https://dl.doubtnut.com/l/_61rJwaJdgdCx

° Watch Video Solution

5. How is natural rubber isolated from vines and shaubs?

° Watch Video Solution

6. Write on the structural clucidation of natural rubber.

° Watch Video Solution

7. How are the physical properties of rubber improved by vulcanisation

process?

° Watch Video Solution

8. Discuss the preparation and uses of biodegradable polyesters.

° Watch Video Solution



https://dl.doubtnut.com/l/_61rJwaJdgdCx
https://dl.doubtnut.com/l/_zI6pnzPsL1hY
https://dl.doubtnut.com/l/_MydaYTbuIgru
https://dl.doubtnut.com/l/_xHv8M0IfbZc3
https://dl.doubtnut.com/l/_LyPz4GWkgqpN

Subjective Exercise 2 Very Short Answer Questions

1. Define an elastomer.

° Watch Video Solution

2. What is cross linking agent used in vulcanization ?

° Watch Video Solution

3. Define an elastomer.

° Watch Video Solution

4. What is cross linking agent used in vulcanization ?

° Watch Video Solution



https://dl.doubtnut.com/l/_LyPz4GWkgqpN
https://dl.doubtnut.com/l/_Ev9hYcK9PnJz
https://dl.doubtnut.com/l/_PJlN7nM7Tqkm
https://dl.doubtnut.com/l/_RsPjOcgkFFe9
https://dl.doubtnut.com/l/_YDHXo7OSw9If

Subjective Exercise 3 Short Answer Questions

1. Write a note on the classification of carbohydrates. Mention the

important polysaccharides.

° Watch Video Solution

2. Structure of a polypetide and its shape can be examined at four

different levels. Discuss.

° Watch Video Solution

3. What is the need of biodegradable polymers ? Write examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_YDHXo7OSw9If
https://dl.doubtnut.com/l/_lC6F9FL8L1ho
https://dl.doubtnut.com/l/_oIyCGWKH1nJ5
https://dl.doubtnut.com/l/_hrYroTpyniWo

4. Discuss the preparation and uses of biodegradable polyesters.

° Watch Video Solution

5. Write a note on the classification of carbohydrates. Mention the

important polysaccharides.

° Watch Video Solution

6. Structure of a polypetide and its shape can be examined at four

different levels. Discuss.

° Watch Video Solution

7.What is the need of biodegradable polymers ? Write examples.

° Watch Video Solution



https://dl.doubtnut.com/l/_ylpf7pR31ZgR
https://dl.doubtnut.com/l/_wbtNPGnOcKkJ
https://dl.doubtnut.com/l/_fyuiYfHmx5Bk
https://dl.doubtnut.com/l/_GuhgfFYRL33p
https://dl.doubtnut.com/l/_oFjp5GSE6i5T

8. Discuss the preparation and uses of biodegradable polyesters.

o Watch Video Solution

Subjective Exercise 3 Very Short Answer Questions

1. Give the complete name for PHBV.

° Watch Video Solution

2.Is (NH — CHR — CO),, a homopolymer or a copolymer ?

° Watch Video Solution

3. Waite the name of momomers of the following polymers.

a)[- —CO—(CHy);—N— —] b)[— —CF,—CF, — —|]

n

° Watch Video Solution



https://dl.doubtnut.com/l/_oFjp5GSE6i5T
https://dl.doubtnut.com/l/_l3oCBYdSHFPb
https://dl.doubtnut.com/l/_grE33nhKMFlK
https://dl.doubtnut.com/l/_kzL4QDZHBKQk

4. Explain secondary structure of a protein.

° Watch Video Solution

5. What do you understand by a tertiary structure of protein ?

° Watch Video Solution

6. What is the necessity for the preparation of biodegradable polymers ?

° Watch Video Solution

7.What polymer is formed from glycollic acid ?

° Watch Video Solution



https://dl.doubtnut.com/l/_kzL4QDZHBKQk
https://dl.doubtnut.com/l/_bEuBP5QQbtJG
https://dl.doubtnut.com/l/_Ai8AjYMdaBkM
https://dl.doubtnut.com/l/_Htqv4XSnzi5c
https://dl.doubtnut.com/l/_gQqi6lJjQ08r

8. What is the monomer of polyactic acid ? Give its structure.

o Watch Video Solution

9. Give the complete name for PHBV.

o Watch Video Solution

10.1s (NH — CHR — CO),, a homopolymer or a copolymer ?

o Watch Video Solution

11. Waite the name of momomers of the following polymers.

a)[— —CO—(CHy); —N— -] b)[- —CF, —CF, — —|

n

o Watch Video Solution



https://dl.doubtnut.com/l/_eKwa0ws571hP
https://dl.doubtnut.com/l/_skdEk1JHjAym
https://dl.doubtnut.com/l/_PaWnFKSPinPL
https://dl.doubtnut.com/l/_7KjSGNHUqRKW

12. Explain secondary structure of a protein.

o Watch Video Solution

13. What do you understand by a tertiary structure of protein ?

o Watch Video Solution

14. What is the necessity for the preparation of biodegradable polymers

?

o Watch Video Solution

15. What polymer is formed from glycollic acid ?

o Watch Video Solution



https://dl.doubtnut.com/l/_Q1OO8yckXbk7
https://dl.doubtnut.com/l/_hZr6aOEF8SMt
https://dl.doubtnut.com/l/_JP1wWnG4IPj0
https://dl.doubtnut.com/l/_rMS751zwiXdi

16. What is the monomer of polyactic acid ? Give its structure.

o Watch Video Solution

Subjective Exercise 4 Short Answer Questions

1. Write the structures and uses of polythene, PVC, teflon, polystyrene and

polymethyl methacrylate.

° Watch Video Solution

2. What are the constituent monomers in the following polymers? Write
their uses.

(a) Nylon 6,6 and (b) Terylene.

° Watch Video Solution



https://dl.doubtnut.com/l/_rj4tsxMA2tfR
https://dl.doubtnut.com/l/_6G9eNuXBZGpJ
https://dl.doubtnut.com/l/_uhmlxrHrPMT9

3. Mention two synthetic polymers prepared using formaldehyde. Write

their structures and uses.

° Watch Video Solution

4. Write notes on different types molecular masses of polymers .

° Watch Video Solution

5. How are the molecular masses of polymers experimentally

determined?

° Watch Video Solution

6. Write the structures and uses of polythene, PVC, teflon, polystyrene and

polymethyl methacrylate.

° Watch Video Solution



https://dl.doubtnut.com/l/_EN2ISvXnH0Ms
https://dl.doubtnut.com/l/_J2EfeipQ4bGU
https://dl.doubtnut.com/l/_nVElQbY7gFEg
https://dl.doubtnut.com/l/_7vFLWoiKwszl

7. What are the constituent monomers in the following polymers? Write
their uses.

(a) Nylon 6,6 and (b) Terylene.

° Watch Video Solution

8. Mention two synthetic polymers prepared using formaldehyde. Write

their structures and uses.

° Watch Video Solution

9. Write notes on different types molecular masses of polymers .

° Watch Video Solution



https://dl.doubtnut.com/l/_7vFLWoiKwszl
https://dl.doubtnut.com/l/_JKKmpkXvdu8t
https://dl.doubtnut.com/l/_DRvIFfI3on4w
https://dl.doubtnut.com/l/_ypQSiGyzjs6v

10. How are the molecular masses of polymers experimentally

determined?

o Watch Video Solution

Subjective Exercise 4 Very Short Answer Questions

1. Explain the difference between Buna -N and Buna-S.

° Watch Video Solution

2. Name one monomer used in the polymer.

o o

I I
— —C — (CHy); —C — NH — (CH,), — NH — —

° Watch Video Solution



https://dl.doubtnut.com/l/_dab9Z6ZaeVD6
https://dl.doubtnut.com/l/_T3ZUeKs9Cetq
https://dl.doubtnut.com/l/_VlDjzBEv4ip4

3. What are the most common type of molecular weights used in the case

of polymers ?

° Watch Video Solution

4. Explain the difference between Buna -N and Buna-S .

° Watch Video Solution

5.Name one monomer used in the polymer.

o o

I I
— —C — (CHy); — C — NH — (CH,), — NH — —

° Watch Video Solution

6. What are the most common type of molecular weights used in the case

of polymers ?

| e |


https://dl.doubtnut.com/l/_pT8JIVabOJg5
https://dl.doubtnut.com/l/_enmsSbQzNsJh
https://dl.doubtnut.com/l/_9PnF7OnZLrsf
https://dl.doubtnut.com/l/_UEnZqxNv0vKo

I & Watch Video Solution

Objective Exercise 1 Classification And Polymerisation Process

1. Which is an example of thermo setting polymer

A. Polythene

B. PVC

C. Neoprene

D. Bakelite

Answer: D

° Watch Video Solution

2. Which of the following is a chain growth polymer

A. Nucleic acid


https://dl.doubtnut.com/l/_UEnZqxNv0vKo
https://dl.doubtnut.com/l/_ZiqD5p3NGdCg
https://dl.doubtnut.com/l/_mYr6UwJqXi60

B. Polystyrene

C. Protein

D. Styrene

Answer: B

° Watch Video Solution

3. Which of the following is incorrect

A. Polyethylene contains double bonds

B. The monomer used to make teflon is CF,

C. Condensation polymers are also known as step growth polymers.

D. A denatured protein could have the same primary structure as the

active protein

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_mYr6UwJqXi60
https://dl.doubtnut.com/l/_5u0IRWf0zIkh

4. A co-polymer is one in which

A. two monomers undergo condensation

B. there is excessive cross linking

C. extensive hydrogen bonding

D. repeating unit contains two different monomers

Answer: D

o Watch Video Solution

5. Natural polymer among the following is

A. Cellulose

B. PVC

C. Teflon


https://dl.doubtnut.com/l/_5u0IRWf0zIkh
https://dl.doubtnut.com/l/_3c3jDFaI7ztM
https://dl.doubtnut.com/l/_X43HlHWsqWsU

D. Polyethylene

Answer: A

° Watch Video Solution

6. Inorganic polymer among the following is

A. Rayon

B. Starch

C.Silicone rubber

D. Natural rubber

Answer: C

o Watch Video Solution

7.Thermoplastic polymer among the following is


https://dl.doubtnut.com/l/_X43HlHWsqWsU
https://dl.doubtnut.com/l/_rlNfatLg4jLd
https://dl.doubtnut.com/l/_efP51CjbUBlp

A. Bakellite

B. Urea formaldehyde resin

C. Polysiloxanes

D. PVC

Answer: D

o Watch Video Solution

8. Polymerization of iso butene is mostly initiated by

A. a cation

B. a free radical

C. an anion

D. Zwitter ion

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_efP51CjbUBlp
https://dl.doubtnut.com/l/_Xc6wMiEznHY9

9. In which one of the following type of polymerization generally no

initiator is required

A. Cationic polymerization

B. Anionic polymerization

C. Free radical polymerization

D. Condensation polymerization

Answer: D

° Watch Video Solution

10. The catalyst used for the polymerisation of olefins is

A. Ziegler natta catalyst

B. Wilkinson's catalyst

C. pd-catalyst


https://dl.doubtnut.com/l/_Xc6wMiEznHY9
https://dl.doubtnut.com/l/_m79gfBlXW1EN
https://dl.doubtnut.com/l/_ZJajWzm8Tc4f

D. Zeise's salt catalyst

Answer: A

o Watch Video Solution

1. Terylene is

A. An addition polymer with a benzene ring in every repeating unit

B. A condensation polymer with benzene ring in every repeating unit

C. An addition polymer with two carbon atoms in every repeating

unit

D.A condensation polymer with two nitrogen atoms in every

repeating unit

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_ZJajWzm8Tc4f
https://dl.doubtnut.com/l/_dpQsYlOFb4g2
https://dl.doubtnut.com/l/_rdyLKo9m2Sfl

12. Monomers are converted to polymers by

A. Hydrolysis of monomers

B. Condensation reaction between monomers

C. Protonation of monomers

D. None of these

Answer: B

o Watch Video Solution

13. Statement 1 : The order of extent of attractive forces between
monomers is fibres > thermoplastic polymers > elastomers

Statement Il : Thermoplastic polymers become soft on heating

Statement Ill : Thermosetting polymers become hard on heating Correct

statement is/are

A All


https://dl.doubtnut.com/l/_rdyLKo9m2Sfl
https://dl.doubtnut.com/l/_9B58ZMbo7l3a

B.Only Il

C.Only 1

D.Only |

Answer: A

° Watch Video Solution

14. Which of the following is an example of condensation polymer (or)

Which of the following is not an example of addition polymer

A. Polythene

B. PVC

C.Orlon

D. Terylene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_9B58ZMbo7l3a
https://dl.doubtnut.com/l/_99HcBClO1ob0

15. Which among the following is a semi synthetic polymer.

A. Cellulose rayon
B. Acrylonitrile
C. Cellulose nitrate

D.Both 1& 3

Answer: D

o Watch Video Solution

16. Linear polymer among the following is

A. Melamine
B. Starch
C. Bakelite

D. Polyvinylchloride


https://dl.doubtnut.com/l/_99HcBClO1ob0
https://dl.doubtnut.com/l/_7n7zJbih1Q8Z
https://dl.doubtnut.com/l/_o6m3poofHU6O

Answer: D

° Watch Video Solution

17. Which among the following is a branched chain polymer.

A. LDPE

B. Nylon

C. Phenol formaldehyde resin

D. Terylene

Answer: A

° Watch Video Solution

18. Cross linked polymer among the following is

A. Polythene


https://dl.doubtnut.com/l/_o6m3poofHU6O
https://dl.doubtnut.com/l/_ciLXKpZCSI8m
https://dl.doubtnut.com/l/_kzJtPVBfFoKa

B. LDPE
C. Melamine formaldehyde resin

D. Nylon 6,6

Answer: C

° Watch Video Solution

19. Elastomers among the following are

A. Buna-N
B. Buna-S

C. Neoprene

D. All

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_kzJtPVBfFoKa
https://dl.doubtnut.com/l/_S3NUod555AwY

Objective Exercise 1 Natural Rubber

1. The process involving heating of rubber with sulphur is called

A. Galvanisation

B. Vulcanisation

C. Bessemerisation

D. Sulphonation

Answer: B

° Watch Video Solution

2. Rubber latex is which type of emulsion

A. oil in oil

B. water in oil

C. oil in water


https://dl.doubtnut.com/l/_KmYvSw06l5Lw
https://dl.doubtnut.com/l/_zhf43GSPX1Um

D. solid in water

Answer: C

° Watch Video Solution

3. Natural rubber is a polymer of (or) the monomer of natural polymer

rubber is

A. Butadiene

B. Ethyne

C.Isoprene

D. Styrene

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_zhf43GSPX1Um
https://dl.doubtnut.com/l/_HRKm44fs17t8

4, Natural rubber is

A. condensation polymer

B. Addition polymer

C. Coordination polymer

D. All

Answer: B

o Watch Video Solution

5.The vulcanized rubber has

A. high water absorbing tendency

B. low elasticity

C. high sensitivity to heat treatment

D. high resistance to chemical oxidation


https://dl.doubtnut.com/l/_onBZlsT6giiu
https://dl.doubtnut.com/l/_WQzqrh0SElCp

Answer: D

° Watch Video Solution

6. Natural rubber is a

A. Trans isomer

B. cis isomer

C. contains equal amounts of cis and trans isomers

D. racemic mixture

Answer: B

° Watch Video Solution

7.Empirical formula and molecular formula of monomer of natural rubber

are respectively


https://dl.doubtnut.com/l/_WQzqrh0SElCp
https://dl.doubtnut.com/l/_Slz940H2sjUq
https://dl.doubtnut.com/l/_M4LRmfLKPF3O

B.CsHg, (CsHs),,

C.C,Hg, CyHy

D. C5H12, C5H8

Answer: A

o Watch Video Solution

8.The synthetic polymer which resembles natural rubber is

A. Neoprene

B.Buna-S

C. Nylon

D. Rayon

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_M4LRmfLKPF3O
https://dl.doubtnut.com/l/_wyRHLJyiiwbQ

Objective Exercise 1Bio Degradable Polymers

1. Which of the following is not a natural polymer

A. Cellulose

B. Protein

C.PVC

D. Nucleic acid

Answer: C

o Watch Video Solution

2. Which of the following is not a polymer

A. Silk

B. DNA


https://dl.doubtnut.com/l/_wyRHLJyiiwbQ
https://dl.doubtnut.com/l/_ALuUPBt2Ktjv
https://dl.doubtnut.com/l/_xUNQs6MakrZF

C.DDT

D. Dextrin

Answer: C

o Watch Video Solution

3. Alinear product of phenol and formaldehyde is used

A. In paints

B. In explosives

C. gears

D. In alestils

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_xUNQs6MakrZF
https://dl.doubtnut.com/l/_p4KqsoVJMap9

4. Which of the following is a polymer containing nitrogen

A. Terylene

B. polythane

C.PVC

D. Nylon

Answer: D

° Watch Video Solution

5.1n elastomers intermolecular forces are

A. weak

B. strong

C. very strong

D. nil


https://dl.doubtnut.com/l/_dxm3T4MUValA
https://dl.doubtnut.com/l/_z8NPEFD6u0xQ

Answer: A

° Watch Video Solution

6. Which of the following is a biodegradable polymer

A. Cellulose

B. Polythene

C.PVC

D. Nylon 6

Answer: A

° Watch Video Solution

7. Polymer used in making capsules

A. Poly glycolic acid


https://dl.doubtnut.com/l/_z8NPEFD6u0xQ
https://dl.doubtnut.com/l/_M5cY16tNiSEe
https://dl.doubtnut.com/l/_qXklCfa8MBiR

B. Poly lactic acid

C. Nylon-2-Nylon-6

D. PHBV

Answer: D

° Watch Video Solution

Objective Exercise 1 Commercially Important Polymers

1. The raw materials used in Nylon - 6 is

A. Adipic acid

B. Phthalic acid

C. Ethylene glycol

D. Caprolactam

Answer: D



https://dl.doubtnut.com/l/_qXklCfa8MBiR
https://dl.doubtnut.com/l/_XrPT3ZfTnN1u

l ° Watch Video Solution

2. A polymer commonly used for making nonstick cookware is

A.SBR

B. Teflon

C.PVC

D. Poly ethyl acrylate

Answer: B

° Watch Video Solution

3. Nylon threads are made of

A. Polyethylene polymer

B. Polyvinyl polymer

C. Polyester polymer


https://dl.doubtnut.com/l/_XrPT3ZfTnN1u
https://dl.doubtnut.com/l/_8WUPhWMqu4t0
https://dl.doubtnut.com/l/_wusPwIVBI8Jc

D. Polyamide polymer

Answer: D

° Watch Video Solution

Pysolysis 1000 — 200atm
4. H3;C — CH; > A >
RCOOOCOR

ziegler-natta
A
catalyst

Here B and C are respectively

A. LDPE, HDPE

B. HDPE, LDPE

C. LDPE, LDPE

D. HDPE, HDPE

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_wusPwIVBI8Jc
https://dl.doubtnut.com/l/_7X83ST1MxjCw
https://dl.doubtnut.com/l/_mudaEgNuXCv2

5. The polymer used in the manufacture of electrical goods such as

switches,plugs etc is

A. Polythene

B. Bakelite

C. Neoprene

D. PHBV

Answer: B

o Watch Video Solution

6. During the polymerization of ethylene hybridization of 'C' changes from

to

A sp2, sp
B. sp2, sp3

C. sp, sp2


https://dl.doubtnut.com/l/_mudaEgNuXCv2
https://dl.doubtnut.com/l/_n8MCTKUZWxWs

D. sps, 3p2

Answer: C

o Watch Video Solution

7.1n the name Nylon - 6, 6, the numbers 6,6 represents

A.the number of monomer molecules from which the polymer

formed

B. types of monomers from which the polymer formed

C.number of carbon atoms present in the two types of monomers'

from which the polymer formed

D. number of oxygen atoms present in the two types of monomers

from which the polymer formed

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_n8MCTKUZWxWs
https://dl.doubtnut.com/l/_PAigjlYSHWLv

8. When acetylene passed through red hot Fe tube hybridization of C
changes from to
A spzsp3
B. sp, sp2
3
C. sp, sp°d

D. spz, sp

Answer: B

o Watch Video Solution

9. Orlon is a polymer of

A. Styrene

B. Acrylonitrile

C.Vinyl chloride


https://dl.doubtnut.com/l/_PAigjlYSHWLv
https://dl.doubtnut.com/l/_msmrZa4gTnxc
https://dl.doubtnut.com/l/_I70Z05mez4MT

D. 02F4

Answer: B

° Watch Video Solution

10. Which one of the following cannot be used as monomer in a

polymerization reaction

A 02H4

B. C2H2

C. C2H6

D. CyH

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_I70Z05mez4MT
https://dl.doubtnut.com/l/_RkaMfWlHYzRi

11. Catalyst used in the polymerisation of ethylene is

A Ag

B. O,

C. Nt

D. Pd + BGSO4

Answer: B

o Watch Video Solution

12. The catalyst used in the manufacture of SBR

A Pt

B. N7

C. Coke

D. Na


https://dl.doubtnut.com/l/_kEhkdx2dVrDw
https://dl.doubtnut.com/l/_mbKQSY7Gtohd

Answer: D

° Watch Video Solution

13. Characterstic property of teflon is

A. 2000 poise viscosity
B. high surface tension

C.non - inflammable and resistant to heat

D. high reactive

Answer: C

° Watch Video Solution

14. Which compound/set of compounds is used in the manufacture of

Nylon-6,67



https://dl.doubtnut.com/l/_mbKQSY7Gtohd
https://dl.doubtnut.com/l/_BDKpH0MSQapM
https://dl.doubtnut.com/l/_VAstSaH35V8O

A. hexamethylene diamine and ethylene glycol

B. adipic acid and ethylene glycol

C. adipic acid and hexamethylene diamine

D. dimethyl terepthalate and ethylene glycol

Answer: C

o Watch Video Solution

15. Terylene is the polymer of

A. Ethylene glycol and terepthalic acid

B. Melamine and formaldehyde

C.Vinyl chloride and formaldehyde

D. hexamethylene diamine and adipic acid

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_VAstSaH35V8O
https://dl.doubtnut.com/l/_IGwL8Q5VvABN

16. PVC is used for

A. Manufacture of cosmetics

B. Manufacture of tyres

C. Manufacture of non-stick pans

D. Manufacture of plastic pipes

Answer: D

o Watch Video Solution

17. Which of the following has ester linkage

A. Nylon-6,6

B. PVC

C.Terylene


https://dl.doubtnut.com/l/_IGwL8Q5VvABN
https://dl.doubtnut.com/l/_1XO3h7JpYVax
https://dl.doubtnut.com/l/_rFYCcITDGWBl

D.SBR

Answer: C

° Watch Video Solution

18. The synthetic polymer which resembles natural rubber is

A. Neoprene

B. PMMA

C. Glyptal

D. Nylon

Answer: A

o Watch Video Solution

19. Bakelite is obtained from phenol by reacting with


https://dl.doubtnut.com/l/_rFYCcITDGWBl
https://dl.doubtnut.com/l/_A9RTaO1CtZfP
https://dl.doubtnut.com/l/_FZZIdOSY7Zyj

A.CH;CHO
B. CH;COCH;
C. HCHO

D. (CH,OH),

Answer: C

° Watch Video Solution

Objective Exercise 1 Assertion And Reason Type

1. (A): Styrene is more reactive than propylene towards cationic

polymerization.

(R): The carbocation resulting from styrene is more stable than that

resulting from propylene.

A.Both A& R are true, R is the correct explanation of A

B.Both A & R are true, Ris not correct explanation of A


https://dl.doubtnut.com/l/_FZZIdOSY7Zyj
https://dl.doubtnut.com/l/_PAgxN3n7ysA6

C.Ais true, R is false

D.Ais false,R is true

Answer: A

° Watch Video Solution

2. (A) : Natural rubber is polyisoprene.
(R): Natural rubber gives 2-methyl 1, 3 butadiene when it is heated to high
temperature in the absence of air.

A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, Ris not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_PAgxN3n7ysA6
https://dl.doubtnut.com/l/_AlhaNEggWIbY

3. (A): Molecular mass of polymers is always expressed as an average.

(R) : Generally, a polymer sample contains chains of varying lengths.

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, Ris not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

4.(A): F5C = CF,,is the monomer of teflon.

(R): Polytetrafluoroethylene is commonly called teflon.

A.Both A & R are true, R is the correct explanation of A

B.Both A & R are true, Ris not correct explanation of A


https://dl.doubtnut.com/l/_AlhaNEggWIbY
https://dl.doubtnut.com/l/_gMAiWZQmNKN3
https://dl.doubtnut.com/l/_9TCZYcsNG2Nh

C.Ais true, R is false

D.Ais false,R is true

Answer: B

° Watch Video Solution

5. (A): The chains of nylon-6, 6 are held by hydrogen bonding forces.

(R): Intermolecular hydrogen bonding leads to molecular association.

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, Ris not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_9TCZYcsNG2Nh
https://dl.doubtnut.com/l/_mg3nz9CzPig7
https://dl.doubtnut.com/l/_LxOw0vcZ4Oe6

6. (A) : Natural rubber and gutta percha are examples of cis-trans isomers.

(R) : Cis-trans isomerism arises due to the difference of geometrical

arrangement of two different groups on the double bonded carbon

atoms.

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, Ris not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

7. (A): Styrene is more reactive than propylene towards cationic
polymerization.
(R): The carbocation resulting from styrene is more stable than that

resulting from propylene.


https://dl.doubtnut.com/l/_LxOw0vcZ4Oe6
https://dl.doubtnut.com/l/_5lyKvx1Zd4YU

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, Ris not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

8. (A): Nylon-6 is obtained by polymerization of caprolactam.

(R): Nylon-6 is a polyamide.

A.Both A& R are true, R is the correct explanation of A

B.Both A & R are true, Ris not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: B



https://dl.doubtnut.com/l/_5lyKvx1Zd4YU
https://dl.doubtnut.com/l/_3YYrd2GFJ9MT

| o Watch Video Solution

9. (A) : Molecular mass of polymers is always expressed as an average

(R) : Generally, a polymer sample contains chains of verying lengths

A.Both A & R are true, R is the correct explanation of A

B. Both A & R are true, Ris not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

10. (A): Management of polymer solid waste created acute environmental
problems

(R): In general polymer resist the natural degradation process.


https://dl.doubtnut.com/l/_3YYrd2GFJ9MT
https://dl.doubtnut.com/l/_nsAdEh7EPuzZ
https://dl.doubtnut.com/l/_OZepgFAiqgQk

A.Both A& R are true, R is the correct explanation of A

B.Both A & R are true, Ris not correct explanation of A

C.Ais true, R is false

D. Ais false, R is true

Answer: A

o Watch Video Solution

Objective Exercise 2

1. Which of the following is fully fluorinated polymer

A. Neoprene
B. Teflon
C. Thiokol

D. PVC


https://dl.doubtnut.com/l/_OZepgFAiqgQk
https://dl.doubtnut.com/l/_8WPQXerCIcYG

Answer: B

° Watch Video Solution

2. Polymer formation from monomers starts by

A. Condensation reaction between monomers

B. Co-ordination reaction between monomers

C. Conversion of monomer to monomer ions by protons

D. Hydrolysis of monomers

Answer: A

° Watch Video Solution

3. In the polymerization of acrylonitrile, most commonly used initiator is

A. a cation


https://dl.doubtnut.com/l/_8WPQXerCIcYG
https://dl.doubtnut.com/l/_Xn5MmZNW0ytt
https://dl.doubtnut.com/l/_1ufK13cXl3CL

B. an anion

C. a free radical

D. Zwitter ion

Answer: B

° Watch Video Solution

4. Correct statement among the following is

A. All macromolecules are polymers

B. Physical and mechanical properties of a polymer are similar to its

monomer

C. Majority of bonds in polymer molecule are covalent

D. Vitamins are polymers

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_1ufK13cXl3CL
https://dl.doubtnut.com/l/_hVzm5eLem938

5.Initiators that can be used in cationic polymerization is/are
(a) KNH, (b) H,SO,
(c) BF}; with little amount of H,O (d) t-butyl peroxide
The correct answer is
A. All are correct
B.only 1

C.only2and 3

D.only1and 4

Answer: C

o Watch Video Solution

6. Which of the following is elastomer

A.Buna-N


https://dl.doubtnut.com/l/_hVzm5eLem938
https://dl.doubtnut.com/l/_l1NF6w6kVXag
https://dl.doubtnut.com/l/_bExls00XPWip

B.Buna -S

C. Neoprene

D. All

Answer: D

° Watch Video Solution

7.Natural rubber is a polymer of

A.CH, = CH — CH = CH,
CH;

B.CH, = CH_G — CH,
CH; CHj;

| |
CCHy;,=C —C =CH;

D.CHy = CH — CHy; — CHjy

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_bExls00XPWip
https://dl.doubtnut.com/l/_Ebrfk5DRsR39

8. Which of the following can be used as monomer in polymerixation

reaction

A.CH3CH,Cl

B.CHsCH,OH

C. C6H6

D. C3Hg

Answer: D

o Watch Video Solution

9. An example of natural biopolymer is

A. Teflon

B. Nylon-6,6

C.Rubber


https://dl.doubtnut.com/l/_Ebrfk5DRsR39
https://dl.doubtnut.com/l/_WfJzz1KaiQNC
https://dl.doubtnut.com/l/_aPhgFLugsS3J

D. DNA

Answer: D

° Watch Video Solution

10. Common monomer in glyptal and terylene is

A. Ethylene glycol

B. Phthalic acid

C. Phenol

D. Formaldehyde

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_aPhgFLugsS3J
https://dl.doubtnut.com/l/_ND1nTMMJnA5c

1. Which of the following polymer has the emperical formula identical

with that of it monomer

A. Teflon

B. Nylon - 6,6

C. Dacron

D. Bakelite

Answer: A

o Watch Video Solution

12. Which among in following is a chain growth polymer

A. Nylon

B. Bakelite

C. Terylene

D. Teflon


https://dl.doubtnut.com/l/_7zGDKETplGOZ
https://dl.doubtnut.com/l/_DmGYvilyDhZF

Answer: D

° Watch Video Solution

13. Monomers of which one of the following biodegradable polymer are

amino acids

A. Polyglycolic acid

B. PHBV

C. Nylon-6

D. Nylon-2-Nylon-6

Answer: D

° Watch Video Solution

14. Which among the following is a step growth polymer


https://dl.doubtnut.com/l/_DmGYvilyDhZF
https://dl.doubtnut.com/l/_CyF1Ps1J0bsp
https://dl.doubtnut.com/l/_D1dIpijIqAVd

A. PTFE

B. PVC

C. polyster

D. Polyethylene

Answer: C

° Watch Video Solution

15. Which of the following is a biodegradable polymer?

A. Polythene

B. Bakelite

C. PHBV

D. PVC

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_D1dIpijIqAVd
https://dl.doubtnut.com/l/_KHPwx9xVVsMN

16. The monomer of poly acrylonitrile is

A.Vinyl chloride

B. Vinyl alcohol

C.Vinyl cyanide

D. Adipic acid

Answer: C

o Watch Video Solution

17. Which of the following monomers gives the polymer neoprene on

polymerisation?

A.CH, = CHCI

B.Cl,C = CCl,


https://dl.doubtnut.com/l/_KHPwx9xVVsMN
https://dl.doubtnut.com/l/_IzChgLdR3cah
https://dl.doubtnut.com/l/_GaYtGuEi5iUr

C.C’H2=|C’—C’H:C’H2

Cl

D.CFy = CF)

Answer: C

° Watch Video Solution

CH;

18. Monomerof | —C —CH, | is

CHj n

A. 2-methyl propene
B. Styrene
C. Propylene

D. Ethene

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_GaYtGuEi5iUr
https://dl.doubtnut.com/l/_s759oZIa5VU4
https://dl.doubtnut.com/l/_liRUZXXCw9Qb

19.BuNa - N is a polymer of

A. Butadiene

B. Butadiene and sodium acetanilide

C. Butadiene and styrene

D. Butadiene and vinyl cyanide

Answer: D

° Watch Video Solution

20. Thermoplastics are

A. Linear polymers

B. Soften or melt on heating

C. Molten polymer can be moulded in desired shape

D. All


https://dl.doubtnut.com/l/_liRUZXXCw9Qb
https://dl.doubtnut.com/l/_cRdsL6oeV8Eu

Answer: D

° Watch Video Solution

21. Which of the following can not be grouped as polyolefin ?

A. polyethene
B. olypropene
C. polystyrene

D. bakelite

Answer: D

° Watch Video Solution

22.The monomer of the polymer

CH, CHj
| |

- CH,—C —-CHy;—-C —CH, -
| |
CH, CH,


https://dl.doubtnut.com/l/_cRdsL6oeV8Eu
https://dl.doubtnut.com/l/_FhCQFQg0Umh4
https://dl.doubtnut.com/l/_1VpjSMlQ25zy

A H,C = C(CHj),
B.(CH;),C = C(CH;),
C.CH,CH = CH. CH,

D.CH,. CH = CH,

Answer: A

o Watch Video Solution

23. Which of the following polymer is an example of fibre ?

A. Silk

B. Dacron

C. Nylon 66

D. All of these

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_1VpjSMlQ25zy
https://dl.doubtnut.com/l/_DwPW4EhHAgB3

24.Terylene is a

A. Polyamide

B. Polyester

C. Polyethen

D. Lonchain hydrocarbon

Answer: B

o Watch Video Solution

25.— [NH — (CHy)s — NH — CO — (CH,), — CO], —

A. Homo polymer
B. Co-polymer & Nylon-6,6

C. Addition polymer


https://dl.doubtnut.com/l/_DwPW4EhHAgB3
https://dl.doubtnut.com/l/_Cnew4AcFoh0K
https://dl.doubtnut.com/l/_AYZd8iOXcBTw

D. Thermosetting polymer

Answer: B

° Watch Video Solution

26. Nylon-6 is not a

A. Condensation polymer

B. Polyamide

C. Copolymer

D. Homopolymer

Answer: C

o Watch Video Solution

27. Which of the following is not correct regarding terylene ?


https://dl.doubtnut.com/l/_AYZd8iOXcBTw
https://dl.doubtnut.com/l/_spWmE1wzj9tS
https://dl.doubtnut.com/l/_jf6O2eWHcVe6

A. Step growth polymer

B. Synthetic fibre

C. Condensation polymer

D. Thermosetting plastic

Answer: D

o Watch Video Solution

28.PVC is prepared by the polymerisation of

A. Ethylene

B. 1- Chloro propene

C. Propene

D. Chloroethene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_jf6O2eWHcVe6
https://dl.doubtnut.com/l/_yBf7TpSix13h

29.1, 3-Butadiene and styrene on polymerisation give

A. Bakelite

B. Terylene

C.Buna-S

D. Teflon

Answer: C

o Watch Video Solution

30. Which of the following is fully fluorinated polymer

A. Neoprene

B. Teflon

C. Thiokol


https://dl.doubtnut.com/l/_yBf7TpSix13h
https://dl.doubtnut.com/l/_HSlYPesoBIzS
https://dl.doubtnut.com/l/_IPbsLIeUQG4U

D. PVC

Answer: B

° Watch Video Solution

31. Polymer formation from monomers starts by

A. Condensation reaction between monomers
B. Co-ordination reaction between monomers
C. Conversion of monomer to monomer ions by protons

D. Hydrolysis of monomers

Answer: A

o Watch Video Solution

32. Correct statement among the following is


https://dl.doubtnut.com/l/_IPbsLIeUQG4U
https://dl.doubtnut.com/l/_284Wwjed71Fn
https://dl.doubtnut.com/l/_ZnfiBXL36fly

A. All macromolecules are organic polymers

B. Physical and mechanical properties of a polymer are similar to its

monomer

C. Majority of bonds in polymer molecule are covalent

D. Vitamins are polymers

Answer: C

o Watch Video Solution

33.In the polymerization of acrylonitrile, most commonly used initiator is

A. A cation

B. An anion

C. A free radical

D. Zwitter ion

Answer: B


https://dl.doubtnut.com/l/_ZnfiBXL36fly
https://dl.doubtnut.com/l/_fkEPKBaRWUyW

° Watch Video Solution

34. Which of the following is elastomer

A. Buna-N

B.Buna -S

C. Neoprene

D. All

Answer: D

o Watch Video Solution

35. Initiators that can be used in cationic polymerization is/are
(@) KNH; (b) H,50,4
(c) BFj5 with little amount of H,O (d) t-butyl peroxide

The correct answer is


https://dl.doubtnut.com/l/_fkEPKBaRWUyW
https://dl.doubtnut.com/l/_5oPWch7SMvXl
https://dl.doubtnut.com/l/_BjwdTVb9OTkH

A. All are correct

B.Only a

C.Onlybandc

D.Onlyaandd

Answer: C

o Watch Video Solution

36. Which of the following statements about terylene are correct ?

A) It is a poly ester

B) It is obtained by the reaction between ethylene glycol and terephthalic
acid

Q) It is a condensation polymer

D) It is a natural polymer

A.Aand B

B.Cand D


https://dl.doubtnut.com/l/_BjwdTVb9OTkH
https://dl.doubtnut.com/l/_MCFcGUKQOCiP

C.A,Band C

D.A,Band D

Answer: C

o Watch Video Solution

37. Which of the following is an example of co-polymer ?

A. PTFE

B. Perlon-L

C. Neoprene

D. PET

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_MCFcGUKQOCiP
https://dl.doubtnut.com/l/_IgtU4LqfYw7R

38. Vinyl polymers are also known as
A) Additional polymers
B) Chain reaction polymers
C) Condensation Polymers
The correct answer is
A.Aonly
B. B only

C.AandB

D.A,Band C

Answer: C

o Watch Video Solution

39. Chain initiation and chain propagation steps are involved in
a) Cationic polymerization

b) Anionic polymerization


https://dl.doubtnut.com/l/_eg6ctzKjVj0m
https://dl.doubtnut.com/l/_AjkzGd5yCEhp

Free radical polymerization

d) Condensation polymerization

The correct answer is

A All

B.Onlya,band c

C.Onlya

D.Onlyaand c

Answer: B

o Watch Video Solution

40. IUPAC names of monomers in Nylon-6,6 are

A. Ethylene glycol, terephthalic acid

B. Adipic acid, hexamethylenediamine

C. Butane dionic acid, Hexane 1, 6-diamine


https://dl.doubtnut.com/l/_AjkzGd5yCEhp
https://dl.doubtnut.com/l/_z1SX3W1PBkj9

D. Hexanedioic acid, Hexane-1, 6-diamine

Answer: D

° Watch Video Solution

41. Which one of the following polymer can be softened and hardened

repeatedly on heating and cooling without change in its property ?

A. Bakellite

B. Polysiloxane

C. Urea formaldehyde resin

D. PVC

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_z1SX3W1PBkj9
https://dl.doubtnut.com/l/_nSdg37dThNNt

42.Vinyl derivatives undergo which type of polymerization

A. cationic polymerization only

B. anionic polymerization only

C. condensation polymerization only

D. cationic (or) anionic (or) free radical polymerization

Answer: D

o Watch Video Solution

43. Identify from the following the monomers which undergo
condensation polymerization

1) H3C = CH-CH = CH,

2)F,C = CF,

3)H,C = CHCI


https://dl.doubtnut.com/l/_Lsk1o4YpyR6q
https://dl.doubtnut.com/l/_QJFmrEn89qOk

1) H,C=CH - CH =

2) F,C =CF,

C O
4]
) NH

6) (H,C),C = CH,

4)

6) (H3C)2C - CH2
A. 3,5
B.1,3
C.1,6

D.4,5

Answer: D

CH,
3) H,C = CHC!

CO,H
5)

CO,H

° Watch Video Solution

44. Which one of the following statements is not correct ?



https://dl.doubtnut.com/l/_QJFmrEn89qOk
https://dl.doubtnut.com/l/_mXEdTpJLNuiV

A. Nylon 6, 6 is an example for fibre

B. Polvisonrene is synthetic rubber

C. PLoyvinyl chloride is a thermoplastic

D. Backlite is a thermoplastic plymer

Answer: B

o Watch Video Solution

45. (CHs),SICI is used during polymerization of organosilicons
because
A.The chain length of organosilicon polymers can be controlled by
adding (CH;),SICI
B. (CH3),SICI improves the quality and yield of the polymer
C. (CHj3),SICI does not block the end terminal of silicone polymer

D. (CHj3)3SICI acts as a catalyst during polymerisation


https://dl.doubtnut.com/l/_mXEdTpJLNuiV
https://dl.doubtnut.com/l/_fPGF4IBCtpTv

Answer: A

° Watch Video Solution

46. Natural rubber on ozonolysis gives

A. 4-oxopentanal

B. 3-oxopentanal

C. Hexane-2, 5-diene

D. Pentanedial

Answer: A

° Watch Video Solution

47.During the vulcanization of rubber, sulphur cross linking occurs at
a) Double bonds

b) Allylic - CH, - groups


https://dl.doubtnut.com/l/_fPGF4IBCtpTv
https://dl.doubtnut.com/l/_6ztcsgsmXxDL
https://dl.doubtnut.com/l/_zGtwAbxZAKcW

c)Methyl groups

The correct answer is

A.onlya

B.only b

C.onlyaandb

D. all

Answer: C

° Watch Video Solution

48. Which among in following is a chain growth polymer

A. Nylon

B. Bakelite

C.Terylene

D. Teflon


https://dl.doubtnut.com/l/_zGtwAbxZAKcW
https://dl.doubtnut.com/l/_XZVYymTYGsJZ

Answer: D

° Watch Video Solution

49. Which of the following polymer has the emperical formula identical

with that of it monomer

A. Teflon

B. Nylon-6,6

C. Dacron

D. Bakelite

Answer: B

° Watch Video Solution

50. Which of the following can be used as monomer in polymerixation

reaction


https://dl.doubtnut.com/l/_XZVYymTYGsJZ
https://dl.doubtnut.com/l/_NdNt1Zq7VJfl
https://dl.doubtnut.com/l/_okCccrKyxXFo

A.CH,CH,CI

B. CH,CH,OH

C. C6H6

Answer: D

° Watch Video Solution

51. An example of natural biopolymer is

A. Teflon
B. Nylon-6, 6
C. Rubber

D. DNA

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_okCccrKyxXFo
https://dl.doubtnut.com/l/_h7lXidJD2dxj

52. Common monomer in glyptal and terylene is

A. Ethylene glycol

B. Phthalic acid

C. Phenol

D. Formaldehyde

Answer: A

o Watch Video Solution

53.BuNa - N is a polymer of

A. Butadiene

B. Butadiene and sodium acetanilide

C. Butadiene and styrene


https://dl.doubtnut.com/l/_h7lXidJD2dxj
https://dl.doubtnut.com/l/_HZo1s8YAllPe
https://dl.doubtnut.com/l/_GMBNxdq7zs6J

D. Butadiene and vinyl cyanide

Answer: D

° Watch Video Solution

54. Wrong statement about the polymer BuNa -S is

A.'Bu' stands for 1, 3 butadiene

B. 'Na' stands for sodium (catalyst)

C.'S' stands for styrene

D. it is used in manufacture of hoses

Answer: D

o Watch Video Solution

55.Wrong statement about BuNa N is


https://dl.doubtnut.com/l/_GMBNxdq7zs6J
https://dl.doubtnut.com/l/_lsOTR4i6z0to
https://dl.doubtnut.com/l/_U67ab9Pnu8VZ

A. it is copolymer
B.'N' stands for propenenitrile

C.its structure is
(CHZCHCHC’HCHCH)

CN

D. it is an addition polymer

Answer: C

° Watch Video Solution

56.Buna -N synthetic rubber is a copolymer of :

A HQC =CH - CH = CH2 and H5C6 — CH = CH2

B. HzC = CH— CN and H2C = CH — CH = CH2

CH;
Cl
|
D.H;C =CH - C =CHy and HoC =CH — CH — CH = CH,


https://dl.doubtnut.com/l/_U67ab9Pnu8VZ
https://dl.doubtnut.com/l/_AIWNETSM8H8g

Answer: B

° Watch Video Solution

57. Which of the following is not true ?

A. In vulcanisation the rubber becomes harder and stronger

B. Natural rubber has 'trans' configuration at every double bond.

C. Buna-S is a co-polymer of Butene and styrene

D. Natural rubber is 1, 4- polymer of isoprene.

Answer: B

o Watch Video Solution

58. Identify the monomer used in the preparation of synthetic rubber


https://dl.doubtnut.com/l/_AIWNETSM8H8g
https://dl.doubtnut.com/l/_U9wUdndPqQQ6
https://dl.doubtnut.com/l/_RBYBghl7hu1P

Answer: A

o Watch Video Solution

59. Monomers of which one of the following biodegradable polymer are

amino acids

A. Polyglycolic acid


https://dl.doubtnut.com/l/_RBYBghl7hu1P
https://dl.doubtnut.com/l/_UROBjd9Q7x3Y

B. PHBV

C.Nylon -6

D. Nylon - 2- Nylon-6

Answer: D

° Watch Video Solution

60. Which among the following is a step growth polymer

A. PTFE

B. PVC

C. Polyster

D. Polyethylene

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_UROBjd9Q7x3Y
https://dl.doubtnut.com/l/_RU6YZBPaPkU6
https://dl.doubtnut.com/l/_AZP0DEfl8NQJ

61. Which of the following is a biodegradable polymer?

A. Polythene

B. Bakelite

C. PHBV

D. PVC

Answer: C

o Watch Video Solution

62. Which of the following is a biodegradable polymer
A) PHBV

B) Buna-S

C) PMMA

D) Nylon -2-Nylon-6

The correct answer is


https://dl.doubtnut.com/l/_AZP0DEfl8NQJ
https://dl.doubtnut.com/l/_Nmv7QtMI7RKd

A.A,BandC

B.B,Cand D

C.AandD

D. All are correct

Answer: C

° Watch Video Solution

63. For natural polymers PDI is generally

A1l

B.10

C.100

D. 1000

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_Nmv7QtMI7RKd
https://dl.doubtnut.com/l/_ZYnqUxirWKiT

64. The poly dispersity index of a polymer is 1.5. If its number average

molecular mass is 30,000 calculate its weight average molecular mass

A. 100 mass.

B. 40000

C. 20000

D. 45000

Answer: C

o Watch Video Solution

65. Which of the following monomers gives the polymer neoprene on

polymerisation ?

A CH, = CHCI

B.Cl,C = CCl,


https://dl.doubtnut.com/l/_ZYnqUxirWKiT
https://dl.doubtnut.com/l/_eKCc8ucigesS
https://dl.doubtnut.com/l/_0bxtZjtNqH0j

C.C’H2=|C’—C’H:C’H2

Cl

D.CFy = CF)

Answer: C

° Watch Video Solution

CH;

66. Monomerof | —C — CHy | is

CH;, n

A. 2-methyl propene
B. Styrene
C. Propylene

D. Ethene

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_0bxtZjtNqH0j
https://dl.doubtnut.com/l/_LaNCkwRoz6mQ
https://dl.doubtnut.com/l/_ZGOVTauCoiWx

67. The monomer of poly acrylonitrile is

A.Vinyl chloride

B. Vinyl alcohol

C.Vinyl cyanide

D. Adipic acid

Answer: D

° Watch Video Solution

68. The monomer of the polymer

CH; CH;
l |
—CHz—(‘J —C’Hz—(‘l — CH, —
CH; CH;

A H.C = C(CH3)2
B. (CH3)20 =C(CH,3),2

C.CH3CH = CH.CH;


https://dl.doubtnut.com/l/_ZGOVTauCoiWx
https://dl.doubtnut.com/l/_ejHqfjSVVgce

D.CH;CH = CH,

Answer: A

° Watch Video Solution

69. Which of the following can not be grouped as polyolefin ?

A. Polyethene

B. Polypropene

C. Polystyrene

D. Bakelite

Answer: D

o Watch Video Solution

70. Which of the following polymer is an example of fibre


https://dl.doubtnut.com/l/_ejHqfjSVVgce
https://dl.doubtnut.com/l/_JDxDHcb7BP0q
https://dl.doubtnut.com/l/_GKYJ9poxGGMJ

A. Silk

B. Dacron

C. Nylon 66

D. All of these

Answer: D

° Watch Video Solution

71. Terylene is

A. Polyamide

B. Polyester

C. Polyethen

D. Lonchain hydrocarbon

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_GKYJ9poxGGMJ
https://dl.doubtnut.com/l/_cXNRxm2D37Rz

72.— [NH — (CHy); — NH — CO — (CH,), — CO]_ —

A. Homo polymer
B. Co-polymer & Nylon-6,6
C. Addition polymer

D. Thermosetting polymer

Answer: B

o Watch Video Solution

73.Nylon-6 is not a

A. Condensation polymer

B. Polyamide

C. Copolymer


https://dl.doubtnut.com/l/_cXNRxm2D37Rz
https://dl.doubtnut.com/l/_YItK1KgwODEV
https://dl.doubtnut.com/l/_QVR9tDB7UGJM

D. Homopolymer

Answer: C

° Watch Video Solution

74. Which of the following is not correct regarding terylene

A. Step growth polymer

B. Synthetic fibre

C. Condensation polymer

D. Thermosetting plastic

Answer: D

o Watch Video Solution

75. The monomer for polystyrene is


https://dl.doubtnut.com/l/_QVR9tDB7UGJM
https://dl.doubtnut.com/l/_C8wYFDGmUmaP
https://dl.doubtnut.com/l/_hBNG8WzlpXHl

A. Ethane

B. Ethene

C. Ethyne

D. Vinyl benzene

Answer: D

o Watch Video Solution

76.
List - I (polymer)
1) Urea formaldehyde resin

2) Neoprene

3) PVC
4) Nylon- 5
1 2 3 4
A~ — - =
e d ¢ b

List - II (Stucture)

(
) (=

o
~

e) (-

(

—

(

NH — (CHs), — CO — )n
NH — (CHs)g — NH —)

_CH,—C =CH — CH, —

|
Cl

—CH - CH —
|

cl n

NH - CO — NH — CH, —

)



https://dl.doubtnut.com/l/_hBNG8WzlpXHl
https://dl.doubtnut.com/l/_1icftIzRjwUi

1 2 3 4
B.— — — —
e ¢c d b
1 2 3 4
c.— - - =
a c d b
1 2 3 4
D.— — = —
e ¢ d a
Answer: D

o Watch Video Solution

List - I (polymer) List - II (use)
1) Urea formalde hyde resin a) Unbreakable cups
77. 2) Nylon- 6 b) TV cabinets
3) Polystyrene c) Oils seals
4) G d) Tyre cords
1 2 3 4
A
a d b c
1 2 3 4
B.
a b dec
1 2 3 4
C.
a b cd
1 2 3 4
D.
d c b a
Answer: A

[ -


https://dl.doubtnut.com/l/_1icftIzRjwUi
https://dl.doubtnut.com/l/_6tiUOiksQyN6

| @ Watch Video Solution

78. Amide linkage is absent is

A.Nylon -6

B. Nylon 66

C. Nylon 2- Nylon 6

D. PHBV

Answer: D

° Watch Video Solution

List -1 List - II
A) Phenol +CH,0 1) Synthetic rubber
79. B) Terephthalic acid and ethylene glycol 2) Bakelite
C) Caprolactum 3) Nylon- 6
D) Butadiene and styrene 4) Terylene
A B C D

A
2 3 41


https://dl.doubtnut.com/l/_6tiUOiksQyN6
https://dl.doubtnut.com/l/_Ovw6rEUlDF8R
https://dl.doubtnut.com/l/_LjaYP41d0ttR

S
v R B e
wQwawvaq
sl B

Answer: C

o Watch Video Solution

List - I List - II
A) PHBV 1) Synthetic fibres
B) Teflon 2) Orthopaedic devices
" C) Nylon- 66 3) For making laminates
D) Bakelite  4) non - sticking utensils
5) Automobie tyres

>

@
N N S CRE

N

o
PN AW

Q= aQvaQrQ
Al ERAN L VI o

Answer: A


https://dl.doubtnut.com/l/_LjaYP41d0ttR
https://dl.doubtnut.com/l/_d0rXYay3ICGm

° Watch Video Solution

81. Acrylonitrile is the other name of

A H,C = CHCI

B. H,C = CHOH

C. HzC - CH06H5

D. H,C = CHCN

Answer: D

o Watch Video Solution

82. Which of the following is relation stiff and hard addition

homopolymer ?

A. Melamine-formaldehyde

B. Bekalite



https://dl.doubtnut.com/l/_d0rXYay3ICGm
https://dl.doubtnut.com/l/_uKZSZ1kRV2pt
https://dl.doubtnut.com/l/_9XmfIXvaOeuq

C. Polypropelene

D. Urea-formaldehyde

Answer: C

o Watch Video Solution

83. Identify the addition polymers from the following
(i) Terylene

(ii) Polypropene

(iii) Polyacrylonitrile

(iv) Nylon 6

(v) Polyvinyl chloride

A. (i), (iii), (v)

B. (ii), (iv)

C. (i), (iv)

D. (i), (ii)


https://dl.doubtnut.com/l/_9XmfIXvaOeuq
https://dl.doubtnut.com/l/_cRcatRdwoVgh

Answer: A

° Watch Video Solution

84.The monomers present in glyptal are

A. Ethylene glycol, caproic acid

B. Vinyl chloride, terepthalic acid

C. Ethylene glycol, pthalic acid

D. Urea, formaldehyde

Answer: C

° Watch Video Solution

85. Which of the following is currently used as a tyre cord

A. Terylene


https://dl.doubtnut.com/l/_cRcatRdwoVgh
https://dl.doubtnut.com/l/_T3uXzbIen4AR
https://dl.doubtnut.com/l/_r2yYu2SPUdjV

B. Polyethylene

C. Bakelite

D. Nylon-6

Answer: D

° Watch Video Solution

86.PVC is prepared by the polymerisation of

A. Ethylene

B. 1- Chloro propene

C. Propene

D. Chloroethene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_r2yYu2SPUdjV
https://dl.doubtnut.com/l/_JLKYH3HXr9J4
https://dl.doubtnut.com/l/_tBpIJgQaADw4

87.1, 3-Butadiene and styrene on polymerisation give

A. Bakelite

B. Terylene

C.Buna-S

D. Teflon

Answer: C

° Watch Video Solution

1. Identify the one which does not belong to the same class as other

three

A. Terylene

B. Polythene


https://dl.doubtnut.com/l/_tBpIJgQaADw4
https://dl.doubtnut.com/l/_qiwgaXs13cPX

C. Teflon

D. PVC

Answer: A

o Watch Video Solution

2. Which one of the following is a polyamide ?

A. Teflon

B. Nylon-6,6

C.Terylene

D. Bakelite

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_qiwgaXs13cPX
https://dl.doubtnut.com/l/_XqHfaFIRRbke

3. Initiators that can be used in anionic polymerisation is/are

(a) Potassium amide (b) n-butyl lithium (c) AlCl3 (d) Hy S04

The correct answer is

A.onlya

B.onlyaandb

C.onlycandd

D.alla,b,cand d

Answer: B

o Watch Video Solution

4. Which one of the following types of monomers, mostly undergo

cationic polymerization ?

A.Vinyl monomers with electron donating group

B. Vinyl monomers with electron withdrawing group


https://dl.doubtnut.com/l/_IYnpcmW8VU7Z
https://dl.doubtnut.com/l/_dde7kHeDIUlT

C. Poly functional group monomers

D. Saturated hydrocarbons

Answer: A

° Watch Video Solution

5.In Elaster, intermolecular force are

A.Nil

B. Weak

C. Strong

D. Very strong

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_dde7kHeDIUlT
https://dl.doubtnut.com/l/_zWpZz6uVgIwJ

6. Polyethylene is

A. Random copolymer

B. Homopolymer

C. Alternate copolymer

D. Cross linked copolymer

Answer: B

o Watch Video Solution

7. Natural rubber is which type of polymer

A. Condensation polymer

B. Addition polymer

C. Coordination polymer

D. None of these


https://dl.doubtnut.com/l/_qpKHzhD3IQEX
https://dl.doubtnut.com/l/_vNYiwGNuhv3H

Answer: B

° Watch Video Solution

8. Natural rubber is a

A. Polydiyne

B. Polyamide

C. Polyester

D. Polydiene

Answer: D

° Watch Video Solution

9. Rubber latex is

A. Emulsion of polyhydrocarbon droplets in an aqueous solution


https://dl.doubtnut.com/l/_vNYiwGNuhv3H
https://dl.doubtnut.com/l/_4ILAWoo6rOPj
https://dl.doubtnut.com/l/_fvlSRzkFLetB

B. Milk white suspension of crude rubber in CCl,

C. True solution of crude rubber in water

D. True solution of crude rubber in alcohol

Answer: A

° Watch Video Solution

10. Rubber latex is which type of emulsion

A.oil in oil type

B. water in oil type

C. oil in water type

D. solid in water type

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_fvlSRzkFLetB
https://dl.doubtnut.com/l/_99ORcnfng2ec
https://dl.doubtnut.com/l/_msR5KSUNQdzC

11. Incorrect statement about PHBV is

A. it is co-polymer of 3- hydroxybutanoic acid and 3 - hydroxypentanoic

acid

B. it has ester linkage

C. excess of hydroxy pentanoic acid makes the polymer more tougher

D. it undergoes degradation by bacteria

Answer: C

° Watch Video Solution

12. Which of the following is a polymer containing nitrogen

A. Terylene

B. Polythene

C.PVC


https://dl.doubtnut.com/l/_msR5KSUNQdzC
https://dl.doubtnut.com/l/_jcuK7jLlzrn1

D. Nylon

Answer: D

° Watch Video Solution

13.

A. polyglycolic acid

B. polylactic acid

C. PHBV

D. Nylon-2-Nylon - 6

Answer: A



https://dl.doubtnut.com/l/_jcuK7jLlzrn1
https://dl.doubtnut.com/l/_YXr219AH5icN

° Watch Video Solution

14. Bakelite is a product of the reaction between (or) A thermo setting

polymer is obtained by the reaction between

A. Formaldehyde and NaOH

B. Urea and aniline

C. Phenol and methanal

D. Phenol and chloroform

Answer: C

o Watch Video Solution

15. Orlon or acrilan is

A| —CH, - CN —

CN


https://dl.doubtnut.com/l/_YXr219AH5icN
https://dl.doubtnut.com/l/_uioExbUZHCmh
https://dl.doubtnut.com/l/_851Ks448As1X

CH;
|
B.| —CHy, — C —
|
\ COOCH; }n
—CHy — CH —
C. |

n

Answer: A

o Watch Video Solution

16. Polymer used in bullet proof is or plexi glass is

A. Polystyrene
B. Poly acrylonitrile
C. Poly ethyl acrylate

D. Polymethyl methacrylate


https://dl.doubtnut.com/l/_851Ks448As1X
https://dl.doubtnut.com/l/_AbFcDtQQP03w

Answer: D

° Watch Video Solution

17. Structure of Silicone polymer is

[ o

A —O—%S’i—O
T
(7

B.] —O—-S5i—0 —
\ n
([ T

C| —-0-5i—
s/,
\ n

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_AbFcDtQQP03w
https://dl.doubtnut.com/l/_Yd9s2R1xgv64

18. Which one of the following is not a vinyl polymer

A. PVC

B. polystyrene

C. polyacrylonitrile

D. PTFE

Answer: D

o Watch Video Solution

19. The catalyst used for the polymerisation of olefins is

A. Ziegler Natta catalyst

B. Wilkinson's catalyst

C. Pd - catalyst

D. Zeise's salt catalyst


https://dl.doubtnut.com/l/_DNowsv684vuj
https://dl.doubtnut.com/l/_w1aFHT3YS1WL

Answer: A

° Watch Video Solution

20. A linear product of phenol and formaldehyde is used

A.in paints

B. in explosive mixture

C. gears

D. in utensils

Answer: C

° Watch Video Solution

21. Which of the following is teflon?

H H

L
o I

H H
n


https://dl.doubtnut.com/l/_w1aFHT3YS1WL
https://dl.doubtnut.com/l/_K8NZ3D5K8ENR
https://dl.doubtnut.com/l/_3vwKeR9ctA09

B H CH,
| |
B.| - -C—-C — —
| \
H H
L n
- "5 5 -
| \
C|l—--C—-C—- —
| \
H H
L - N
- g om -
| |
D.| - -C—-C—- —
| \
H O
L - N
Answer: C

° Watch Video Solution

22. Chemically natural rubber is

A. polyisoprene

B. polyneoprene

C. polychloroprene

D. polycyanoprene

Answer: A



https://dl.doubtnut.com/l/_3vwKeR9ctA09
https://dl.doubtnut.com/l/_8ikDF3QrJVLh

_ ° Watch Video Solution

Objective Exercise 1

1. Which is an example of thermo setting polymer

A. Polythene
B. PVC
C. Neoprene

D. Bakelite

Answer: D

° Watch Video Solution

2. Which of the following is a chain growth polymer

A. Nucleic acid


https://dl.doubtnut.com/l/_8ikDF3QrJVLh
https://dl.doubtnut.com/l/_pKkujyzvtMr1
https://dl.doubtnut.com/l/_4ZzWf05A75np

B. Polystyrene

C. Protein

D. Styrene

Answer: B

° Watch Video Solution

3. Which of the following is incorrect

A. Polyethylene contains double bonds

B. The monomer used to make teflon is Cy Fy

C. Condensation polymers are also known as step growth polymers.

D. A denatured protein could have the same primary structure as the

active protein

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_4ZzWf05A75np
https://dl.doubtnut.com/l/_zALnYKQWyp6v

4. A co-polymer is one in which

A. two monomers undergo condensation

B. there is excessive cross linking

C. extensive hydrogen bonding

D. repeating unit contains two different monomers

Answer: D

o Watch Video Solution

5. Natural polymer among the following is

A. Cellulose

B. PVC

C. Teflon


https://dl.doubtnut.com/l/_zALnYKQWyp6v
https://dl.doubtnut.com/l/_oAwRkmrr0DHr
https://dl.doubtnut.com/l/_35mqNogpq7Mf

D. Polyethylene

Answer: A

° Watch Video Solution

6. Which among the following is a semi synthetic polymer.

A. Cellulose rayon

B. Acrylonitrile

C. Cellulose nitrate

D.Both 1& 3

Answer: D

o Watch Video Solution

7. Thermoplastic polymer among the following is


https://dl.doubtnut.com/l/_35mqNogpq7Mf
https://dl.doubtnut.com/l/_T7V5chotllgD
https://dl.doubtnut.com/l/_SVp3FwYSLL9o

A. Bakellite

B. Urea formaldehyde resin

C. Polysiloxanes

D. PVC

Answer: D

o Watch Video Solution

8. Polymerization of iso butene is mostly initiated by

A. a cation

B. an anion

C. a free radical

D. Zwitter ion

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_SVp3FwYSLL9o
https://dl.doubtnut.com/l/_KSdH0gmERBax

9. In which one of the following type of polymerization generally no

initiator is required

A. Cationic polymerization

B. Anionic polymerization

C. Free radical polymerization

D. Condensation polymerization

Answer: D

° Watch Video Solution

10. The catalyst used for the polymerisation of olefins is

A. Ziegler natta catalyst

B. Wilkinson's catalyst

C. pd-catalyst


https://dl.doubtnut.com/l/_KSdH0gmERBax
https://dl.doubtnut.com/l/_8Tinz33cRtsj
https://dl.doubtnut.com/l/_JIJlodqPhwkj

D. Zeise's salt catalyst

Answer: A

o Watch Video Solution

1. Terylene is

A. An addition polymer with a benzene ring in every repeating unit

B. A condensation polymer with benzene ring in every repeating unit

C. An addition polymer with two carbon atoms in every repeating unit

D.A condensation polymer with two nitrogen atoms in every

repeating unit

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_JIJlodqPhwkj
https://dl.doubtnut.com/l/_j5m3wWMRmr4j

12. Statement 1 : The order of extent of attractive forces between
monomers is fibres > thermoplastic polymers > elastomers
Statement Il : Thermoplastic polymers become soft on heating
Statement Ill : Thermosetting polymers become hard on heating Correct
statement is/are

A All

B.Only lI

C.Onlyl, 11l

D.Only|

Answer: A

o Watch Video Solution

13. Monomers are converted to polymers by

A. Hydrolysis of monomers


https://dl.doubtnut.com/l/_Pm9IJsX0xDXe
https://dl.doubtnut.com/l/_th5icWVylPOD

B. Condensation reaction between monomers

C. Protonation of monomers

D. None of these

Answer: B

° Watch Video Solution

14. Which of the following is an example of condensation polymer (or)

Which of the following is not an example of addition polymer

A. Polythene

B. PVC

C.Orlon

D. Terylene

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_th5icWVylPOD
https://dl.doubtnut.com/l/_v5xC2SixWKMO

15. Elastomers among the following are

A.Buna-N
B. Buna-S
C. Neoprene

D. All

Answer: D

o Watch Video Solution

16. Linear polymer among the following is

A. Melamine
B. Starch
C. Bakelite

D. Polyvinylchloride


https://dl.doubtnut.com/l/_v5xC2SixWKMO
https://dl.doubtnut.com/l/_prfMCsEUfFIV
https://dl.doubtnut.com/l/_IBpVZSbx25kS

Answer: D

° Watch Video Solution

17. Which among the following is a branched chain polymer.

A. LDPE

B. Nylon

C. Phenol formaldehyde resin

D. Terylene

Answer: A

° Watch Video Solution

18. Cross linked polymer among the following is

A. Polythene


https://dl.doubtnut.com/l/_IBpVZSbx25kS
https://dl.doubtnut.com/l/_uEZ4pP5hhhft
https://dl.doubtnut.com/l/_ybqYTVshGmYB

B. LDPE

C. Melamine formaldehyde resin

D. Nylon 6,6

Answer: C

° Watch Video Solution

19. Which one of the following is an example of thermosetting polymer ?

A. Polythene

B. PVC

C. Neoprene

D. Bakelite

Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_ybqYTVshGmYB
https://dl.doubtnut.com/l/_tCm5xJLphhtB
https://dl.doubtnut.com/l/_MTzA8vnld5nl

20. Which one is classified as condensation polymer?

A. Teflon
B. Acrylonitrile
C. Dacron

D. Neoprene

Answer: C

° Watch Video Solution

21. Which of the following is a branched polymer?

A. Low density polythene
B. Polyester
C. Nylon

D. PVC


https://dl.doubtnut.com/l/_MTzA8vnld5nl
https://dl.doubtnut.com/l/_KM5m54Gzsass

Answer: A

° Watch Video Solution

22. Which of the following sets contain only copolymers?

A. SBR, Glyptal, Nylon 6,6

B. Nylon 6, Butyl rubber, Neoprene

C. Polythene, Polyester, PVC

D. Melmac, Bakelite, Teflon

Answer: A

° Watch Video Solution

23.Increasing order of intermolecular forces of the following polymers is

A. Neoprene, PVC, Nylon -6


https://dl.doubtnut.com/l/_KM5m54Gzsass
https://dl.doubtnut.com/l/_nXXbvwBgxL4n
https://dl.doubtnut.com/l/_2WaNcWYFqqDG

B. Nylon, PVC, Neoprene

C. PVC, Neoprene, Nylon -6

D. Neoprene, Nylon -6, PVC

Answer: A

o Watch Video Solution

24. Incorrect statement among the following

A. In cation polymersation termination step is absent

B. Alkyl Lithium compounds are effective chain initiators

C. Acetyl peroxide is used as a free radical generating initiator in free

radical mechanism

D. Ziegler-Natta catalyst is triethyl aluminium

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_2WaNcWYFqqDG
https://dl.doubtnut.com/l/_XtdyrCMlIiQi

25. Examples for natural polymers are

A. Cotton, Silk, Bakelite and Wool

B. Cellulose, Polystyrene and Neoprene

C. Nylon, Terylene and PVC

D. Silk, Cotton and Proteins Natural Rubber

Answer: D

o Watch Video Solution

26.The process involving heating of rubber with sulphur is called

A. Galvanisation

B. Vulcanisation

C. Bessemerisation


https://dl.doubtnut.com/l/_XtdyrCMlIiQi
https://dl.doubtnut.com/l/_cY8fDtPwIbEA
https://dl.doubtnut.com/l/_N1lTMKXiID7d

D. Sulphonation

Answer: B

° Watch Video Solution

27.Rubber latex is

A. oil in oil

B. water in oil

C. oil in water

D. solid in water

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_N1lTMKXiID7d
https://dl.doubtnut.com/l/_cnIiNUpNEdBh

28. Natural rubber is a polymer of (or) the monomer of natural polymer

rubber is

A. Butadiene

B. Ethyne

C.Isoprene

D. Styrene

Answer: C

o Watch Video Solution

29. Natural rubber is a

A. trans-polyisoprene

B. Chloroprene

C.Buna-S

D. cis-polyisoprene


https://dl.doubtnut.com/l/_qmmzL0Ia6XUt
https://dl.doubtnut.com/l/_uyM2MYL40SKI

Answer: D

° Watch Video Solution

30. The vulcanized rubber has

A. high water absorbing tendency

B. low elasticity

C. high sensitivity to heat treatment

D. high resistance to chemical oxidation

Answer: D

° Watch Video Solution

31. Natural rubber is a

A. trans isomer


https://dl.doubtnut.com/l/_uyM2MYL40SKI
https://dl.doubtnut.com/l/_4IwDIgoprvHE
https://dl.doubtnut.com/l/_dsJ7ky5hK0ot

B. cis isomer

C. contains equal amounts of cis and trans isomers

D. racemic mixture

Answer: B

° Watch Video Solution

32. Empirical formula and molecular formula of monomer of natural

rubber are respectively

A C5H8, C5H8

B. C5H8(C5H8)TL

C. C4H8, C4H6

D.C5Hy3, C5Hy

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_dsJ7ky5hK0ot
https://dl.doubtnut.com/l/_bRF2HzMoUKff

33. The synthetic polymer which resembles natural rubber is

A. Neoprene

B.Buna -S

C. Nylon

D. Rayon

Answer: A

o Watch Video Solution

34. Which of the following monomers gives the polymer neoprene on

polymerization?

A CH, = CHCI

B. (CI2 — (CIQ

C.CH, = C(CI)-CH = CH,


https://dl.doubtnut.com/l/_bRF2HzMoUKff
https://dl.doubtnut.com/l/_bM3VXpTVeFnQ
https://dl.doubtnut.com/l/_DCurzafCGL4s

D.CF, = CF,

Answer: C

o Watch Video Solution

35. Which one of the following statements is not true ?

A.Buna-S is a copolymer of butadiene and styrene

B. Natural rubber is a 1, 4-polymer of isoprene

C.In vulcanization, the formation of sulphur bridges between

different chains makes rubber harder and stronger.

D. Natural rubber has the trans-configuration at every double bond

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_DCurzafCGL4s
https://dl.doubtnut.com/l/_08rlHiVZdxJm

36. Neoprene is formed by

A. Free radical polymerization

B. Cationic polymerisaiton

C. Anionic polymerization

D. Condensation polymerization

Answer: A

o Watch Video Solution

37. Tubeless tyres are copolymers of isoprene and

A.Neoprene

B. Silicons

C.Isobutylene

D. PAN


https://dl.doubtnut.com/l/_Y5PGalARtEqC
https://dl.doubtnut.com/l/_ISHeRj9cdsOW

Answer: C

° Watch Video Solution

38. Which of the following is not a natural polymer

A. Cellulose

B. Protein

C.PVC

D. Nucleic acid

Answer: C

° Watch Video Solution

39. Which of the following is not a polymer

A. Silk


https://dl.doubtnut.com/l/_ISHeRj9cdsOW
https://dl.doubtnut.com/l/_Hiok5pNvGIkO
https://dl.doubtnut.com/l/_gLHFUh3FYJfi

B. DNA

C.DDT

D. Dextrin

Answer: C

° Watch Video Solution

40. A linear product of phenol and formaldehyde is used

A. In paints

B. In explosives

C. Gears

D. In alestils

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gLHFUh3FYJfi
https://dl.doubtnut.com/l/_XQwjjMtMlxDH
https://dl.doubtnut.com/l/_CauJ3MEEbWcK

41. Which of the following is a polymer containing nitrogen

A. Terylene
B. Polythane
C.PVC

D. Nylon

Answer: D

o Watch Video Solution

42, In elastomers intermolecular forces are

A. weak

B. strong

C. very strong

D. nil


https://dl.doubtnut.com/l/_CauJ3MEEbWcK
https://dl.doubtnut.com/l/_qGb1s1jZEK6e

Answer: A

° Watch Video Solution

43. Which of the following is a biodegradable polymer

A. Cellulose

B. Polythene

C.PVC

D. Nylon 6

Answer: A

° Watch Video Solution

44. Polymer used for controlled release of drugs SI

A. Poly glycolic acid


https://dl.doubtnut.com/l/_qGb1s1jZEK6e
https://dl.doubtnut.com/l/_3Du4kjKkdLp8
https://dl.doubtnut.com/l/_SHs0TGfAei3U

B. Poly lactic acid

C. Nylon-2-Nylon-6

D. PHBV

Answer: D

° Watch Video Solution

45. Which of the following is a biodegradable polymer?

A. Nylon-66

B. PHBV

C. Teflon

D. Polychloroprene

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_SHs0TGfAei3U
https://dl.doubtnut.com/l/_VQdp4UKhJKXh
https://dl.doubtnut.com/l/_gG1marILwqeD

46. Which of the following is a biodegradable polymer

A. Dextron

B. Nylon-2-nylon-6

C. Nylon-66

D. PHBV

Answer: B

o Watch Video Solution

47. Which one of the following is a biodegradable polymer ?

A. Glyptal

B. Polyhydroxy butyrate - CO -3 hydroxy valerate

C. PHBV

D. Nylon-2-Nylon-6


https://dl.doubtnut.com/l/_gG1marILwqeD
https://dl.doubtnut.com/l/_0jAn0O64ljI4

Answer: A

° Watch Video Solution

48.The polymer used for making unbreakable cups and laminated sheets

A. Polystyrene
B. Glyptal
C. Bakelite

D. Urea-formaldelyde resin

Answer: D

° Watch Video Solution

49. Nylon threads are made of

A. Polyethylene polymer


https://dl.doubtnut.com/l/_0jAn0O64ljI4
https://dl.doubtnut.com/l/_BXpP0R9q4sNE
https://dl.doubtnut.com/l/_9aN85x90cUYc

B. Polyvinyl polymer

C. Polyester polymer

D. Polyamide polymer

Answer: D

° Watch Video Solution

Pysolysis 1000 — 200atm
50. HsC — CHjs > A >

RCOOOCOR

ziegler-natta
EEEE—
catalyst

Here B and C are respectively

A. LDPE, HDPE

B. HDPE, LDPE

C. LDPE, LDPE

D. HDPE, HDPE

Answer: A



https://dl.doubtnut.com/l/_9aN85x90cUYc
https://dl.doubtnut.com/l/_2H6ekbawn7Xw

| Y Watch Video Solution J

51. The polymer used in the manufacture of electrical goods such as

switches, plugs etc is

A. Polythene

B. Bakelite

C. Neoprene

D. PHBV

Answer: B

° Watch Video Solution

52. During the polymerization of ethylene hybridization of 'C' changes

from __ to

A. sp2, sp


https://dl.doubtnut.com/l/_2H6ekbawn7Xw
https://dl.doubtnut.com/l/_tp7DLv9ceg6a
https://dl.doubtnut.com/l/_kptgskBOhJYg

B. sp2, sp3
C. sp, sp2

D. sp3, sp3

Answer: B

° Watch Video Solution

53. When acetylene passed through red hot Fe tube hybridization of C
changes from to

A sp2, sp

B. spz, sp3

C. sp, sp2

D. sp3, 3p2

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_kptgskBOhJYg
https://dl.doubtnut.com/l/_PosbZppGvY29

54. Orlon is a polymer of

A. Styrene

B. Acrylonitrile

C.Vinyl chloride

Answer: B

o Watch Video Solution

55. Which one of the following cannot be used as monomer in a

polymerization reaction

A 02H4

B. 02H2


https://dl.doubtnut.com/l/_PosbZppGvY29
https://dl.doubtnut.com/l/_A93ZE24xSl0a
https://dl.doubtnut.com/l/_i9PsEcvkc8Ts

D. C4H6

Answer: C

° Watch Video Solution

56. Catalyst used in the polymerisation of ethylene is

A Ag

B. O,

C.Ni

D. Pd + BaSO,

Answer: B

° Watch Video Solution

57.The catalyst used in the manufacture of Buna-s is


https://dl.doubtnut.com/l/_i9PsEcvkc8Ts
https://dl.doubtnut.com/l/_APD5e0MWGl7v
https://dl.doubtnut.com/l/_k9smpZuqQoSn

A. Pt

B. Ni

C. coke

D. Na

Answer: D

o Watch Video Solution

58. Characterstic property of teflon is

A. 2000 poise viscosity

B. high surface tension

C. non inflammable and resistant to heat

D. high reactive

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_k9smpZuqQoSn
https://dl.doubtnut.com/l/_m84YZnr9xcyN

59. The monomers used in the production of nylon-6,6 are

A. hexamethylene diamine and ethylene glycol

B. adipic acid and ethylene glycol

C. adipic acid and hexamethylene diamine

D. dimethyl terepthalate and ethylene glycol Polymers

Answer: C

° Watch Video Solution

60. Terylene is the polymer of

A. Ethylene glycol and terepthalic acid

B. Melamine and formaldehyde

C.Vinyl chloride and formaldehyde


https://dl.doubtnut.com/l/_m84YZnr9xcyN
https://dl.doubtnut.com/l/_yd1XvpuldsXs
https://dl.doubtnut.com/l/_U5YmHoDMx67x

D. Hexamethylene diamine and adipic acid

Answer: A

° Watch Video Solution

61. PVC is used for

A. Manufacture of cosmetics
B. Manufacture of tyres
C. Manufacture of non- stick pans

D. Manufacture of plastic pipes

Answer: D

o Watch Video Solution

62. Which of the following has ester linkage


https://dl.doubtnut.com/l/_U5YmHoDMx67x
https://dl.doubtnut.com/l/_ARrjsc3iDyhR
https://dl.doubtnut.com/l/_gUA5fQ7O5pFD

A.Nylon 6,6

B. Terylene

C.PVC

D. SBR

Answer: C

° Watch Video Solution

63. The synthetic polymer which resembles natural rubber is

A. Neoprene

B. PMMA

C. Glyptal

D. Nylon

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_gUA5fQ7O5pFD
https://dl.doubtnut.com/l/_zuVmOQllzt4O

64. Bakelite is obtained from phenol by reacting with

A.CH;CHO
B. CH;COCH,
C. HCHO

D. (CH,OH),

Answer: C

o Watch Video Solution

65. How is Dacron obtained from ethylene glycol and terepthalic acid ?

A. Glyptal

B. Dacron

C.Nylon 6,6


https://dl.doubtnut.com/l/_zuVmOQllzt4O
https://dl.doubtnut.com/l/_9oJMDnIXx62D
https://dl.doubtnut.com/l/_15e3f4z581N5

D.Buna - S rubber

Answer: A

° Watch Video Solution

66. Given the polymers: A=Nylon, B= Buna-S, C=Polythene. Arrange these in

increasing order of their intermolecular forces (lower to higher)

AAA>B>C

B.B>C>A

CB<(C<A

DC< A< B

Answer: C

° Watch Video Solution



https://dl.doubtnut.com/l/_15e3f4z581N5
https://dl.doubtnut.com/l/_naZOhfFI57FY

67. Which of the following sets contains thermopastics.

A. Polythene, Bakelite, Nylon 6
B. Glyptal, Melmac, PAN
C. PVC, PMMA, Polystyrene

D. Polypropylene, urea - formaldehyde, Teflon

Answer: C

o Watch Video Solution

Column-I  Column-II
A) Nylon- 6 p) Addition copolymer
68. B) Buna-s q) Addition homopolymer
C) Melmac r) Condensation homopolymer
)

D) Teflon s) Condensation copolymer
A. A-s, B-q, C-p, Dr
B. A-p, B-r, C-q, D-s

C. A+, B-p,Cs,D-q


https://dl.doubtnut.com/l/_5XMxWfYfkHp6
https://dl.doubtnut.com/l/_vAWaj15ihdA1

D. A, B-p, C-q, D-s

Answer: C

° Watch Video Solution

69. The raw materials used in Nylon-6 is

A. Adipic acid

B. Phthalic acid

C. Ethylene glycol

D. Caprolactam

Answer: D

o Watch Video Solution

70. A polymer commonly used for making nonstick cookware is


https://dl.doubtnut.com/l/_vAWaj15ihdA1
https://dl.doubtnut.com/l/_cf0Ks3k6T6gR
https://dl.doubtnut.com/l/_yL8LwxV13eQq

A.SBR

B. Teflon

C.PVC

D. Poly ethyl acrylate

Answer: B

° Watch Video Solution

71. Which one of the following is a polyamide ?

A. Nylon-6, 6
B. Terylene
C. Polythene

D. Buna-S

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_yL8LwxV13eQq
https://dl.doubtnut.com/l/_S9onVVEdzGJ6

72.The monomer used in Novolac, a polymer used in paints

A. Melamine and Formaldehyde

B. Phenol and Formaldehyde

C. Butadiene and Acrylonitrile

D. Butadiene and Styrene

Answer: B

o Watch Video Solution

73.The monomers required for the formation of melamine polymer are

OH 0
il
. H-C-H
A.
|12NYNY1NH: ?
NN Hoc-H
NH,


https://dl.doubtnut.com/l/_S9onVVEdzGJ6
https://dl.doubtnut.com/l/_kB8XZf1eOUBN
https://dl.doubtnut.com/l/_KVcRrmhBB2LI

H
@,CH = CHy 5

0
NNz
Ny.\l . CH,-C-H

D NO,

C.

Answer: B

o Watch Video Solution

74. Which one of the following is a polyamide ?

A. Terylene

B. Nylon-6,6

C. Bakelite

D. Buna-S

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_KVcRrmhBB2LI
https://dl.doubtnut.com/l/_QzTyughoRmC4

Objective Exercise 3

1. Which one is chain growth polymer ?

A. Starch

B. Nucleic acid

C. Polystyrene

D. Protein

Answer: C

° Watch Video Solution

2. The monomer of polymer

. _CHjs
s CHy— C—CH,— C<_ 1S :
CHj;

A.CH;CH = CH,


https://dl.doubtnut.com/l/_cMuw0fUIU7YY
https://dl.doubtnut.com/l/_ItSIfckTukr9

CH,
CH,=C< )
i CH,

C.(CH;),C = C(CHj),

D.CH;CH = CHCH,

Answer: B

o Watch Video Solution

A SNH(CH))NHCO(CH,)CO f\t;/“v'\
3.

A. Thermosetting polymer
B. Homopolymer
C. Copolymer

D. Addition polymer

Answer: C

isa:

° Watch Video Solution



https://dl.doubtnut.com/l/_ItSIfckTukr9
https://dl.doubtnut.com/l/_S4Bf2Gp5BXZN

4. Polymer obtained by condensation polymerization is :

A. polythene

B. teflon

C.PVC

D. nylon-6, 6

Answer: D

° Watch Video Solution

5. Which one of the following statements is not true ?

A. Natural rubber has the trans-configuration at every double bond

B. Buna-S is a copolymer of butadiene and styrene

C. Natural rubber is a 1, 4-polymer of isoprene


https://dl.doubtnut.com/l/_S4Bf2Gp5BXZN
https://dl.doubtnut.com/l/_ymC4hBiJj0oL
https://dl.doubtnut.com/l/_th4B1y0xwrox

D.In vulcanization, the formation of sulphur bridges between

different chains make number harder and stronger

Answer: A

° Watch Video Solution

6. Structures of some common polymers are given. Which one is not

correctly matched ?

A.Nylon-6,6- [NH(CH,){NHCO(CH,), —CO —|_

B.Teflon (— — CFy, — CF, — —)

n

C.Neoprene | — —CHy — C =CH — CHy, — —
|
Ci

Terylene

D £€0— 0 > COOCH,~ CH 0 3,

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_th4B1y0xwrox
https://dl.doubtnut.com/l/_iO5UyLOpqa6J

7. Which of the following represents neoprene polymer ?

i Cl
\
A|—-— —-CHy,—C=CH—-CHy; — —
- CN "
|
B.| — —CHy — CHy — —
- Cl "
|
C.|- -CHy, -CH - —
:06H5 "
|
D. |CH — CHy — —
Answer: A

o Watch Video Solution

8. Of the following which one is classified as polyester polymer ?

A. Nylon-6, 6

B. Bakelite


https://dl.doubtnut.com/l/_EZ7kVRS1Gf3p
https://dl.doubtnut.com/l/_wUGzp5CJ3HKA

C.Terylene

D. Melamine

Answer: C

° Watch Video Solution

9. Which one of the following is not a condensation polymer?

A. Dacron

B. Neoprene

C. Melamine

D. Glyptal

Answer: B

° Watch Video Solution



https://dl.doubtnut.com/l/_wUGzp5CJ3HKA
https://dl.doubtnut.com/l/_1gGGtYYIZRIF

10. Which one of the following sets forms the biodegradable polymer ?

A.CH, = CH-CN and CH, = CH- CH = CH,
B. H,N — CH, — COOH and H,N — (CH,), — COOH

C. lIOOC><Q>—COOH

D < o> CH=CH, and CH,=CH-CH=CH,

Answer: B

° Watch Video Solution

11. Which of the following statements is false ?

A. The repeat unit in natural rubber is isoprene

B. Both starch and cellulose are polymers of glucose

C. Artificial silk is derived from cellulose

D. Nylon-6, 6 is an example of elastomer


https://dl.doubtnut.com/l/_YmHc8kZbwBDU
https://dl.doubtnut.com/l/_4ph4MWuRoAP8

Answer: D

° Watch Video Solution

12. Which one of the following is an example of thermosetting polymer ?

(

Al - -cH,-C=CH-CH,— —
\ ! n
(

Ci

|
B.| - —CH, —CH — —

( H H no o
| | || '
C| — —N—(CH2)6—N—O’—(C’H2)4—C— —
OH OH "
{@r%@%}
D. "
Answer: D

° Watch Video Solution



https://dl.doubtnut.com/l/_4ph4MWuRoAP8
https://dl.doubtnut.com/l/_GAL3gQ7KaqHp

13. Which of the following organic compounds polymerizes to form the

polyster Dacron ?

A. Propylene and para HO — (CsHy) — OH
B. Benzoic acid and ethanol
C. Terephthalic acid and ethylene glycol

D. Benzoic acid and para OH — (CsHy) — OH

Answer: C

o Watch Video Solution

14. Biodegradable polymer which can be produced from glycine and
aminocaprocic acid is

A.buna-N

B. nylon 6,6

C.nylon 2-nylon 6


https://dl.doubtnut.com/l/_AvIbz3oxEq1Z
https://dl.doubtnut.com/l/_ozJZ6vFagLtr

D. PHBV

Answer: C

° Watch Video Solution

15. Caprolactam is used for the manufacture of

A.Trylene

B. Nylon-6, 6

C. Nylon-6

D. Teflon

Answer: C

° Watch Video Solution

16. Natural rubber has :


https://dl.doubtnut.com/l/_ozJZ6vFagLtr
https://dl.doubtnut.com/l/_t6mj4PlYrryx
https://dl.doubtnut.com/l/_5Eu8Y2Bzwwmz

A. Alternate cis- and trans-configuration

B. Random cis and trans configuration

C. All cis-configuration

D. All trans-configuration.

Answer: C

o Watch Video Solution

17. Which one of the following structures represents nylon 6, 6 polymer ?

H, H,
1 H
/C\C/C\C/
[ [
NH,  CHy
A‘ 66

By 22 H
O~ C—

(,Sc?\ ) CHQM\i/ﬁ/(CHy;NH\)
D. !


https://dl.doubtnut.com/l/_5Eu8Y2Bzwwmz
https://dl.doubtnut.com/l/_LnIUPjtEQgwf

Answer: D

° Watch Video Solution

18. Regarding cross-linked or network polymers, which of the following

statements is incorrect ?

A. Examples are Bakelite and melamine

B. They are formed from bi- and tri-functional monomers

C. They contain covalent bonds between various linear polymer chains

D. They contain strong covalent bonds in their polymer chains,

Answer: B

° Watch Video Solution

Objective Exercise 4



https://dl.doubtnut.com/l/_LnIUPjtEQgwf
https://dl.doubtnut.com/l/_RChtWszshV4w

1. (A) Glyptal is a condensation homo polymer.

(R) Glyptal is used to prepare.computer discs.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o Watch Video Solution

2. (A): Molecular mass of polymers is always expressed as an average.

(R) : Generally, a polymer sample contains chains of varying lengths.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_R7J8nRm0sVbt
https://dl.doubtnut.com/l/_ADEx2WGb54PK

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

3.(A): F5C = CF,, is the monomer of teflon.

(R): Polytetrafluoroethylene is commonly called teflon.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_ADEx2WGb54PK
https://dl.doubtnut.com/l/_O94hBQvCF4Sz

Answer: B

° Watch Video Solution

4. (A): The chains of nylon-6, 6 are held by hydrogen bonding forces.

(R): Intermolecular hydrogen bonding leads to molecular association.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_O94hBQvCF4Sz
https://dl.doubtnut.com/l/_XwrX5aSRljlI

5.(A) : Natural rubber and gutta percha are examples of cis-trans isomers.

(R) : Cis-trans isomerism arises due to the difference of geometrical

arrangement of two different groups on the double bonded carbon

atoms.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

6. (A): Styrene is more reactive than propylene towards cationic

polymerization.


https://dl.doubtnut.com/l/_1Dh7Po7m6fes
https://dl.doubtnut.com/l/_NXeq1OqaF9Mx

(R): The carbocation resulting from styrene is more stable than that

resulting from propylene.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

7.(A) Nylon-6 is obtained by polymerization of caprolactam.

(R) Nylon-6 is a polyamide.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_NXeq1OqaF9Mx
https://dl.doubtnut.com/l/_JS7yAWK8vHZ5

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

8.(A) PV.C is an addition copolymer

(R) PV.C is used to prepare handles of utensils.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_JS7yAWK8vHZ5
https://dl.doubtnut.com/l/_rnSd95fryGxm

Answer: D

° Watch Video Solution

9. (A) Vulcanised rubber is stiff and has little tendency to absorb water.

(R) Vulcanisation introduces sulphur bridges between polymer chains.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

° Watch Video Solution



https://dl.doubtnut.com/l/_rnSd95fryGxm
https://dl.doubtnut.com/l/_EoATBFH0rh9X

10. (A) Natural rubber is cis polyisoprene.

(R) Isoprene is 2-methyl-1,3-butadiene.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

11. (A) Thermosetting polymers are cross linked polymers.

(R) Thermosetting polymers cannot be reused.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_1utCkm3SC8Of
https://dl.doubtnut.com/l/_nRvtrBF6HWAp

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

12. (A) Natural rubber is an elastomer.

(R) The intermolecular forces of attraction between the polymer chains

are weak van der Waals forces.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_nRvtrBF6HWAp
https://dl.doubtnut.com/l/_41DabUskLNh8

Answer: B

° Watch Video Solution

13. (A) Bakelite is prepared by copolymerisation of formaldehyde and

phenol.

(R) Adding of phenol with formaldehyde gives polymer bakelite.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_41DabUskLNh8
https://dl.doubtnut.com/l/_7vZxJO3V2ulE

14. (A) Cellulose is natural polymer.

(R) Cellulose is obtained from plants.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

15. (A) Cellulose acetate is a semisynthetic polymer.
(R) Natural polymers subjected to chemical modifications give

semisynthetic polymers

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_TYnx2hbUMgLB
https://dl.doubtnut.com/l/_xE0K5SWCWTBD

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

16. (A) Poly vinyl chloride is a linear polymer.

(R) Poly vinyl chloride is a Thermoplastic polymer.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_xE0K5SWCWTBD
https://dl.doubtnut.com/l/_BUiBdt7UPrQt

Answer: B

° Watch Video Solution

17.(A) LD.P.E is a branched polymer.

(R) LD.PE is inert tough and flexible.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_BUiBdt7UPrQt
https://dl.doubtnut.com/l/_uQZofV6E5LpP

18. (A) Bakelite is a cross linked polymer.

(R) Bakelite is formed from phenol and formaldehyde.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

19. (A) Benzene does not undergo polymerisation.

(R) Benzene loses aromaticity if involved in polymerisation

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_RXGgfuaAkGMl
https://dl.doubtnut.com/l/_yg77gdtq1Bpl

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

20. (A) Ethylene can undergo polymerisation.

(R) Ethylene contain a weak Pi bond.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_yg77gdtq1Bpl
https://dl.doubtnut.com/l/_HHcFEfoWKdEa

Answer: B

° Watch Video Solution

21. (A) PV.C is a homopolymer.

(R) PV.C is obtained by the polymerization of vinyl chloride.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_HHcFEfoWKdEa
https://dl.doubtnut.com/l/_bMWgdiT68iK2

22.(A) Nylon 6,6 is a condensation co-polymer.

(R) To prepare nylon-6, 6 two different monomers are each containing six

carbon atoms undergo polymerisation.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

23. (A) Nylon-6 is a condensation polymer.

(R)Nylon-6 is obtained from caprolactum.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_JBVd3doneeQf
https://dl.doubtnut.com/l/_FgbQfrkIZVdv

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

24. (A) Buna-N is an elastomer.

(R) Buna-N is rubber like solid with elastic properties.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_FgbQfrkIZVdv
https://dl.doubtnut.com/l/_3AOhPKLiEtKz

Answer: B

° Watch Video Solution

25.(A) Nylon-6, 6 is a fibre.

(R) Intermolecular attraction in Nylon 6, 6 are strong hydrogen bonds.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_3AOhPKLiEtKz
https://dl.doubtnut.com/l/_T8hPxvuVLMzR

26. (A) Poly styrene is a Thermoplastic polymer.

(R) Polystyrene softens on heating and hardens on cooling.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

27. (A) Bakelite is a Thermoplastic polymer.

(R) Bakelite is a linear polymer.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_KGtktgvF8TUF
https://dl.doubtnut.com/l/_7rrH6B1YWv99

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o Watch Video Solution

28. (A) Urea formaldehyde resin can be reused again even on strong
heating.
(R) Urea formaldehyde resin is a Thermo- plastic polymer.
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
B. Both (A) and (R) are true and (R) is not the correct explanation of
(A)
C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_7rrH6B1YWv99
https://dl.doubtnut.com/l/_D4imMPXvdTFj

Answer: D

° Watch Video Solution

29. (A) Addition polymerisation is also known as step growth

polymerisation.

(R) Addition polymers are always homo- polymers.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_D4imMPXvdTFj
https://dl.doubtnut.com/l/_KPnUvyeKCqnI

30. (A) Poly lactic acid is a condensation copolymer.

(R) Poly lactic acid is resistant to alkalis and acids.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o Watch Video Solution

31.(A) AICI; can initiate cationic polymerisation.

(R) AICI, can produce H ion with water.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_cYYjhJTrMwrC
https://dl.doubtnut.com/l/_KcH3kOFzzjnp

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

32.(A) In Anionic polymerization chain terminating step is absent.

(R) Anionic polymerization is initiated by NAN H,.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_KcH3kOFzzjnp
https://dl.doubtnut.com/l/_F9Y354mdNfVM

Answer: B

° Watch Video Solution

33. (A) Benzoyl peroxide can initiate free radical polymerisation.

(R) Phenyl free radical is very stable.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

o Watch Video Solution



https://dl.doubtnut.com/l/_F9Y354mdNfVM
https://dl.doubtnut.com/l/_iJrWqXDjLfZT

34. (A) Ethylene can not be prepared by anionic polymerisation.

(R) Ethylene is an unsaturated hydrocarbon.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

35. (A) Teflon is used in nonstick cookwere

(R) Teflon is resistant to attack by corrosive reagent.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_LkzP9pMfZLGd
https://dl.doubtnut.com/l/_S2MgmSC2hEi4

B. Both (A) and (R) are true and (R) is not the correct explanation of
(A)
C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

36. (A) Condensation polymeristion is called step growth polymerisation.
(R) In condensation polymerization each step produces a distinct
functional group, which is independent of each other.
A.Both (A) and (R) are true and (R) is the correct explanation of (A)
B. Both (A) and (R) are true and (R) is not the correct explanation of
(A)
C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_S2MgmSC2hEi4
https://dl.doubtnut.com/l/_aLWmGeYB4HQl

Answer: A

° Watch Video Solution

37.(A) Nylon-6 is condensation homo polymer.

(R) Nylon-6 is a fibre.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_aLWmGeYB4HQl
https://dl.doubtnut.com/l/_CWdVQ24pkWmA

38. (A) Dacron is used as reinforcing material in safety helmets.

(R) Dacron is a homopolymer.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

o Watch Video Solution

39. (A) Novolac is a linear polymer.

(R) Bakelite is obtained from novolac.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_LElerPIEbKQY
https://dl.doubtnut.com/l/_xLpETvLXVwXY

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

40. (A) Melamine is a thermosetting polymer

(R) Melamine is a condensation copolymer

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_xLpETvLXVwXY
https://dl.doubtnut.com/l/_kMCRAMFCfcB7

Answer: B

° Watch Video Solution

41. (A) Melamine polymers are used to prepare unbreakable crockery

items.

(R) Melamine polymers are cross linked polymers.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_kMCRAMFCfcB7
https://dl.doubtnut.com/l/_O9a9vaOd7vw4

42. (A) Vulcanised Rubber suits industry than natural Rubber.

(R) Elastic properties of Rubber can be reduced due to vulcanization.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

43. (A) Rubber latex is colloidal dispersion in water with negatively
charged particles.

(R) Rubber can be coagulated by AIC;.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_BABNVeq8puth
https://dl.doubtnut.com/l/_xPOLXmg38DE0

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: C

o Watch Video Solution

44. (A) Ebonite contain a high percentage of sulphur.

(R) Ebonite is a hard material.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_xPOLXmg38DE0
https://dl.doubtnut.com/l/_83xY9nuxgt8V

Answer: B

° Watch Video Solution

45. (A) The process of vulcanization can be accelerated by Zno or zinc

acetate.

(R) Vulcanised Rubber is used in tyre industry.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_83xY9nuxgt8V
https://dl.doubtnut.com/l/_wiHPI2AZkJmG

46. (A) Position of double bond in poly isoprene can be detected by

ozonolysis.

(R) Poly isoprene formation involve a head to tail mechanism.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

47.(A) Neoprene is a synthetic Rubber.

(R) Neoprene is obtained from chloroprene.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_gpVww6VfDAhj
https://dl.doubtnut.com/l/_wzlsLrGXJ03k

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

48. (A) The P.D. of synthetic polymer is greater than one.

(R) Synthetic polymers are rare when compared to natural polymers.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_wzlsLrGXJ03k
https://dl.doubtnut.com/l/_w0dXpKHMZfdu

Answer: C

° Watch Video Solution

49. (A) PH.B.V is used in spaciality packing.

(R) PH.B.V is a Biodegradable polymer.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_w0dXpKHMZfdu
https://dl.doubtnut.com/l/_3S8GvwbJZJZ4

50. (A) Biodegradable polymers are ecofriendly.

(R) Biodegradable polymers undergo bacterial degradation.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

51. (A) Poly glycolic acid is used as post operative sutures.

(R) Poly glycolic acid is biodegradable polymer.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_4PPU83nM0CYb
https://dl.doubtnut.com/l/_8pIhga7B0bFe

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

52. (A) Poly vinyl pyrrolidone is an addition homo polymer.

(R) Poly vinyl pyrrolidone is a life saving substance as blood plasma.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_8pIhga7B0bFe
https://dl.doubtnut.com/l/_Dw7KTSRKmoRA

Answer: B

° Watch Video Solution

53.(A) In the preparation of plexi glass acetone is used.

(R) Poly methyl metha crylate [PMMA] is plexi glass.

A. Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution



https://dl.doubtnut.com/l/_Dw7KTSRKmoRA
https://dl.doubtnut.com/l/_zVjvYGwn3Ntj

54. (A) Buna-N is also known as G.R.A.

(R) Buna-N is a synthetic Rubber.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: B

o Watch Video Solution

55. (A) The inter molecular forces in thermosetting polymer is strongest
among all other polymers.

(R) Thermosetting polymers are highly cross linked polymers.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_Z4KFXOZRyiUr
https://dl.doubtnut.com/l/_rliihYFd2lq2

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

56. (A) Dextron is a non biodegradable polymer.

(R) Dextron is used in safety helmets.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false


https://dl.doubtnut.com/l/_rliihYFd2lq2
https://dl.doubtnut.com/l/_gfDmBre55RCR

Answer: D

o Watch Video Solution

57.(A) In natural rubber, the polyisoprene chains exist as coiled structure.

(R) In polyisoprene Cis-configured chains are held together by weak

Vander waals interactions.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution



https://dl.doubtnut.com/l/_gfDmBre55RCR
https://dl.doubtnut.com/l/_6V8w8CTVGTAk

58. (A) Bakelite is a thermosetting polymer.

(R) Bakelite is a cross-linked polymer.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)

B.Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C. (A) is true but (R) is false

D. Both (A) and (R) are false

Answer: A

o Watch Video Solution

59. (A) Chloroprene is a synthetic rubber.

(R) Synthetic rubbers may be homo (or) co- polymers.

A.Both (A) and (R) are true and (R) is the correct explanation of (A)


https://dl.doubtnut.com/l/_CfKUVz91sS6p
https://dl.doubtnut.com/l/_tSIyrKKME4bU

B. Both (A) and (R) are true and (R) is not the correct explanation of

(A)

C.(A) is true but (R) is false

D. Both (A) and (R) are false

Answer: D

o Watch Video Solution



https://dl.doubtnut.com/l/_tSIyrKKME4bU

